| Count of MLS # | Column Labels |        |                     |                   |
|----------------|---------------|--------|---------------------|-------------------|
|                | Condominium   |        |                     | Condominium Total |
| Row Labels     | Active        | Closed | Under Contract-Show |                   |
| <0 or (blank)  |               | 27     | 3                   | 30                |
| 0-99999        |               |        |                     |                   |
| 100000-199999  |               | 2      |                     | 2                 |
| 200000-299999  |               | 10     |                     | 10                |
| 300000-399999  |               | 7      |                     | 7                 |
| 400000-499999  |               | 5      |                     | 5                 |
| 500000-599999  |               | 1      |                     | 1                 |
| 600000-699999  |               |        |                     |                   |
| 700000-799999  |               |        |                     |                   |
| 800000-899999  |               |        |                     |                   |
| 900000-1000000 |               |        |                     |                   |
| Grand Total    | 2             | 27 25  | 3                   | 55                |

| Single Family |                  |                               |                     |
|---------------|------------------|-------------------------------|---------------------|
| Active        | Closed           | <b>Under Contract-No Show</b> | Under Contract-Show |
| 67            | ,                | 4                             | 28                  |
|               | 1                |                               |                     |
|               | 3                |                               |                     |
|               | 13               |                               |                     |
|               | 39               |                               |                     |
|               | 27               |                               |                     |
|               | 26               |                               |                     |
|               | 4                |                               |                     |
|               | 3                |                               |                     |
|               | 1                |                               |                     |
|               | 1                |                               |                     |
| 67            | <sup>′</sup> 118 | 4                             | 28                  |

| Single Family Total | Townhouse |        |                               |                     |
|---------------------|-----------|--------|-------------------------------|---------------------|
|                     | Active    | Closed | <b>Under Contract-No Show</b> | Under Contract-Show |
| 99                  | 21        |        | 1                             | 9                   |
| 1                   |           |        |                               |                     |
| 3                   |           |        |                               |                     |
| 13                  |           |        |                               |                     |
| 39                  |           | 22     |                               |                     |
| 27                  |           | 4      |                               |                     |
| 26                  |           | 4      |                               |                     |
| 4                   |           | 2      |                               |                     |
| 3                   |           |        |                               |                     |
| 1                   |           |        |                               |                     |
| 1                   |           |        |                               |                     |
| 217                 | 21        | 32     | 1                             | 9                   |

| Townhouse Total | (blank)<br>(blank) | (blank) Total | Grand Total |
|-----------------|--------------------|---------------|-------------|
| 31              |                    |               | 160         |
|                 |                    |               | 1           |
|                 |                    |               | 5           |
|                 |                    |               | 23          |
| 22              |                    |               | 68          |
| 4               |                    |               | 36          |
| 4               |                    |               | 31          |
| 2               |                    |               | 6           |
|                 |                    |               | 3           |
|                 |                    |               | 1           |
|                 |                    |               | 1           |
| 63              |                    |               | 335         |

## **City of Hendersonville** Sales Activity For Last 6 Months of 2024

| Single Family  |        |        |                   |                   |  |  |  |
|----------------|--------|--------|-------------------|-------------------|--|--|--|
| Price Range    | Active | Closed | Sold Per<br>Month | Month's<br>Supply |  |  |  |
| 50000-999999   |        | 1      | 0.17              | 0.00              |  |  |  |
| 100000-149999  |        | 1      | 0.17              | 0.00              |  |  |  |
| 150000-199999  | 2      | 2      | 0.33              | 6.00              |  |  |  |
| 200000-249999  | 3      | 4      | 0.67              | 4.50              |  |  |  |
| 250000-299999  | 2      | 5      | 0.83              | 2.40              |  |  |  |
| 300000-349999  | 4      | 23     | 3.83              | 1.04              |  |  |  |
| 350000-399999  | 6      | 20     | 3.33              | 1.80              |  |  |  |
| 400000-449999  | 13     | 7      | 1.17              | 11.14             |  |  |  |
| 450000-499999  | 13     | 18     | 3.00              | 4.33              |  |  |  |
| 500000-549999  | 9      | 21     | 3.50              | 2.57              |  |  |  |
| 550000-599999  | 4      | 7      | 1.17              | 3.43              |  |  |  |
| 600000-649999  |        | 4      | 0.67              | 0.00              |  |  |  |
| 650000-699999  | 1      | 1      | 0.17              | 6.00              |  |  |  |
| 700000-749999  |        | 1      | 0.17              | 0.00              |  |  |  |
| 800000-849999  | 3      | 2      | 0.33              | 9.00              |  |  |  |
| 850000-899999  | 1      |        | 0.00              | No Sales          |  |  |  |
| 950000-1000000 |        | 1      | 0.17              | 0.00              |  |  |  |
| >1000000       | 6      |        | 0.00              | No Sales          |  |  |  |

|                | Cond   | dominiun | n                 |                   |
|----------------|--------|----------|-------------------|-------------------|
| Price Range    | Active | Closed   | Sold Per<br>Month | Month's<br>Supply |
| 50000-999999   |        |          | 0.00              | No Activity       |
| 100000-149999  |        |          | 0.00              | No Activity       |
| 150000-199999  |        | 1        | 0.17              | 0.00              |
| 200000-249999  | 5      | 4        | 0.67              | 7.50              |
| 250000-299999  | 4      | 6        | 1.00              | 4.00              |
| 300000-349999  | 5      | 2        | 0.33              | 15.00             |
| 350000-399999  | 4      | 4        | 0.67              | 6.00              |
| 400000-449999  | 2      | 5        | 0.83              | 2.40              |
| 450000-499999  | 3      | 2        | 0.33              | 9.00              |
| 500000-549999  | 2      |          | 0.00              | No Sales          |
| 550000-599999  |        | 1        | 0.17              | 0.00              |
| 600000-649999  |        |          | 0.00              | No Activity       |
| 650000-699999  |        |          | 0.00              | No Activity       |
| 700000-749999  |        |          | 0.00              | No Activity       |
| 800000-849999  |        |          | 0.00              | No Activity       |
| 850000-899999  |        |          | 0.00              | No Activity       |
| 950000-1000000 |        |          | 0.00              | No Activity       |
| >1000000       | 2      |          | 0.00              | No Activity       |

| Z4<br>Townhouse |        |        |                   |                   |  |  |  |
|-----------------|--------|--------|-------------------|-------------------|--|--|--|
| Price Range     | Active | Closed | Sold Per<br>Month | Month's<br>Supply |  |  |  |
| 50000-999999    |        |        | 0.00              | No Activity       |  |  |  |
| 100000-149999   |        |        | 0.00              | No Activity       |  |  |  |
| 150000-199999   |        |        | 0.00              | No Activity       |  |  |  |
| 200000-249999   |        |        | 0.00              | No Activity       |  |  |  |
| 250000-299999   |        |        | 0.00              | No Activity       |  |  |  |
| 300000-349999   | 2      | 11     | 1.83              | 1.09              |  |  |  |
| 350000-399999   | 10     | 11     | 1.83              | 5.45              |  |  |  |
| 400000-4499999  | 4      | 2      | 0.33              | 12.00             |  |  |  |
| 450000-499999   | 2      | 2      | 0.33              | 6.00              |  |  |  |
| 500000-549999   |        | 1      | 0.17              | 0.00              |  |  |  |
| 550000-599999   | 1      | 1      | 0.17              | 6.00              |  |  |  |
| 600000-649999   | 1      | 2      | 0.33              | 3.00              |  |  |  |
| 650000-699999   |        | 2      | 0.33              | 0.00              |  |  |  |
| 700000-749999   |        |        | 0.00              | No Activity       |  |  |  |
| 800000-849999   |        |        | 0.00              | No Activity       |  |  |  |
| 850000-899999   | 1      |        | 0.00              | No Sales          |  |  |  |
| 950000-1000000  |        |        | 0.00              | No Activity       |  |  |  |
| >1000000        |        |        | 0.00              | No Activity       |  |  |  |

| Totals 67 118 |  | Totals | 27 | 25 |  |  |  | Totals | 21 | 32 |  |  |  |
|---------------|--|--------|----|----|--|--|--|--------|----|----|--|--|--|
|---------------|--|--------|----|----|--|--|--|--------|----|----|--|--|--|

| Row Labels     | Active | Closed | Sold Per I | Month Supply |
|----------------|--------|--------|------------|--------------|
| 50000-99999    |        | 1      | 0.17       | 0.00         |
| 100000-149999  |        | 1      | 0.17       | 0.00         |
| 150000-199999  | 2      | 3      | 0.50       | 4.00         |
| 200000-249999  | 8      | 8      | 1.33       | 6.00         |
| 250000-299999  | 6      | 11     | 1.83       | 3.27         |
| 300000-349999  | 11     | 36     | 6.00       | 1.83         |
| 350000-399999  | 20     | 35     | 5.83       | 3.43         |
| 400000-449999  | 19     | 14     | 2.33       | 8.14         |
| 450000-499999  | 18     | 22     | 3.67       | 4.91         |
| 500000-549999  | 11     | 22     | 3.67       | 3.00         |
| 550000-599999  | 5      | 9      | 1.50       | 3.33         |
| 600000-649999  | 1      | 6      | 1.00       | 1.00         |
| 650000-699999  | 1      | 3      | 0.50       | 2.00         |
| 700000-749999  |        | 1      | 0.17       | 0.00         |
| 800000-849999  | 3      | 2      | 0.33       | 9.00         |
| 850000-899999  | 2      |        | 0.00       | No Sales     |
| 950000-1000000 |        | 1      | 0.17       | 0.00         |
| >1000000       | 8      |        | 0.00       | No Sales     |

MLS # Standard SMIs Status PT 4207190 Active Und Under Con RESI 4199504 Active Active RESI 4178072 Active Und Under Con RESI 4121304 Active Active RESI RESI 4204648 Active Active 4181251 Active Active RESI 4210111 Active Und Under Con RESI 4211283 Active Active RESI 4181301 Active RESI Active 4205803 Active Active RESI 4178585 Active Active RFSI 4204919 Active Und Under Con RESI 4214273 Active RESI Active 4214250 Active RESI Active 4214098 Active Active RESI RESI 4214075 Active Active 4214068 Active RESI Active 4214039 Active Active RESI 4203376 Active RESI Active 4207578 Active Active RESI 4199127 Active Active RESI 4179040 Active Active RESI RESI 4181431 Active Active 4200922 Active Active RESI 4200910 Active RESI Active 4199118 Active Active RESI 4194277 Active Active RESI 4142187 Active Und Under Con RESI 4129079 Active Und Under Con RESI 4163287 Active Und Under Con RESI 4181182 Active Und Under Con RESI 4200624 Active Und Under Con RESI 4163288 Active Und Under Con RESI 4146665 Active Und Under Con RESI 4176804 Pending Under Con RESI 4124193 Pending Under Con RESI 4200588 Pending Under Con RESI 4149187 Active Active RESI 4209461 Active Und Under Con RESI 4204684 Active Active RESI 4200662 Active RESI Active 4161512 Active Active RESI RESI 4212700 Active Active 4176112 Active Und Under Con RESI 4210311 Active Und Under Con RESI 4211738 Active Active RESI 4186297 Active Active RESI 4202031 Active Und Under Con RESI Category Subdv/Con Owner Nar Address City Residentia Apple Terr Fletcher 1031 7th A Henderson Residentia Barker Hei Moore 235 Glover Henderson Residentia Barker Hei of record 205 Fairfie Henderson Residentia Beacon Cc Beacon Cc 475 Churcl Henderson **Residentia Beaumont Hodges** 14 Beaum Henderson Residentia Blue Ridge Sinclair 144 Derby: Henderson Residentia Blue Ridge Viera 237 Dartcr Henderson Residentia Britton Cre Graham A: 620 Britton Henderson Residentia Britton Cre Howard 121 N Britt Henderson Residentia Britton Cre Wilkie 760 Britton Henderson Residentia Brookland Reiff Kara 231 Balsar Henderson Residentia Brookland Hodges Rc 340 Balsar Henderson Residentia Cantrell Hil DR Horton 61 Silverth Henderson Residentia Cantrell Hil DR Horton 69 Silverth Henderson Residentia Cantrell Hil DR Horton 76 Silverth Henderson Residentia Cantrell Hil DR Horton 68 Silverth Henderson Residentia Cantrell Hil DR Horton 58 Silverth Henderson Residentia Cantrell Hil DR Horton 50 Silverth Henderson Residentia Cantrell Hil Almaguer / 83 Fox Cov Henderson **Residentia Cantrell Hil Sexton** 63 Fox Cov Henderson Residentia Cantrell Hil D R Hortor 571 Fox C(Henderson Residentia Cantrell Hil DR Horton 561 Fox C(Henderson Residentia Cantrell Hil Luckett W 393 Fox C(Henderson Residentia Cantrell Hil DR Horton 581 Fox C(Henderson Residentia Cantrell Hil DR Horton 101 Silvert Henderson Residentia Cantrell Hil DRHorton 589 Fox C(Henderson Residentia Cantrell Hil DR Horton 89 Silverth Henderson Residentia Cantrell Hil DR Horton 505 Fox C(Henderson Residentia Cantrell Hil DR Horton 489 Fox C(Henderson Residentia Cantrell Hil DR Horton 535 Fox C(Henderson Residentia Cantrell Hil DR Horton 564 Fox C(Henderson Residentia Cantrell Hil DRHorton 546 Fox C(Henderson Residentia Cantrell Hil DR Horton 545 Fox C(Henderson Residentia CANTREL DR Horton 124 Silvert Henderson Residentia Cantrell Hil DRHorton 536 Fox C(Henderson Residentia Cantrell Hil DRHorton 515 Fox C(Henderson Residentia Cantrell Hil DR Horton 554 Fox C(Henderson Residentia Carriage P Of Record 301 Gover Henderson Residentia Champion Wulfers 48 Blackgu Henderson Residentia Cold Spring Turner 908 Highla Henderson Residentia Colonial Mi Cathina Hc 27 Capri Li Henderson Residentia Colonial M Morgan Ra35 Capri L Henderson Residentia Columbia I Simhoni M 213 Spring Henderson Residentia Columbia I Lynch Joar 411 Spring Henderson Residentia Cottages a Seller is Re31 N Cotta Henderson Residentia Creekside Of Record 190 Mistlet Henderson Residentia Cummings Ful Track L148 Triple Henderson Residentia Cummings Moen 56 Copper Henderson

| 4136402 | Active |          | Active |     | RESI |
|---------|--------|----------|--------|-----|------|
| 4210000 | Active |          | Active |     | RESI |
| 4208134 | Active | Und      | Under  | Con | RESI |
| 4209205 | Active |          | Active |     | RESI |
| 4202650 |        |          | Active |     | RESI |
| 4203356 |        |          | Active |     | RESI |
| 4208136 |        |          | Active |     | RESI |
| 4199989 |        |          | Active |     | RESI |
|         |        |          |        |     |      |
| 4171968 |        | ام مرا ا | Active | 0   | RESI |
| 4203478 |        | Una      |        | Con |      |
| 4213600 |        |          | Active |     | RESI |
| 4195641 |        |          | Active |     | RESI |
| 4152021 |        |          | Active |     | RESI |
| 4184724 |        |          | Active |     | RESI |
| 4194499 | Active |          | Active |     | RESI |
| 4210179 | Active |          | Active |     | RESI |
| 4208165 | Active |          | Active |     | RESI |
| 4177218 | Active |          | Active |     | RESI |
| 4208395 | Active |          | Active |     | RESI |
| 4187228 |        |          | Active |     | RESI |
| 4205153 |        |          | Active |     | RESI |
| 4206859 |        |          | Active |     | RESI |
| 4194460 |        |          | Active |     | RESI |
| 4176478 |        |          | Active |     | RESI |
|         |        |          |        |     |      |
| 4206415 |        |          | Active |     | RESI |
| 4181668 |        |          | Active | ~   | RESI |
| 4203891 |        | Und      |        | Con |      |
| 4210121 |        |          | Active |     | RESI |
| 4212105 |        |          | Active |     | RESI |
| 4182809 | Active |          | Active |     | RESI |
| 4209135 | Active |          | Active |     | RESI |
| 4173850 | Active |          | Active |     | RESI |
| 4139205 | Active |          | Active |     | RESI |
| 4168142 | Active |          | Active |     | RESI |
| 4186315 |        |          | Active |     | RESI |
| 4184077 |        |          | Active |     | RESI |
| 4182028 |        |          | Active |     | RESI |
| 4170124 |        |          | Active |     | RESI |
| 4113080 |        |          |        |     | RESI |
| 4199008 |        |          |        |     |      |
|         |        |          |        |     |      |
| 4211953 |        |          |        |     |      |
| 4209835 |        |          |        |     |      |
| 4210522 |        |          |        |     |      |
| 4201508 |        |          |        |     |      |
| 4148907 |        |          |        |     |      |
| 4149543 |        |          |        |     |      |
| 4204713 | Active | Und      | Under  | Con | RESI |
| 4206628 | Active | Und      | Under  | Con | RESI |
| 4191284 | Active |          | Active |     | RESI |
|         |        |          |        |     |      |

Residentia Dellwood Retz Living 104 Creek: Henderson Residentia Felix Lake Beckwith L 329 W Lak Henderson Residentia Fish Hawk Of Record 101 Fish H Henderson Residentia Gann Villa Of Record 142 Allen F Henderson Residentia Gann Villa Abernethy 54 Ashley Henderson Residentia Glenbrook Davis Jack 131 Glenbi Henderson Residentia Hamiltons Of Record 22 Grist Mi Henderson Residentia Haywood & Gonzalez 171 Surry I Henderson Residentia Haywood N Pure Gift L 1759 Hayw Henderson Residentia Haywood NOf Record 1737 Hayw Henderson Residentia Haywood 1 Barnes 48 S Wooc Henderson Residentia Henderson Daniel Bea 675 New V Henderson Residentia Henderson Of Record 869 Sandb Henderson Residentia Henderson Sherrill & N 1814 Willo Henderson Residentia Hillside Pa Gant Dane 232 Glend: Henderson Residentia Holly Crest Swartz Jea 427 6th Av Henderson Residentia Holly Crest Pellett 427 6th Av Henderson Residentia Hyman He Watkins 1134 Highl Henderson Residentia Hyman Hel See remarl 1307 Hyma Henderson Residentia Indian Hill Muller Joy(1010 India Henderson Residentia Kensingtor Tweed 1409 Kens Henderson Residentia Lake Point Plowden B 57 Lake Pc Henderson Residentia Lakeview E Ferrell Sus 458 Beach Henderson Residentia Laurel Parl Wade Ster 501 Fairwa Henderson Residentia Laurel Parl Whitlatch \$870 S Park Henderson Residentia Laurel Parl Withheld 242 Laurel Henderson Residentia Lenox Parl Jones Jan; 715 Hebro Henderson Residentia Morningsid Murtagh R 137 Mornir Henderson Residentia None Steelkey P 622 1st Av Henderson **Residentia None** Mcmunigle 1156 Crab Henderson Residentia none Gallardo 905 Kanug Henderson Of Record 831 Oaklar Henderson **Residentia None** Of Record 225 N Mair Henderson Residentia None **Residentia None** Hilton Cha 522 Kanug Henderson TCK LLC 68 Drexel Henderson Residentia None Residentia None/None Albea Don 112 and 15 Henderson **Residentia None** 603 Halsbi Henderson McCraw Ogden Joh 318 Blythe Henderson Residentia none Residentia None West 2399 Pleas Henderson On record 202 S Was Henderson **Residentia None** Residentia none Putnam 416 Newto Henderson **Residentia None** Hawkins 1034 Kanu Henderson Residentia None Steelkey P 620 1st Av Henderson Residentia none Kozlowski 66 Drexel Henderson **Residentia None** Lamoreux/ 1024 State Henderson **Residentia None** Neff Brian 915 Sheph Henderson Residentia Oak View <sup>-</sup> Myers Jear 605 Hebro Henderson Residentia Oklawaha Whiting 307 Oklaw Henderson Residentia Osceola La Blue Falco 154 Osceo Henderson

| 4207514ActiveRESI4174058ActiveActiveRESI4195076ActiveActiveRESI4195076ActiveActiveRESI4159638ActiveActiveRESI4208333ActiveActiveRESI4207228ActiveActiveRESI4186753ActiveActiveRESI4186753ActiveActiveRESI4201095ActiveActiveRESI4201211ActiveActiveRESI4201204ActiveActiveRESI4184109ActiveActiveRESI418323ActiveActiveRESI418399ActiveActiveRESI4183999ActiveActiveRESI4183906ActiveActiveRESI4183450ActiveActiveRESI4184100ActiveActiveRESI4184100ActiveActiveRESI4183450ActiveActiveRESI4184100ActiveActiveRESI4184100ActiveActiveRESI4184100ActiveActiveRESI4183450ActiveActiveRESI4184100ActiveActiveRESI4184100ActiveActiveRESI4184100ActiveActiveRESI4184100ActiveActiveRESI4184100ActiveActiveRESI4184100   |
|---|
| 4195076 Active RESI   4159638 Active RESI   4208333 Active Active RESI   4207228 Active Active RESI   4186753 Active Active RESI   4187118 Active Under Con RESI   4201095 Active Active RESI   4201211 Active Active RESI   4201204 Active Active RESI   4184400 Active Active RESI   4184409 Active Active RESI   418323 Active Active RESI   4183999 Active Active RESI   4183906 Active Active RESI   4183450 Active Active RESI   4184100 Active Active RESI   4184100 Active Active RESI   41843450 Active MESI   41843450 Active RESI   41843457 Active RESI   414525  |
| 4195076 Active RESI   4159638 Active RESI   4208333 Active Active RESI   4207228 Active Active RESI   4186753 Active Active RESI   4187118 Active Under Con RESI   4201095 Active Active RESI   4201211 Active Active RESI   4201204 Active Active RESI   4184400 Active Active RESI   4184409 Active Active RESI   418323 Active Active RESI   4183999 Active Active RESI   4183906 Active Active RESI   4183450 Active Active RESI   4184100 Active Active RESI   4184100 Active Active RESI   41843450 Active MESI   41843450 Active RESI   41843457 Active RESI   414525  |
| 4159638ActiveActiveRESI4208333ActiveActiveRESI4207228ActiveActiveRESI4186753ActiveActiveRESI4187118Active Und Under Con RESI4201095ActiveActive4201095ActiveActiveRESI4201211ActiveActiveRESI4201204ActiveActiveRESI4184400ActiveActiveRESI418323ActiveActiveRESI4183323ActiveActiveRESI4183999ActiveActiveRESI4183450ActiveActiveRESI4183450ActiveActiveRESI4184100ActiveActiveRESI4183450ActiveActiveRESI4183450ActiveActiveRESI4184130ActiveMCIveRESI4184130ActiveMCIveRESI4184130ActiveMCIveRESI418452ActiveMESI4193652PendingUnder Con RESI4193652PendingUnder Con RESI4193652PendingUnder Con RESI4201374ActiveActive4201374ActiveActive4201374ActiveActive420352ActiveActive4203642ActiveActive4203674ActiveRESI4167838ActiveActive4167838   |
| 4208333ActiveActiveRESI4207228ActiveActiveRESI4186753ActiveActiveRESI4187118ActiveUnder Con RESI4201095ActiveActiveRESI4201211ActiveActiveRESI4201204ActiveActiveRESI4184400ActiveActiveRESI4184400ActiveActiveRESI4184400ActiveActiveRESI4183233ActiveActiveRESI4183999ActiveActiveRESI4183906ActiveActiveRESI4183450ActiveActiveRESI4183450ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveMCIveRESI4184130ActiveMESI4184130ActiveMESI418452ActiveRESI417383ActiveActive4193652PendingUnder Con RESI4193652PendingUnder Con RESI420374ActiveMESI420374ActiveActive420374ActiveActive420374ActiveActive420374ActiveMESI420374ActiveActive420374ActiveRESI4167838ActiveActive4167838ActiveActive   |
| 4207228ActiveRESI4186753ActiveActiveRESI4187118ActiveUnder Con RESI4201095ActiveActiveRESI4201211ActiveActiveRESI4201204ActiveActiveRESI4184400ActiveActiveRESI4184400ActiveActiveRESI4184400ActiveActiveRESI4184109ActiveActiveRESI4183099ActiveActiveRESI4183906ActiveActiveRESI4183906ActiveActiveRESI4183450ActiveActiveRESI4183450ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveUnder Con RESI4206498ActiveUnder Con RESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder Con RESI4203322ActiveActiveRESI4213185ActiveActiveRESI4213185ActiveActiveRESI4213185ActiveActiveRESI420332ActiveActiveRESI420332ActiveActiveRESI420332ActiveActiveRESI420333ActiveActiveRESI420334Active <t< td=""></t<>   |
| 4186753ActiveActiveRESI4187118ActiveActiveRESI4201095ActiveActiveRESI4201211ActiveActiveRESI4201204ActiveActiveRESI4184400ActiveActiveRESI4184400ActiveActiveRESI4184109ActiveActiveRESI418309ActiveActiveRESI4183999ActiveActiveRESI4183906ActiveActiveRESI4183450ActiveActiveRESI4183450ActiveActiveRESI4184100ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveUnder Con RESI4206498ActiveMESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder Con RESI4203322ActiveActiveRESI4213185ActiveActiveRESI4203327ActiveActiveRESI4186920ActiveActiveRESI4136078ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078 <td< td=""></td<>   |
| 4187118ActiveActiveRESI4201095ActiveActiveRESI4201211ActiveActiveRESI4201204ActiveActiveRESI418440ActiveActiveRESI418440ActiveActiveRESI418440ActiveActiveRESI4184109ActiveActiveRESI418309ActiveActiveRESI418399ActiveActiveRESI4183458ActiveActiveRESI4183450ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI418447ActiveActiveRESI418487ActiveActiveRESI4173838ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4201374ActiveMESI4203042ActiveActiveRESI4208042ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078   |
| 4201095ActiveRESI4201211ActiveActiveRESI4201204ActiveActiveRESI4184440ActiveActiveRESI4184409ActiveActiveRESI4183109ActiveActiveRESI4183323ActiveActiveRESI4183999ActiveActiveRESI4183909ActiveActiveRESI4183906ActiveActiveRESI4183906ActiveActiveRESI4183450ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveActiveRESI4193652PendingUnder Con RESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4201374ActiveActiveRESI4203042ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078<  |
| 4201211ActiveRESI4201204ActiveActiveRESI4184440ActiveActiveRESI4184409ActiveActiveRESI4183109ActiveActiveRESI4183323ActiveActiveRESI4183399ActiveActiveRESI4183458ActiveActiveRESI4183450ActiveActiveRESI4184140ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveUnder Con RESI4206498ActiveMeSI4173838ActiveActiveRESI4183457ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4213185ActiveActiveRESI4208042ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078Active <t< td=""></t<>  |
| 4201204ActiveActiveRESI4184440ActiveActiveRESI4184409ActiveActiveRESI4183109ActiveActiveRESI4183323ActiveActiveRESI4183323ActiveActiveRESI4183399ActiveActiveRESI4183458ActiveActiveRESI4183450ActiveActiveRESI4184130ActiveActiveRESI4184130ActiveUnder Con RESI4206498ActiveUnder Con RESI4173838ActiveActiveRESI4173838ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4201374ActiveMctiveRESI4203042ActiveActiveRESI4208042ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4200439ActiveActiveRESI4200439ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136   |
| 4184440ActiveRESI4184109ActiveActiveRESI4183323ActiveActiveRESI4183323ActiveActiveRESI4183399ActiveActiveRESI4183999ActiveActiveRESI4183458ActiveActiveRESI4183906ActiveActiveRESI4183406ActiveActiveRESI4184130ActiveMctiveRESI4184130ActiveUnder Con RESI4214116ActiveActiveRESI4206498ActiveUnder Con RESI4183487ActiveActiveRESI4173838ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4201374ActiveUnder Con RESI4201374ActiveMctiveRESI4208042ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078Active </td   |
| 4184109ActiveRESI4183323ActiveActiveRESI4183399ActiveActiveRESI4183999ActiveActiveRESI4183458ActiveActiveRESI4183906ActiveActiveRESI4183400ActiveActiveRESI4184140ActiveActiveRESI4184130ActiveActiveRESI4184130Active UndUnder Con RESI4206498ActiveMeSI4206498ActiveMeSI4173838ActiveActive4183487ActiveActive4146525ActiveActive4193652PendingUnder Con RESI4209352ActiveActive4201374ActiveMESI4201374ActiveMeSI4208042ActiveActive421327ActiveActive42167838ActiveActive4210163PendingUnder Con RESI4210163PendingUnder Con RESI4210163PendingUnder Con RESI4210439ActiveActive4200439ActiveActive4200439ActiveActive4209355ActiveActive4209355ActiveActive4200439ActiveActive4200439ActiveActive4200439ActiveActive4209355ActiveActive4209355Ac   |
| 4183323ActiveActiveRESI4183999ActiveActiveRESI4183458ActiveActiveRESI4183458ActiveActiveRESI4183906ActiveActiveRESI4183400ActiveActiveRESI4184140ActiveActiveRESI4184130Active UndUnder Con RESI4214116ActiveActiveRESI4206498Active UndUnder Con RESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4213185ActiveActiveRESI4201374Active UndUnder Con RESI4208042ActiveActiveRESI4208042ActiveActiveRESI4167838ActiveActiveRESI410678ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4200439ActiveActiveRESI4182904ActiveActiveRESI4182904ActiveActiveRESI4173403ActiveActiveRESI4173403ActiveActiveRESI4173420ActiveActiveRESI4176646ActiveActiveRESI <t< td=""></t<>  |
| 4183323ActiveActiveRESI4183999ActiveActiveRESI4183458ActiveActiveRESI4183458ActiveActiveRESI4183906ActiveActiveRESI4183400ActiveActiveRESI4184140ActiveActiveRESI4184130Active UndUnder Con RESI4214116ActiveActiveRESI4206498Active UndUnder Con RESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4213185ActiveActiveRESI4201374Active UndUnder Con RESI4208042ActiveActiveRESI4208042ActiveActiveRESI4167838ActiveActiveRESI410678ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4200439ActiveActiveRESI4182904ActiveActiveRESI4182904ActiveActiveRESI4173403ActiveActiveRESI4173403ActiveActiveRESI4173420ActiveActiveRESI4176646ActiveActiveRESI <t< td=""></t<>  |
| 4183999ActiveRESI4183458ActiveActiveRESI4183450ActiveActiveRESI4184140ActiveActiveRESI4183450ActiveMativeResi4184130Active UndUnder ConRESI4214116ActiveActiveRESI4206498ActiveUnder ConRESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder ConRESI420372ActiveActiveRESI420374Active UndUnder ConRESI4213185ActiveActiveRESI420374ActiveUnder ConRESI4208042ActiveActiveRESI4208042ActiveActiveRESI4186920ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4200439ActiveActiveRESI4200439ActiveActiveRESI4182904ActiveActiveRESI4173403ActiveActiveRESI4173403ActiveActiveRESI4173420ActiveActiveRESI4176646ActiveActiveRESI4176627ActiveActiveRESI4161757ActiveActiveRESI </td  |
| 4183458ActiveRESI4183906ActiveActiveRESI4183406ActiveActiveRESI4184140ActiveActiveRESI4183450ActiveUnder Con RESI4184130ActiveUnder Con RESI4214116ActiveActiveRESI4206498ActiveUnder Con RESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4201374Active Und Under Con RESI42013744208042ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4200439ActiveActiveRESI4209355ActiveActiveRESI4136078ActiveActiveRESI4209439ActiveActiveRESI4209439ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078A   |
| 4183906ActiveRESI4184140ActiveActiveRESI4183450ActiveActiveRESI4183450ActiveUnd Under Con RESI4214116ActiveActiveRESI4206498ActiveUnd Under Con RESI4183487ActiveActiveRESI4173838ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4201374ActiveUnder Con RESI4208042ActiveActiveRESI4208042ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4200439ActiveActiveRESI4209355ActiveActiveRESI4209385ActiveActiveRESI4173403ActiveActiveRESI4173420ActiveActiveRESI4176646ActiveActiveRESI4176627ActiveActiveRESI4161757ActiveActiveRESI4161757ActiveActiveRESI4161757ActiveActiveRESI4161757ActiveActiveRESI   |
| 4184140ActiveRESI4183450ActiveActiveRESI4183450ActiveUnd Under Con RESI4214116ActiveActiveRESI4206498ActiveUnder Con RESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4201374Active Und Under Con RESI42080424208042ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI413200ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI413200ActiveActiveRESI413200   |
| 4183450 ActiveActiveRESI4184130 Active UndUnder Con RESI4214116 ActiveActiveRESI4206498 Active UndUnder Con RESI4183487 ActiveActiveRESI4173838 ActiveActiveRESI4146525 ActiveActiveRESI4193652 PendingUnder Con RESI4209352 ActiveActiveRESI4201374 Active UndUnder Con RESI4208042 ActiveActiveRESI4186920 ActiveActiveRESI4167838 ActiveActiveRESI4167838 ActiveActiveRESI4186920 ActiveActiveRESI4186920 ActiveActiveRESI4186920 ActiveActiveRESI4186920 ActiveActiveRESI4186920 ActiveActiveRESI4186920 ActiveActiveRESI4186920 ActiveActiveRESI4173403 ActiveActiveRESI4136078 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4173403 ActiveActiveRESI4173403 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI |
| 4184130ActiveUnd Under Con RESI4214116ActiveActiveRESI4206498ActiveUnd Under Con RESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4213185ActiveActiveRESI4201374ActiveUnder Con RESI4208042ActiveActiveRESI4208042ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4200439ActiveActiveRESI4209985ActiveActiveRESI4173403ActiveActiveRESI4173420ActiveActiveRESI4176646ActiveActiveRESI4176627ActiveActiveRESI4161757ActiveActiveRESI4161757ActiveActiveRESI4161757ActiveActiveRESI  |
| 4214116ActiveRESI4206498Active Und Under Con RESI4183487ActiveActive4173838ActiveActive4173838ActiveActive4146525ActiveActive4193652PendingUnder Con RESI4209352ActiveActive4213185ActiveMESI4201374ActiveUnder Con RESI4208042ActiveMESI4208042ActiveActive4167838ActiveActive4167838ActiveActive4200439ActiveActive4200439ActiveActive4200439ActiveActive4182904ActiveActive4173403ActiveActive4173420ActiveActive4176646ActiveActive4176627ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActive4161757ActiveActi   |
| 4206498ActiveActiveRESI4183487ActiveActiveRESI4173838ActiveActiveRESI4146525ActiveActiveRESI4193652PendingUnder Con RESI4209352ActiveActiveRESI4201374ActiveUnder Con RESI4208042ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4186920ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI41202433ActiveActiveRESI4182904ActiveActiveRESI4182904ActiveActiveRESI4173403ActiveActiveRESI4173403ActiveActiveRESI4176646ActiveActiveRESI4176627ActiveActiveRESI4161757ActiveActiveRESI   |
| 4183487 ActiveActiveRESI4173838 ActiveActiveRESI4146525 ActiveActiveRESI4193652 PendingUnder Con RESI4209352 ActiveActiveRESI4213185 ActiveActiveRESI4201374 Active Und Under Con RESI4208042 ActiveActive4208042 ActiveActiveRESI4186920 ActiveActiveRESI4167838 ActiveActiveRESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI420439 ActiveActiveRESI4182904 ActiveActiveRESI410439 ActiveActiveRESI4173403 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4183487 ActiveActiveRESI4173838 ActiveActiveRESI4146525 ActiveActiveRESI4193652 PendingUnder Con RESI4209352 ActiveActiveRESI4213185 ActiveActiveRESI4201374 Active Und Under Con RESI4208042 ActiveActive4208042 ActiveActiveRESI4186920 ActiveActiveRESI4167838 ActiveActiveRESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI420439 ActiveActiveRESI4182904 ActiveActiveRESI410439 ActiveActiveRESI4173403 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4173838 ActiveActiveRESI4146525 ActiveActiveRESI4193652 PendingUnder Con RESI4209352 ActiveActiveRESI4213185 ActiveActiveRESI4201374 Active UndUnder Con RESI4213327 ActiveActiveRESI4208042 ActiveActiveRESI4167838 ActiveActiveRESI4167838 ActiveActiveRESI4202203 ActiveActiveRESI4202439 ActiveActiveRESI4209439 ActiveActiveRESI4182904 ActiveActiveRESI4173403 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI   |
| 4146525 ActiveActiveRESI4193652 PendingUnder Con RESI4209352 ActiveActiveRESI4213185 ActiveActiveRESI4201374 Active UndUnder Con RESI4213327 ActiveActiveRESI4208042 ActiveActiveRESI4186920 ActiveActiveRESI4167838 ActiveActiveRESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI420439 ActiveActiveRESI4209439 ActiveActiveRESI4132004 ActiveActiveRESI4173403 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4193652PendingUnder Con RESI4209352ActiveActiveRESI4213185ActiveUnder Con RESI4201374Active Und Under Con RESI4213327ActiveActiveRESI4208042ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI410163PendingUnder Con RESI4136078ActiveActiveRESI4202203ActiveActiveRESI4200439ActiveActiveRESI4182904ActiveActiveRESI4173403ActiveActiveRESI4173420ActiveActiveRESI4176646ActiveActiveRESI4176627ActiveActiveRESI4161757ActiveActiveRESI  |
| 4209352 ActiveActiveRESI4213185 ActiveActiveRESI4201374 Active Und Under Con RESI4213327 ActiveActiveRESI4208042 ActiveActiveRESI4186920 ActiveActiveRESI4167838 ActiveActiveRESI410763 PendingUnder Con RESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI419985 ActiveActiveRESI4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4213185ActiveActiveRESI4201374ActiveUnder Con RESI4213327ActiveActiveRESI4208042ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI4167838ActiveActiveRESI4136078ActiveActiveRESI4136078ActiveActiveRESI4202203ActiveActiveRESI4200439ActiveActiveRESI4182904ActiveActiveRESI4173403ActiveActiveRESI4173420ActiveActiveRESI4176646ActiveActiveRESI4176627ActiveActiveRESI4161757ActiveActiveRESI   |
| 4201374Active Und Under Con RESI4213327ActiveActiveRESI4208042ActiveActiveRESI4186920ActiveActiveRESI4167838ActiveActiveRESI4107838ActiveActiveRESI4210163PendingUnder Con RESI4136078ActiveActiveRESI4202203ActiveActiveRESI4200439ActiveActiveRESI4182904ActiveActiveRESI4173403ActiveActiveRESI4173420ActiveActiveRESI4176646ActiveActiveRESI4176627ActiveActiveRESI4161757ActiveActiveRESI  |
| 4213327 ActiveActiveRESI4208042 ActiveActiveRESI4186920 ActiveActiveRESI4167838 ActiveActiveRESI4210163 PendingUnder Con RESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4173403 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI   |
| 4208042 ActiveActiveRESI4186920 ActiveActiveRESI4167838 ActiveActiveRESI4210163 PendingUnder Con RESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI   |
| 4186920 ActiveActiveRESI4167838 ActiveActiveRESI4210163 PendingUnder Con RESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI   |
| 4167838 ActiveActiveRESI4210163 PendingUnder Con RESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI   |
| 4210163 PendingUnder Con RESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI   |
| 4210163 PendingUnder Con RESI4136078 ActiveActiveRESI4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI   |
| 4136078 ActiveActiveRESI4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4202203 ActiveActiveRESI4200439 ActiveActiveRESI4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4200439 ActiveActiveRESI4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4182904 ActiveActiveRESI4209985 ActiveActiveRESI4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4209985 ActiveActiveRESI4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4173403 ActiveActiveRESI4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4173420 ActiveActiveRESI4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4176646 ActiveActiveRESI4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4176627 ActiveActiveRESI4161757 ActiveActiveRESI  |
| 4161757 Active Active RESI  |
|   |
|   |
|   |
| 4161736 Active Active RESI  |
| 4161724 Active Und Under Con RESI   |
| 4173413 Active Und Under Con RESI   |
|   |
| 4176636 Active Und Under Con RESI   |

Residentia Pace Estat Skye Ferre 6 Edna Oa Henderson Residentia Park Place Rose 106 Victori Henderson Residentia Park Place Nye, Thom 26 Victoria Henderson Residentia Plantation Hubert/Pur 124 Exeter Henderson Residentia Plantation Of Record 308 Somer Henderson Residentia Plantation Robert B. (312 Somer Henderson Residentia Poplar Top CMH HOM 36 Whispe Henderson Residentia Poplar Top CMH HOM 98 Whispe Henderson Residentia Providence DR Horton 35 Lauren Henderson Residentia Providence DR Horton 18 Lillian L Henderson Residentia Providence DR Horton 80 Lillian L Henderson Residentia Providence DR Horton 45 Lillian L Henderson Residentia Providence DR Horton 9 Lillian La Henderson Residentia Providence DR Horton 32 Provide Henderson Residentia Providence DR Horton 56 Provide Henderson Residentia Providence DR Horton 40 Provide Henderson Residentia Providence DR Horton 48 Provide Henderson Residentia Providence DR Horton 27 Lillian L Henderson Residentia Providence D R Hortor 55 Lillian L Henderson Residentia Providence DR Horton 17 Lillian L Henderson Residentia Ridgeview To Be Disc 274 Majest Henderson Residentia Rolling Oal Seller does 618 Piney Henderson Residentia Southern V Albea Grec 38 Souther Henderson Residentia Stoney Ga Schroader 478 Stoney Henderson Residentia Sylvan Hei Homegrow 1533 Hayw Henderson Residentia Sylvan Hei Seagraves 534 Alta Vi Henderson Residentia The Cedar Cedars Loc 227 7th Av Henderson Residentia The Cloiste Joy Elizabe 252 Wash Henderson Residentia The Cottac Cook and 195 Leyland Henderson Residentia The Oaks Spann 204 Water Henderson Residentia The Oaks Bonwitt 305 N Sca Henderson Residentia The Oaks Deborah A 303 White Henderson Residentia The Willow Estate of C14 Tisha L Henderson Residentia The Willow Chapal Sc 18 Tisha L Henderson Residentia Thornhill Doerner 110 FOX CHenderson Residentia Towne Pla Bobby D. F132 Towne Henderson Residentia Towne Pla Cooper 67 Towne | Henderson Residentia Townes at Of Record 80 Creekvi Henderson Residentia Townes at per record 108 Creek Henderson Residentia Townes at DR Horton 306 Creek Henderson Residentia Townes at DR Horton 315 Creek Henderson Residentia Townes at DR Horton 321 Creek Henderson Residentia Townes at DR Horton 296 Creek Henderson Residentia Townes at DR Horton 294 Creek Henderson Residentia Townes at DR Horton 288 Creek Henderson Residentia Townes at DR Horton 284 Creek Henderson Residentia Townes at DR Horton 268 Creek Henderson Residentia Townes at DR Horton 311 Creek Henderson Residentia Townes at DR Horton 323 Creek Henderson

4151633 Active Und Under Con RESI 4179109 Active Und Under Con RESI 4173410 Active Und Under Con RESI 4151644 Active Und Under Con RESI 4201792 Active Und Under Con RESI 4193673 Active Active RESI 4208774 Active RESI Active 4208777 Active Active RESI 4208967 Active RESI Active RESI 4205142 Active Active 4201466 Active Active RESI 4190263 Active Active RESI 4205562 Active Und Under Con RESI 4214121 Active RESI Active RESI 4213524 Closed Closed 4099262 Closed Closed RESI 4098451 Closed Closed RESI 4143319 Closed RESI Closed 4139087 Closed Closed RESI 4100489 Closed Closed RESI 4121505 Closed Closed RESI 4058249 Closed Closed RESI 4149684 Closed Closed RESI RESI 4128528 Closed Closed 4149578 Closed Closed RESI 4110032 Closed Closed RESI 4157527 Closed Closed RESI 4151581 Closed Closed RESI RESI 4148631 Closed Closed 4106373 Closed Closed RESI RESI 4140516 Closed Closed 4111207 Closed RESI Closed 4157339 Closed RESI Closed 4171029 Closed Closed RESI 4159644 Closed RESI Closed 4152002 Closed Closed RESI 4149532 Closed Closed RESI 4149924 Closed Closed RESI 4151505 Closed Closed RESI 4142231 Closed Closed RESI 4152433 Closed Closed RESI 4146884 Closed Closed RESI 4140568 Closed Closed RESI RESI 4111188 Closed Closed 4098286 Closed Closed RESI 4096191 Closed Closed RESI 4155201 Closed Closed RESI 4161934 Closed Closed RESI 4151370 Closed Closed RESI Residentia Townes at DR Horton 276 Creek Henderson Residentia Townes at DR Horton 327 Creek Henderson Residentia Townes at DR Horton 300 Creek Henderson Residentia Townes at DR Horton 272 Creek Henderson Residentia Wanteska Nagornyy I 101 Forest Henderson Residentia Wolfpen On record 3905 Wood Henderson Residentia Wolfpen OF RECOI 603 Fox D(Henderson Residentia Wolfpen Stegmayer 24 Gray W Henderson Residentia Wolfpen Dorothy I. 12902 Blue Henderson Residentia Wolfpen Baird Robe 2306 Deer Henderson Residentia Wolfpen Collins, Ke 28 Wild Ph Henderson Residentia Wolfpen Of Record 1304 Deer Henderson Residentia Wolfpen Blackman 1202 Deer Henderson Residentia Woodlawn Crist Gary 226 E Dog Henderson Residentia Townes at DR Horton 216 Creek Henderson Residentia CANTREL DR Horton 371 Fox C(Henderson Residentia Cantrell Hil DR Horton 379 Fox C(Henderson Residentia Riverwind JOHN BUF 525 Riverw Henderson Residentia Spring Ville Butler 15 Spring \Henderson Residentia Cantrell Hil D R Hortor 392 Fox C(Henderson Residentia Townes at DR Horton 51 Cedar Henderson Residentia Townes at DR Horton 212 Creek Henderson Residentia Beacon Cc Little 475 S Chu Henderson Residentia Carriage P Colegrove 173 Mill Pc Henderson Residentia none Artisan Cal 1517 Gree Henderson Residentia Stoney Cre Bishop Dei 104 Lyndoi Henderson Residentia WOLFPEN Of Record 63 Snowy | Henderson Residentia Barker Hei Tollefson T1010 W Gi Henderson Residentia Haywood F Shipyard P1407 Kens Henderson Residentia Townes at DR Horton 244 Creek Henderson Residentia Townes at DR Horton 291 Creek Henderson Residentia Townes at DR Horton 287 Creek Henderson Residentia Morningsid Leslie Rya 147 Mornir Henderson Residentia Tebeau Te Maitland L: 710 Knollw Henderson Residentia Cottages a Broughton 30 S Cotta Henderson **Residentia None** Newman & 1928 Hayw Henderson Residentia Glenbrook Forker 120 Glenbi Henderson Residentia Towne Pla George R . 231 Towne Henderson Residentia Wolfpen Childress & 1402 Deer Henderson Residentia Townes at DR Horton 283 Creek Henderson **Residentia None** Elvira 817 1st Av Henderson Residentia The Oaks Of Record 206 Laurel Henderson Residentia Blue Ridge Janet Vauc 212 Dartcr Henderson Residentia Townes at DR Horton 271 Creek Henderson Residentia Cantrell Hil DR Horton 412 Fox C(Henderson Residentia CANTRELIDR Horton 641 Fox C(Henderson **Residentia None** Williams at 600 Erkwo Henderson Residentia Henderson Weaver W 824 Temor Henderson

Residentia Forest Hei(Welborn 1010 Cher(Henderson

| 4149391 Closed | Closed | RESI | Residentia Hickory Hil Fitchpatricl 3115 Hickc Henderson |
|----------------|--------|------|--|
| 4166046 Closed | Closed | RESI | Residentia None Of Record 113 Bunco Henderson            |
| 4154614 Closed | Closed | RESI | Residentia Lenox Parl 2020 Build 750 Green Henderson     |
| 4130274 Closed | Closed | RESI | Residentia None 2020 Build 625 Edgew Henderson           |
| 4163575 Closed | Closed | RESI | Residentia None Jones Lem 204 N Whi Henderson            |
| 4143121 Closed | Closed | RESI | Residentia Britton Cre W/H 461 Britton Henderson         |
| 4090529 Closed | Closed | RESI | Residentia Cantrell Hil DRHorton 402 Fox C(Henderson     |
| 4142852 Closed | Closed | RESI | Residentia None Salvesen 551 Israel Henderson            |
| 4124196 Closed | Closed | RESI | Residentia Cantrell Hil DR Horton 433 Fox C(Henderson    |
| 4106402 Closed | Closed | RESI | Residentia Townes at DR Horton 223 Creek Henderson       |
| 4101832 Closed | Closed | RESI | Residentia Cantrell Hil DRHorton 339 Fox C(Henderson     |
| 4125342 Closed | Closed | RESI | Residentia Carriage P Cool Creek 31 Ashefie Henderson    |
| 4154375 Closed | Closed | RESI | Residentia Edgewood Heatherly 609 Edgew Henderson        |
| 4159068 Closed | Closed | RESI | Residentia Haywood I Lashley 201 Arbor   Henderson       |
| 4098437 Closed | Closed | RESI | Residentia Cantrell Hil DRHorton 194 Thornt Henderson    |
| 4100081 Closed | Closed | RESI | Residentia Cantrell Hil DRHorton 633 Fox C Henderson     |
| 4172703 Closed |        | RESI |  |
|                | Closed |      | Residentia Crooked C Of Record 106 Yardle Henderson      |
| 4130034 Closed | Closed | RESI | Residentia none Addiss 714 Florida Henderson             |
| 4173669 Closed | Closed | RESI | Residentia Towne For Joy Coe 1220 Woo Henderson          |
| 4138253 Closed | Closed | RESI | Residentia The Willow Robbins Ja 21 Tisha L Henderson    |
| 4160239 Closed | Closed | RESI | Residentia Morningsid Truran 155 Mornir Henderson        |
| 4145901 Closed | Closed | RESI | Residentia None Hiemstra K 168 Edwar Henderson           |
| 4142569 Closed | Closed | RESI | Residentia Pathways (Hobbs Anr 104 Mount Henderson       |
| 4166332 Closed | Closed | RESI | Residentia CANTRELIDR Horton 432 Fox C(Henderson         |
| 4150929 Closed | Closed | RESI | Residentia None Blue Ridge 3576 Chim Henderson           |
| 4162493 Closed | Closed | RESI | Residentia Rosemont of record 715 Knollw Henderson       |
| 4148002 Closed | Closed | RESI | Residentia The Oaks Belanger 103 Chinqt Henderson        |
| 4165967 Closed | Closed | RESI | Residentia None Kyla Rose 1102 Old S Henderson           |
| 4165597 Closed | Closed | RESI | Residentia Duncragge Pamela Cli 309 Ewarts Henderson     |
| 4136383 Closed | Closed | RESI | Residentia None McMinn 1004 W Gi Henderson               |
| 4151292 Closed | Closed | RESI | Residentia The Oaks Jodell Whe 904 Red O Henderson       |
| 4150288 Closed | Closed | RESI | Residentia Wolfpen Laque 27 Gray W Henderson             |
| 4165713 Closed | Closed | RESI | Residentia none Machinga I 58 Denny I Henderson          |
| 4145927 Closed | Closed | RESI | Residentia The Oaks/ To Be Disc 114 Live O Henderson     |
| 4023085 Closed | Closed | RESI | Residentia Townes at DR Horton 52 Ravens Henderson       |
| 4121965 Closed | Closed | RESI | Residentia Townes at DR Horton 275 Creek Henderson       |
| 4121500 Closed | Closed | RESI | Residentia Townes at DR Horton 47 Cedar Henderson        |
| 4150778 Closed | Closed | RESI | Residentia Cummings Tipton Brei 70 Copper Henderson      |
| 4165777 Closed | Closed | RESI | Residentia Blue Ridge Merrell 241 Dartcr Henderson       |
| 4185118 Closed | Closed | RESI | Residentia CANTRELIDR Horton 413 Fox C(Henderson         |
| 4152410 Closed | Closed | RESI | Residentia The Oaks Siegel 1106 Red (Henderson           |
| 4115905 Closed | Closed | RESI | Residentia Beacon Cc Bodenham 475 S Chu Henderson        |
| 4171282 Closed | Closed |      | Residentia Cantrell Hil DR Horton 450 Fox C Henderson    |
|                |        | RESI |  |
| 4023098 Closed | Closed | RESI | Residentia Townes at DR Horton 44 Ravens Henderson       |
| 4160697 Closed | Closed | RESI | Residentia Brookland McDaniel / 602 Pinela Henderson     |
| 4154562 Closed | Closed | RESI | Residentia None See Disclo 22 & 38 Lk Henderson          |
| 4170535 Closed | Closed | RESI | Residentia Cottages a Of Record 41 S Cotta Henderson     |
| 4176346 Closed | Closed | RESI | Residentia None Jackie Bro 722 9th Av Henderson          |
| 4167400 Closed | Closed | RESI | Residentia none W/H 889 Mid Al Henderson                 |

| 4180047 Closed | Closed           | RESI         | Residentia Oklawaha The Estate 304 Oklaw Henderson   |
|----------------|------------------|--------------|--|
| 4171406 Closed | Closed           | RESI         | Residentia Osceola La Walter F & 1602 Geor Henderson   |
| 4160819 Closed | Closed           | RESI         | Residentia Cantrell Hil DR Horton 421 Fox C Henderson  |
| 4176904 Closed | Closed           | RESI         | Residentia None Collis Jeffr 814 5th Av Henderson  |
| 4180291 Closed | Closed           | RESI         | Residentia Wolfpen Of Record 17 Gray W Henderson   |
| 4159023 Closed | Closed           | RESI         | Residentia None Of Record 408 Jack S Henderson   |
| 4179133 Closed | Closed           | RESI         | Residentia CANTRELIDR Horton 490 Fox C(Henderson   |
| 4165789 Closed | Closed           | RESI         | Residentia None Shah 714 N Whi Henderson   |
| 4184870 Closed | Closed           | RESI         | Residentia Skyland DcApolka A. \538 N Mair Henderson   |
| 4181168 Closed | Closed           | RESI         | Residentia Holly Crest See disclo: 427 6th Av Henderson  |
| 4125087 Closed | Closed           | RESI         | Residentia Cantrell Hil DR Horton 526 Fox C(Henderson  |
| 4150248 Closed | Closed           | RESI         | Residentia none Of Record 1980 Davis Henderson   |
| 4177138 Closed | Closed           | RESI         | Residentia Towne Pla Day Living 43 Towne Henderson   |
| 4138854 Closed | Closed           | RESI         | Residentia CANTREL DR Horton 508 Fox C(Henderson   |
| 4144806 Closed | Closed           | RESI         | Residentia None Beatriz Poi 415 Stoney Henderson   |
| 4163074 Closed | Closed           | RESI         | Residentia None Of Record 1219 Fourt Henderson   |
| 4182737 Closed | Closed           | RESI         | Residentia Willow Ber Bice Karen 521 Courty Henderson  |
| 4135252 Closed | Closed           | RESI         | Residentia Druid Hills 2120 Arling 2120 Arling Henderson   |
| 4084897 Closed | Closed           | RESI         | Residentia Lakeview E See Rema 459 Beach Henderson   |
| 4098467 Closed | Closed           | RESI         | Residentia Cantrell Hil DRHorton 23 Silverth Henderson   |
| 4117654 Closed | Closed           | RESI         | Residentia Clear Cree Kelly, Jane 15 Jacobs Henderson  |
| 4162162 Closed | Closed           | RESI         | Residentia Toms Hill F 2020 Build 40 Summit Henderson  |
| 4129082 Closed | Closed           | RESI         | Residentia Cantrell Hil DRHorton 443 Fox C(Henderson   |
| 4142201 Closed | Closed           | RESI         | Residentia Cantrell Hil D R Hortor 497 Fox C Henderson   |
| 4183982 Closed | Closed           | RESI         | Residentia Saddlebro Carlson 1115 Citati Henderson   |
| 4174711 Closed | Closed           | RESI         |  |
| 4183681 Closed | Closed           | RESI         | Residentia Woodlawn Bayne 214 Tracy Henderson<br>Residentia Haywood I Taylor 164 Haywc Henderson             |
| 4179028 Closed | Closed           | RESI         | Residentia Tatum Keel Jame 1245 Pine Henderson   |
| 4150690 Closed | Closed           | RESI         | Residentia Long John Of Record 212 Ginser Henderson  |
| 4185650 Closed | Closed           | RESI         | Residentia None Steelkey P 613 W Alle Henderson  |
| 4108421 Closed | Closed           | RESI         | Residentia Townes at DR Horton 226 Creek Henderson   |
| 4154767 Closed | Closed           |              |  |
| 4124222 Closed | Closed           | RESI<br>RESI | Residentia Haywood F Stuart Mau 901 Thornt Henderson<br>Residentia Cantrell Hil DRHorton 518 Fox C Henderson |
|                |                  |              |  |
| 4174098 Closed | Closed<br>Closed | RESI         | Residentia Holly Crest w/h 427 6th Av Henderson  |
| 4087623 Closed |                  | RESI         | Residentia Townes at DR Horton 57 Cedar Henderson  |
| 4158170 Closed | Closed           | RESI         | Residentia The Oaks John Bell, 504 Water Henderson   |
| 4192209 Closed | Closed           | RESI         | Residentia Cantrell Hil Gnolfo Fra 661 Fox C Henderson   |
| 4127238 Closed | Closed           | RESI         | Residentia Cantrell Hil D R Hortor 451 Fox C Henderson   |
| 4072601 Closed | Closed           | RESI         | Residentia Toms Hill Per record 511 Toms Henderson   |
| 4176128 Closed | Closed           | RESI         | Residentia Bent Tree Per deed 135 Bent T Henderson   |
| 4176667 Closed | Closed           | RESI         | Residentia Brookland Emma Sch 506 Brookl Henderson   |
| 4172111 Closed | Closed           | RESI         | Residentia Cummings Mclellan 32 Titleist \ Henderson   |
| 4130255 Closed | Closed           | RESI         | Residentia None Krishnan Ir 619 Edgew Henderson  |
| 4191534 Closed | Closed           | RESI         | Residentia Blythe Con Muller 62 Chathai Henderson  |
| 4167814 Closed | Closed           | RESI         | Residentia Cantrell Hil DRHorton 142 Silvert Henderson   |
| 4195073 Closed | Closed           | RESI         | Residentia Duncragge Bass 318 Ewarts Henderson   |
| 4194916 Closed | Closed           | RESI         | Residentia Hamiltons W Lake Av 102 W Lak Henderson   |
| 4123596 Closed | Closed           | RESI         | Residentia None of record 203 Thornt Henderson   |
| 4193097 Closed | Closed           | RESI         | Residentia Saddlebro: Of Record 1013 Sadd Henderson  |
|                |                  |              |  |

|                |        |      | Description (in Oracian IIII) DDI teatrain AFO Oliverati Hanada an an |
|----------------|--------|------|---|
| 4124219 Closed | Closed | RESI | Residentia Cantrell Hil DRHorton 156 Silvert Henderson                |
| 4191876 Closed | Closed | RESI | Residentia Cantrell Hil Jessica L (311 Fox C Henderson                |
| 4163293 Closed | Closed | RESI | Residentia Cantrell Hil DR Horton 148 Silvert Henderson               |
| 4179138 Closed | Closed | RESI | Residentia Cantrell Hil D R Hortor 134 Silvert Henderson              |
| 4193436 Closed | Closed | RESI | Residentia none Eitelberg 31 Nightca Henderson                        |
| 4194528 Closed | Closed | RESI | Residentia Fox Ridge Messer 36 High Pla Henderson                     |
| 4184799 Closed | Closed | RESI | Residentia G A Turner 3 Gophers 26 Hillpark Henderson                 |
| 4207886 Closed | Closed | RESI | Residentia None Steelkey P 104 S Just Henderson                       |
| 4198127 Closed | Closed | RESI | Residentia Brookland Schwarze 609 Pinela Henderson                    |
| 4129080 Closed | Closed | RESI | Residentia Cantrell Hil DR Horton 525 Fox C(Henderson                 |
| 4192701 Closed | Closed | RESI | Residentia Hyman He To Be Disc 1212 Oakl: Henderson                   |
| 4142257 Closed | Closed | RESI | Residentia Mcmillan H Linn Elizab 84 McMilla Henderson                |
| 4105765 Closed | Closed | RESI | Residentia Cummings Golf View - 3536 Cum Henderson                    |
| 4187123 Closed | Closed | RESI | Residentia Poplar Top CMH HOM 110 Whisp Henderson                     |
| 4121971 Closed | Closed | RESI | Residentia Townes at DR Horton 281 Creek Henderson                    |
| 4196536 Closed | Closed | RESI | Residentia Druid Hills Hanson 1647 Druid Henderson                    |
| 4197512 Closed | Closed | RESI | Residentia Forest Hei Hilyer Zacl 1014 Cher Henderson                 |
| 4159035 Closed | Closed | RESI | Residentia Townes at DR Horton 260 Creek Henderson                    |
| 4193297 Closed | Closed | RESI | Residentia Carriage P Damhesel 1418 Woo Henderson                     |
| 4187323 Closed | Closed | RESI | Residentia Haywood N Revis Leea 1759 Hayw Henderson                   |
| 4192175 Closed | Closed | RESI | Residentia Henderson Of Record 650 New V Henderson                    |
| 4178478 Closed | Closed | RESI | Residentia Park Place Alexander 29 Victoria Henderson                 |
| 4187126 Closed | Closed | RESI | Residentia Poplar Top CMH HOM 73 Whispe Henderson                     |
| 4152407 Closed | Closed | RESI | Residentia The Oaks Tilson Livir 304 Laurel Henderson                 |
| 4176624 Closed | Closed | RESI | Residentia Townes at DR Horton 264 Creek Henderson                    |
| 4203100 Closed | Closed | RESI | Residentia Windsong Mills 26 Tillman Henderson                        |
| 4154602 Closed | Closed | RESI | Residentia None 2020 Build 913 Seven Henderson                        |
| 4152492 Closed | Closed | RESI | Residentia Woodlawn DAVIS, RA221 Wilmo Henderson                      |
| 4201406 Closed | Closed | RESI | Residentia Sylvan Hei Keuthan 1034 Sylva Henderson                    |
| 4165213 Closed | Closed | RESI | Residentia Cantrell Hil DR Horton 116 Silvert Henderson               |
| 4186605 Closed | Closed | RESI | Residentia None Steelkey P 611 W Alle Henderson                       |
| 4165190 Closed | Closed | RESI | Residentia Cantrell Hil DR Horton 106 Silvert Henderson               |
| 4150260 Closed | Closed | RESI | Residentia None Cauley Jes 315 N Oak Henderson                        |
| 4172168 Closed | Closed | RESI | Residentia NONE BY Record 25 Thunde Henderson                         |
| 4172251 Closed | Closed | RESI | Residentia Brookdale Mullen 1134 Caro Henderson                       |
| 4202130 Closed | Closed | RESI | Residentia Brookland Reynolds 111 Timbe Henderson                     |
| 4202232 Closed | Closed | RESI | Residentia Woodlawn G Kilpatricl 226 E Dog Henderson                  |
| 4194932 Closed | Closed | RESI | Residentia Oakwood Wilson 909 Ashley Henderson                        |
| 4080928 Closed | Closed | RESI | Residentia Townes at DR Horton 232 Creek Henderson                    |
| 4164354 Closed | Closed | RESI | Residentia Middleton I Terry 2832 Middl Henderson                     |
| 4166142 Closed | Closed | RESI | Residentia The Oaks Zielinski 506 spanis Henderson                    |
| 4202991 Closed | Closed | RESI | Residentia Blue Ridge Pace Eliza 141 Derby: Henderson                 |
|                | 0.0004 |      |   |

| CountyBedroomsBathroomsBasementArchitecturSubjectBasementTypeHenderson320ExteriorErRanchYesSingle FarrHenderson320BasementRanchYesSingle FarrHenderson230Traditional Mid-RiseNoCondominiHenderson331BasementRanch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson320TraditionalNoSingle FarrHenderson220TraditionalNoSingle FarrHenderson220TraditionalNoSingle FarrHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson321Partially Finished, Walk-Up AccesYesSingle FarrHenderson321Partially Finished, Walk-Up AccesYesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingl  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
|---|---|---|---|--|--|--|---|---|--|---|---|---|--|--------------------------------|---|---|---|---|---|---|---|---|---|---|---|--|---|---|---|---|---|---|---|---|---|--|---|--|---|---------------------------------------|-------------------------------|---------------------------|----------------------------------|--|--|-------------------------|
| Henderson102NoSingle FarrHenderson320 Basement RanchYesSingle FarrHenderson230Traditional Mid-RiseNoCondominiHenderson331 Basement Ranch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson220TraditionalNoSingle FarrHenderson220ContemporaryNoCondominiHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoSingle FarrHenderson321 Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson430NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson </td  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson320 Basement RanchYesSingle FarrHenderson230Traditional Mid-RiseNoCondominiHenderson331 BasementRanch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson220TraditionalNoSingle FarrHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson321 Partially Finished, Walk-Up Accet YesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson430NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle Farr <tr <tr<="" td=""></tr> <tr><td>Henderson230Traditional Mid-RiseNoCondominiHenderson331 BasementRanch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson321 Partially Finished, Walk-Up AccesYesSingle FarrHenderson321 Partially Finished, Walk-Up AccesYesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSi</td></tr> <tr><td>Henderson331 Basement Ranch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson530TraditionalNoSingle FarrHenderson321 Partially Finished, Walk-Up Accet YesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson3</td></tr> <tr><td>Henderson320TraditionalNoSingle FarHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoSingle FarHenderson530TraditionalNoSingle FarHenderson321Partially Finished, Walk-Up AccesYesSingle FarHenderson430NoSingle FarHenderson430NoSingle FarHenderson220NoSingle FarHenderson220NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson430NoSingle FarHenderson430NoSingle Far</td></tr> <tr><td>Henderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up AccesYesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson530TraditionalNoSingle FarrHenderson321 Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson321 Partially Finished, Walk-Up Acces YesSingle FarHenderson430NoSingle FarHenderson431NoSingle FarHenderson430NoSingle FarHenderson220NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson430NoSingle Far</td></tr> <tr><td>Henderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson320NoSingle FarrHenderson430NoSingle Farr</td></tr> <tr><td>Henderson 4 3 0 No Single Farr</td></tr> <tr><td>•</td></tr> <tr><td>÷</td></tr> <tr><td>Henderson 4 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 3 2 0 Traditional No Single Far</td></tr> <tr><td>Henderson 3 2 0 Arts and Crafts, Tradit No Single Far</td></tr> <tr><td>Henderson 4 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 5 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 4 3 1 Traditional No Single Far</td></tr> <tr><td>Henderson 4 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 5 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 4 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 3 2 0 Arts and Crafts, Rancl No Single Far</td></tr> <tr><td>Henderson 3 2 1 Traditional No Single Far</td></tr> <tr><td>Henderson 4 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 5 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 5 4 0 Traditional No Single Far</td></tr> <tr><td>Henderson 4 3 1 Arts and Crafts No Single Far</td></tr> <tr><td>Henderson 4 3 1 Arts and Crafts, Tradit No Single Far</td></tr> <tr><td>Henderson 4 3 0 Traditional No Single Far</td></tr> <tr><td>Henderson 3 2 0 Traditional No Single Far</td></tr> <tr><td>Henderson 5 4 0 Traditional No Single Far</td></tr> <tr><td>Henderson430 Fully FinishedYesSingle Far</td></tr> <tr><td>Henderson 4 3 1 Daylight, Fully Finished, Full, Inte Yes Single Far</td></tr> <tr><td>Henderson 2 2 0 Bath/Stubbed, Unfinished, Walk-(Yes Single Far</td></tr> <tr><td>Henderson220Traditional FourplexNoCondomini</td></tr> <tr><td>Henderson 2 2 0 Colonial No Condomini</td></tr> <tr><td>Henderson 2 1 0 No Single Far</td></tr> <tr><td>Henderson210NoSingle Farr</td></tr> <tr><td>Henderson220CottageNoSingle Farr</td></tr> <tr><td>Henderson351 Partially Finished, Storage Space YesSingle Far</td></tr> <tr><td>Henderson320Arts and CraftsNoSingle Farr</td></tr> <tr><td>Henderson220NoTownhouse</td></tr> | Henderson230Traditional Mid-RiseNoCondominiHenderson331 BasementRanch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson321 Partially Finished, Walk-Up AccesYesSingle FarrHenderson321 Partially Finished, Walk-Up AccesYesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSi | Henderson331 Basement Ranch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson530TraditionalNoSingle FarrHenderson321 Partially Finished, Walk-Up Accet YesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson3 | Henderson320TraditionalNoSingle FarHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoSingle FarHenderson530TraditionalNoSingle FarHenderson321Partially Finished, Walk-Up AccesYesSingle FarHenderson430NoSingle FarHenderson430NoSingle FarHenderson220NoSingle FarHenderson220NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson430NoSingle FarHenderson430NoSingle Far | Henderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up AccesYesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr | Henderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr | Henderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr | Henderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr | Henderson530TraditionalNoSingle FarrHenderson321 Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr | Henderson321 Partially Finished, Walk-Up Acces YesSingle FarHenderson430NoSingle FarHenderson431NoSingle FarHenderson430NoSingle FarHenderson220NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson430NoSingle Far | Henderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr | Henderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr | Henderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr | Henderson320NoSingle FarrHenderson430NoSingle Farr | Henderson 4 3 0 No Single Farr | • | ÷ | Henderson 4 3 0 Traditional No Single Far | Henderson 3 2 0 Traditional No Single Far | Henderson 3 2 0 Arts and Crafts, Tradit No Single Far | Henderson 4 3 0 Traditional No Single Far | Henderson 5 3 0 Traditional No Single Far | Henderson 4 3 1 Traditional No Single Far | Henderson 4 3 0 Traditional No Single Far | Henderson 5 3 0 Traditional No Single Far | Henderson 4 3 0 Traditional No Single Far | Henderson 3 2 0 Arts and Crafts, Rancl No Single Far | Henderson 3 2 1 Traditional No Single Far | Henderson 4 3 0 Traditional No Single Far | Henderson 5 3 0 Traditional No Single Far | Henderson 5 4 0 Traditional No Single Far | Henderson 4 3 1 Arts and Crafts No Single Far | Henderson 4 3 1 Arts and Crafts, Tradit No Single Far | Henderson 4 3 0 Traditional No Single Far | Henderson 3 2 0 Traditional No Single Far | Henderson 5 4 0 Traditional No Single Far | Henderson430 Fully FinishedYesSingle Far | Henderson 4 3 1 Daylight, Fully Finished, Full, Inte Yes Single Far | Henderson 2 2 0 Bath/Stubbed, Unfinished, Walk-(Yes Single Far | Henderson220Traditional FourplexNoCondomini | Henderson 2 2 0 Colonial No Condomini | Henderson 2 1 0 No Single Far | Henderson210NoSingle Farr | Henderson220CottageNoSingle Farr | Henderson351 Partially Finished, Storage Space YesSingle Far | Henderson320Arts and CraftsNoSingle Farr | Henderson220NoTownhouse |
|   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson230Traditional Mid-RiseNoCondominiHenderson331 BasementRanch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson321 Partially Finished, Walk-Up AccesYesSingle FarrHenderson321 Partially Finished, Walk-Up AccesYesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSi   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson331 Basement Ranch, TraditionalYesSingle FarrHenderson320TraditionalNoSingle FarrHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson530TraditionalNoSingle FarrHenderson321 Partially Finished, Walk-Up Accet YesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson3   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson320TraditionalNoSingle FarHenderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson220NoSingle FarHenderson530TraditionalNoSingle FarHenderson321Partially Finished, Walk-Up AccesYesSingle FarHenderson430NoSingle FarHenderson430NoSingle FarHenderson220NoSingle FarHenderson220NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson430NoSingle FarHenderson430NoSingle Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson220Traditional DuplexNoTownhouseHenderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up AccesYesSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson220ContemporaryNoCondominiHenderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson220NoCondominiHenderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson220NoCondominiHenderson530TraditionalNoSingle FarrHenderson321Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson530TraditionalNoSingle FarrHenderson321 Partially Finished, Walk-Up Acces YesSingle FarrHenderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson321 Partially Finished, Walk-Up Acces YesSingle FarHenderson430NoSingle FarHenderson431NoSingle FarHenderson430NoSingle FarHenderson220NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson320NoSingle FarHenderson430NoSingle Far  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson430NoSingle FarrHenderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle FarrHenderson430NoSingle Farr   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson431NoSingle FarrHenderson430NoSingle FarrHenderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson220NoSingle FarrHenderson320NoSingle FarrHenderson430NoSingle Farr   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson320NoSingle FarrHenderson430NoSingle Farr  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 0 No Single Farr  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| •   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| ÷   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 3 2 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 3 2 0 Arts and Crafts, Tradit No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 5 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 1 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 5 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 3 2 0 Arts and Crafts, Rancl No Single Far  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 3 2 1 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 5 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 5 4 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 1 Arts and Crafts No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 1 Arts and Crafts, Tradit No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 3 2 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 5 4 0 Traditional No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson430 Fully FinishedYesSingle Far  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 4 3 1 Daylight, Fully Finished, Full, Inte Yes Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 2 2 0 Bath/Stubbed, Unfinished, Walk-(Yes Single Far  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson220Traditional FourplexNoCondomini   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 2 2 0 Colonial No Condomini   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson 2 1 0 No Single Far   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson210NoSingle Farr   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson220CottageNoSingle Farr  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson351 Partially Finished, Storage Space YesSingle Far  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson320Arts and CraftsNoSingle Farr  |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |
| Henderson220NoTownhouse   |   |   |   |  |  |  |   |   |  |   |   |   |  |                                |   |   |   |   |   |   |   |   |   |   |   |  |   |   |   |   |   |   |   |   |   |  |   |  |   |                                       |                               |                           |                                  |  |  |                         |

| Henderson | 3      | 2      | 1 Basement Traditional Yes                                | Single Farr                |
|-----------|--------|--------|---|----------------------------|
| Henderson | 3      | 2      | 0 Ranch Garden No   | Single Farr                |
| Henderson | 3      | 2      | 0 Exterior Entry, Partially Finished Yes                  | Single Far                 |
| Henderson | 3      | 2      | 0 No  | Townhouse                  |
| Henderson | 3      | 3      | 0 Bath/Stubbed, Partially Finished Yes                    | Townhouse                  |
| Henderson | 2      | 2      | 0 No  | Townhouse                  |
| Henderson | 3      | 3      | 0 Daylight, E Traditional Yes                             | Single Farr                |
| Henderson | 2      | 2      | 0 Basement Garage Door, Partial, Yes                      | Single Farr                |
| Henderson | 2      | 2      | 0 Traditional Fourplex No                                 | Condomini                  |
| Henderson | 2      | 2      | 0 Traditional No  | Condomini                  |
| Henderson | 2      | 2      | 0 Traditional None No                                     | Townhouse                  |
| Henderson | 3      | 2      | 0 Ranch No  | Single Farr                |
| Henderson | 3      | 2      | 0 Exterior Er Ranch Yes                                   | Single Farr                |
| Henderson | 2      | 2      | 0 Partial, UniCottage Yes                                 | Single Farr                |
| Henderson | 1      | 1      | 0 Partial Cottage None Yes                                | Single Farr                |
| Henderson | 2      | 2      | 0 Traditional No  | Condomini                  |
| Henderson | 2      | 1      | 1 No  | Condomini                  |
| Henderson | 2      | 2      | 0 Basement Arts and Crafts Yes                            | Single Far                 |
| Henderson | 3      | 2      | 0 Interior EntRanch Yes                                   | Single Far                 |
| Henderson | 3<br>4 | 3      | 0 Basement Garage Door, Exterior Yes                      | Single Far                 |
| Henderson | 4      | 2      | 1 Traditional No  | Condomini                  |
| Henderson | 3      | 2      | 1 No  | Townhouse                  |
| Henderson | 3      | 2      | 1 Other Ranch No  | Single Far                 |
| Henderson | 2      | 2      | 0 Ranch No  | Single Far                 |
| Henderson | 2      | 2      | 1 Fully Finisł Cottage Duplex Yes                         | Townhouse                  |
| Henderson | 2      | 2      | 0 Daylight, Exterior Entry, Fully Fini Yes                | Townhouse                  |
| Henderson | 2      | 3<br>1 | 0 Ranch No  | Single Far                 |
| Henderson | 2      | 2      | 0 No  | Condomini                  |
| Henderson | 2      | 2      | 0 Traditional, Other No                                   | Single Farr                |
| Henderson | 2      | 2      | 0 No  | -                          |
| Henderson | 2      | 1      |   | Single Farr                |
| Henderson | 2<br>4 | 2      | 0 Partial, Stc Cottage None Yes<br>0 Unfinished Tudor Yes | Single Far                 |
| Henderson | 4<br>3 | 2      | 1 Basement Garage Door, Exterior Yes                      | Single Farr<br>Condomini   |
| Henderson |        | 2      | 1 Dirt Floor, Other No                                    |                            |
| Henderson | 5<br>2 | 2      | 0 Manufactu No  | Single Farr<br>Single Farr |
| Henderson | 6      | 4      | 0 Basement Traditional Yes                                | Single Far                 |
| Henderson | 3      | 4      | 0 Ranch No  | Single Far                 |
| Henderson | 3      | 2      | 0 Sump Pump, Unfinished Yes                               | Single Far                 |
| Henderson | 6      | 2<br>5 | 1 Basement Contemporary Yes                               | Single Far                 |
| Henderson | 3      | 3      | 1 3   | Single Farr                |
| Henderson | 3      | 2      |   | Single Far                 |
| Henderson | 3      | 2      | 0 Bungalow No<br>0 Partially Fil Bungalow, Cottage Yes    | Single Far                 |
| Henderson | 2      | 2      | 0 Traditional, Other No                                   | Single Far                 |
| Henderson | 2      | 2      | · · · · · · · · · · · · · · · · · · ·                     | -                          |
| Henderson | 2<br>5 | 2      | 0 Manufactu No<br>1 Dirt Floor No                         | Single Farr<br>Single Farr |
| Henderson |        | 2      |   | •                          |
| Henderson | 3<br>2 | 2      |   | Single Farr<br>Condomini   |
| Henderson | 2<br>3 | 3      | •   |                            |
|           | 3      | 3      |   | Single Farr                |
| Henderson | 3      | 2      | 1 European None No  | Single Farr                |

| Henderson | 3 | 2        | 0 Other    | Contemporary              | Yes | Single Farr |
|-----------|---|----------|------------|---------------------------|-----|-------------|
| Henderson | 3 | 2        | 1          | Contemporary              | No  | Condomini   |
| Henderson | 3 | 2        | 1          | Traditional Duplex        | No  | Condomini   |
| Henderson | 2 | 2        | 0          | Traditional None          | No  | Condomini   |
| Henderson | 2 | 2        | 0          |                           | No  | Condomini   |
| Henderson | 3 | 2        | 0          | Traditional               | No  | Condomini   |
| Henderson | 3 | 2        | 0          | riadiionai                | No  | Single Farr |
| Henderson | 3 | 2        | 0          |                           | No  | Single Far  |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Single Far  |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Single Far  |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Single Far  |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Single Far  |
| Henderson | 3 | 2        | 1          | riadiionai                | No  | Single Farr |
| Henderson | 3 | 2        | 1          |                           | No  | Single Far  |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Single Far  |
| Henderson | 4 | 2        | 1          | Traditional               | No  | Single Far  |
| Henderson | 5 | 3        | 0          |                           | No  | Single Farr |
| Henderson | 4 | 2        | 1          |                           | No  | Single Far  |
| Henderson | 4 | 2        | 1          | Traditional               | No  | Single Far  |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Single Far  |
| Henderson | 4 | 3        | -          | nt Traditional, Other     | Yes | Single Far  |
| Henderson | 3 | 2        | 0          |                           | No  | Single Far  |
| Henderson | 3 | 3        | 1          | Traditional               | Yes | Single Far  |
| Henderson | 3 | 1        | 1          | Ranch                     | No  | Single Far  |
| Henderson | 2 | 1        | 0          | Ranch                     | No  | Single Far  |
| Henderson | 2 | 1        | 1          | Bungalow None             | No  | Single Far  |
| Henderson | 2 | 2        | 1          | Durigatow None            | No  | Condomini   |
| Henderson | 3 | 2        | 0          |                           | No  | Condomini   |
| Henderson | 3 | 3        |            | , F Arts and Crafts, Farr |     | Single Farr |
| Henderson | 2 | 2        | 0 Daylight | Contemporary              | No  | Condomini   |
| Henderson | 3 | 2        | -          | Entry, Storage Space      | Yes | Condomini   |
| Henderson | 2 | 3        | 0          | Traditional               | No  | Condomini   |
| Henderson | 2 | 2        | 0          | Traditional Duplex        | No  | Townhouse   |
| Henderson | 3 | 3        | 0          |                           | No  | Townhouse   |
| Henderson | 3 | 3        |            | ed Traditional            | Yes | Single Far  |
| Henderson | 3 | 3        | 1          |                           | No  | Townhouse   |
| Henderson | 2 | 2        | 1          | Traditional               | No  | Townhouse   |
| Henderson | 3 | 2        | 1          | riadiionai                | No  | Townhouse   |
| Henderson | 3 | 2        | 1          |                           | No  | Townhouse   |
| Henderson | 3 | 2        | 1          | Arts and Crafts, Trac     |     | Townhouse   |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Townhouse   |
| Henderson | 3 | 2        | 1          | Arts and Crafts, Trac     |     | Townhouse   |
| Henderson | 3 | 2        | 1          | Arts and Crafts, Trac     |     | Townhouse   |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Townhouse   |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Townhouse   |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Townhouse   |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Townhouse   |
| Henderson | 3 | 2        | 1          | Arts and Crafts, Trac     |     | Townhouse   |
| Henderson | 3 | 2        | 1          | Traditional               | No  | Townhouse   |
|           | 0 | <b>_</b> | •          |                           | 110 |             |

|                        | 2      | 2      | 4                | Traditional                         | Ne       | Taurahaua            |
|------------------------|--------|--------|------------------|-------------------------------------|----------|----------------------|
| Henderson<br>Henderson | 3      | 2<br>2 | 1                | Traditional                         | No<br>No | Townhous<br>Townhous |
| Henderson              | 3<br>3 | 2      |                  | Arts and Crafts, Tra<br>Traditional | No       | Townhouse            |
| Henderson              | 3      | 2      | 1                | Traditional                         | No       | Townhouse            |
|                        |        | 2      | 1<br>0 Recomment |                                     |          |                      |
| Henderson              | 4      |        | 0 Basement       |                                     | Yes      | Single Far           |
| Henderson              | 3      | 2      | 0                | Arts and Crafts                     | No       | Townhouse            |
| Henderson              | 3      | 2      | 0                | Traditional                         | No       | Condomini            |
| Henderson              | 3      | 2      | 1                | Arts and Crafts                     | No       | Condomini            |
| Henderson              | 2      | 2      | 0                | Arts and Crafts                     | No       | Condomini            |
| Henderson              | 2      | 2      | 0                | Arts and Crafts                     | No       | Condomini            |
| Henderson              | 3      | 2      | 0                | Arts and Crafts                     | No       | Townhouse            |
| Henderson              | 2      | 2      | 0                |                                     | No       | Condomini            |
| Henderson              | 2      | 2      | 0                | Traditional                         | No       | Condomini            |
| Henderson              | 2      | 1      | 0                |                                     | No       | Single Farr          |
| Henderson              | 3      | 2      | 1                |                                     | No       | Townhouse            |
| Henderson              | 4      | 3      | 1                | Arts and Crafts, Tra                |          | Single Farr          |
| Henderson              | 5      | 3      | 0                | Traditional                         | No       | Single Farr          |
| Henderson              | 3      | 2      | 0                |                                     | No       | Single Farr          |
| Henderson              | 2      | 2      | 0                |                                     | No       | Townhouse            |
| Henderson              | 3      | 3      | 0                | Arts and Crafts, Tra                | adit No  | Single Farr          |
| Henderson              | 3      | 2      | 1                | Traditional                         | No       | Townhouse            |
| Henderson              | 3      | 2      | 1                |                                     | No       | Townhouse            |
| Henderson              | 3      | 2      | 0                |                                     | No       | Condomini            |
| Henderson              | 3      | 2      | 0                | Cottage                             | No       | Single Farr          |
| Henderson              | 1      | 1      | 0                | Cabin                               | No       | Single Farr          |
| Henderson              | 4      | 2      | 1                |                                     | No       | Single Farr          |
| Henderson              | 3      | 2      | 0                | Traditional                         | No       | Townhouse            |
| Henderson              | 3      | 2      | 0 Basement       | Traditional                         | Yes      | Single Farr          |
| Henderson              | 2      | 2      | 1                | Colonial                            | No       | Condomini            |
| Henderson              | 3      | 2      | 1                | Arts and Crafts, Tra                | adit No  | Townhouse            |
| Henderson              | 3      | 2      | 1                | Arts and Crafts, Tra                | adit No  | Townhouse            |
| Henderson              | 3      | 2      | 1                | Arts and Crafts, Tra                |          | Townhouse            |
| Henderson              | 2      | 2      | 0                | Fourple                             |          | Condomini            |
| Henderson              | 4      | 3      | 1                | •                                   | No       | Single Farr          |
| Henderson              | 2      | 2      | 0                |                                     | No       | Single Farr          |
| Henderson              | 1      | 1      | 1                |                                     | No       | Single Farr          |
| Henderson              | 3      | 2      | 0                | Traditional                         | No       | Townhouse            |
| Henderson              | 3      | 3      | 1                | Traditional                         | No       | Townhouse            |
| Henderson              | 2      | 2      | 0                | Transitional                        | No       | Condomini            |
| Henderson              | 3      | 2      | 1                | Arts and Crafts, Tra                |          | Townhouse            |
| Henderson              | 3      | 1      | 0                | Traditional                         | No       | Single Far           |
| Henderson              | 2      | 2      | 0                | None                                | No       | Condomini            |
| Henderson              | 3      | 2      | 0                | Garden                              |          | Single Far           |
| Henderson              | 3      | 2      | 1                | Traditional                         | No       | Townhouse            |
| Henderson              | 4      | 2      | 1                | Arts and Crafts                     | No       |                      |
| Henderson              | 4      | 3      | 0                | Arts and Crafts, Tra                |          | Single Far           |
| Henderson              | 4<br>3 | 3<br>3 |                  |                                     | Yes      | Single Farr          |
|                        |        |        | 0 Daylight, F    | Nalicii                             |          | Single Far           |
| Henderson              | 3<br>3 | 1<br>2 | 0                | Panah                               | No       | Single Far           |
| Henderson              | 3      | Z      | 0                | Ranch                               | No       | Single Farr          |

| Henderson420 Fully FinishedYesSingle FarHenderson321TraditionalNoSingle FarHenderson320TraditionalNoSingle FarHenderson311 FullTraditionalNoSingle FarHenderson220NoCondominiHenderson21TraditionalNoSingle FarHenderson321TraditionalNoSingle FarHenderson320Arts and Crafts, Ranci NoSingle FarHenderson320Arts and CraftsNoTorwnhousHenderson320Arts and CraftsNoSingle FarHenderson320Basement RanchYesSingle FarHenderson321TraditionalNoSingle FarHenderson321TraditionalNoSingle FarHenderson321TraditionalNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson32 <th>Henderson</th> <th>Λ</th> <th>2</th> <th>0 Fully Finished</th> <th>loc Singlo For</th>  | Henderson | Λ | 2 | 0 Fully Finished  | loc Singlo For |
|--|-----------|---|---|-------------------|----------------|
| Henderson321Traditional<br>Traditional<br>NoSingle Fan<br>Single Fan<br>HendersonHenderson31Full<br>TraditionalNoSingle Fan<br>Single Fan<br>HendersonHenderson220NoCondomini<br>Single Fan<br>HendersonHenderson321Traditional<br>TraditionalNoSingle Fan<br>Single Fan<br>HendersonHenderson320Arts and Crafts, Ranct NoSingle Fan<br>TraditionalHenderson320Arts and Crafts<br>NoNoSingle Fan<br>Single Fan<br>HendersonHenderson320Arts and Crafts<br>NoNoSingle Fan<br>Single Fan<br>HendersonHenderson320Arts and Crafts<br>NoNoSingle Fan<br>Single Fan<br>HendersonHenderson320Basement Ranch<br>NoYesYesHenderson320Cottage<br>Catage<br>NoSingle Fan<br>Single Fan<br>HendersonNoSingle Fan<br>Single Fan<br>HendersonHenderson320Cottage<br>Catage<br>NoSingle Fan<br>Single Fan<br>HendersonNoSingle Fan<br>Single Fan<br>HendersonHenderson320Catage<br>Catage<br>NoSingle Fan<br>Catage<br>NoSingle Fan<br>Single Fan<br>HendersonNoSingle Fan<br>Catage<br>NoSingle Fan<br>Single Fan<br>HendersonNoSingle Fan<br>Catage<br>NoSingle Fan<br>NoSingle Fan<br>Catage<br>NoSingle Fan<br>Single Fan<br>Hen |           |   |   | •                 | U              |
| Henderson320TraditionalNoSingle FarHenderson311 FullTraditionalYesSingle FarHenderson321TraditionalNoCondominiHenderson321TraditionalNoSingle FarHenderson320Arts and Crafts, Ranch NoSingle FarHenderson320Arts and Crafts, Ranch NoSingle FarHenderson320Arts and Crafts, Ranch NoSingle FarHenderson330 Daylight, Exterior Entry, Interior E YesSingle FarHenderson320Basement RanchYesSingle FarHenderson321TraditionalNoSingle FarHenderson320Basement RanchYesSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320Cape Cod, TraditionalNoSingle Far<  |           |   |   | 0                 | 0              |
| Henderson31I FullTraditionalYesSingle FarHenderson220NoCondominiHenderson321TraditionalNoSingle FarHenderson320Arts and Crafts, Rancl NoSingle FarHenderson320Arts and CraftsNoSingle FarHenderson320Arts and CraftsNoSingle FarHenderson330Daylight, Exterior Entry, Interior E YesSingle FarHenderson211NoSingle FarHenderson320Basement RanchYesYesHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320Cate CottageNoSingle FarHenderson320Cate CottageNoSingle FarHenderson320Cate CottageNoSingle FarHenderson320Cate CottageNoSingle FarHenderson320Cate CottageNoSingle FarHenderson3 </td <td></td> <td></td> <td></td> <td></td> <td>0</td>  |           |   |   |                   | 0              |
| Henderson220NoCondominiHenderson321TraditionalNoSingle FarHenderson320Arts and Crafts, Ranct NoSingle FarHenderson321TraditionalNoSingle FarHenderson420Arts and CraftsNoSingle FarHenderson330Daylight, Exterior Entry, Interior EYesSingle FarHenderson321TraditionalNoSingle FarHenderson321TraditionalNoSingle FarHenderson321TraditionalNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320Cape Cod, TraditionalNoSingle FarHenderson320Cape Cod, Tradition  |           |   |   |                   | •              |
| Henderson321TraditionalNoSingle FarHenderson320Arts and Crafts, Rancl NoSingle FarHenderson321TraditionalNoSingle FarHenderson321TraditionalNoSingle FarHenderson330 Daylight, Exterior Entry, Interior E YesSingle FarHenderson211NoSingle FarHenderson320Basement RanchYesSingle FarHenderson321TraditionalNoSingle FarHenderson320Basement RanchYesSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320RanchNoSingle FarHenderson320CottageNoSingle FarHenderson320Catege Cod, TraditionalNoSingle FarHenderson320Catege Cod, TraditionalNoSingle FarHenderson31Arts and Crafts, Tradit NoSingle FarHenderson31Arts and Crafts, Tradit NoSingle FarHenderson31Outfinished CottageYesSingle FarHenderson320Arts and Crafts, Tradit NoCondomini   |           |   |   |                   | 5              |
| Henderson210Exterior EntryYesSingle FanHenderson320Arts and Crafts, Rancl NoSingle FanHenderson420Arts and CraftsNoSingle FanHenderson330Daylight, Exterior Entry, Interior E YesSingle FanHenderson211NoSingle FanHenderson320Basement RanchYesSingle FanHenderson321TraditionalNoSingle FanHenderson320Basement RanchYesSingle FanHenderson320CottageNoSingle FanHenderson320RanchNoSingle FanHenderson320RanchNoSingle FanHenderson320RanchNoSingle FanHenderson320CatageNoSingle FanHenderson320Catecod, TraditionalNoSingle FanHenderson320Cape Cod, TraditionalNoSingle FanHenderson320Cape Cod, TraditionalNoSingle FanHenderson31Daylight, Exterior Entry, Interior EYesSingle FanHenderson31Daylight, Exterior Entry, Interior EYesSingle FanHenderson31Daylight, Exterior Entry, Interio   |           |   |   |                   |                |
| Henderson320Arts and Crafts, Rancl NoSingle FanHenderson321TraditionalNoTownhouseHenderson330Daylight, Exterior Entry, Interior E YesSingle FanHenderson320Basement RanchYesSingle FanHenderson321TraditionalNoSingle FanHenderson321TraditionalNoSingle FanHenderson320Basement RanchYesSingle FanHenderson320CottageNoSingle FanHenderson320CottageNoSingle FanHenderson320CottageNoSingle FanHenderson320CottageNoSingle FanHenderson320CottageNoSingle FanHenderson220NoCondominiHenderson320Catego Cod, TraditionalNoSingle FanHenderson31Arts and Crafts, Tradit NoSingle FanHendersonSingle FanHenderson331Daylight, Exterior Entry, Interior E YesSingle FanHenderson331Daylight, Exterior Entry, Interior E YesSingle FanHenderson331Daylight, Exterior Entry, Interior E YesSingle FanHenderson3<  |           |   |   |                   | 0              |
| Henderson321TraditionalNoTownhoustHenderson420Arts and CraftsNoSingle FarHenderson211NoSingle FarHenderson320BasementRanchYesSingle FarHenderson321TraditionalNoSingle FarHenderson321TraditionalNoSingle FarHenderson320BasementRanchYesSingle FarHenderson320CottageNoSingle FarHenderson320RanchNoSingle FarHenderson320CatageNoSingle FarHenderson320Cape Cod, TraditionalNoTownhoustHenderson320Cape Cod, TraditionalNoSingle FarHenderson320Cape Cod, TraditionalNoSingle FarHenderson320Cape Cod, TraditionalNoSingle FarHenderson31Arts and Crafts, TraditNoSingle FarHenderson331Daylight, Exterior Entry, Interior E YesSingle FarHenderson31OUnfinished CottageYesSingle FarHenderson31OUnfinished CottageYesSingle FarHenderson32 <td< td=""><td></td><td></td><td></td><td>2</td><td>Ū</td></td<>   |           |   |   | 2                 | Ū              |
| Henderson420Arts and CraftsNoSingle FarHenderson211NoSingle FarHenderson320Basement RanchYesSingle FarHenderson321TraditionalNoSingle FarHenderson321TraditionalNoSingle FarHenderson320Basement RanchYesSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson330TraditionalNoSingle FarHenderson320CottageNoSingle FarHenderson320Cape Cod, Traditional NoSingle FarHenderson320Cape Cod, Traditional NoSingle FarHenderson331Arts and Crafts, Tradit NoSingle FarHenderson221NoSingle FarHenderson331Daylight, Exterior Entry, Interior EyesSingle FarHenderson331Daylight, Exterior Entry, Interior EyesSingle FarHenderson331Daylight, Exterior Entry, Interior EyesSingle FarHenderson320Arts and Crafts, Tradit NoSingle  |           |   |   |                   | •              |
| Henderson330 Daylight, Exterior Entry, Interior EYesSingle FarHenderson211NoSingle FarHenderson320 Basement RanchYesSingle FarHenderson321TraditionalNoSingle FarHenderson320Dasement RanchYesSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320RanchNoSingle FarHenderson320CottageNoSingle FarHenderson320Cape Cod, TraditionalNoSingle FarHenderson320Cape Cod, TraditionalNoSingle FarHenderson320Cape Cod, TraditionalNoSingle FarHenderson331Arts and Crafts, Tradit NoSingle FarHenderson221NoSingle FarHenderson230NoCondominiHenderson31Daylight, Exterior Entry, Interior EYesSingle FarHenderson31Outfinished CottageYesSingle FarHenderson320Arts and Crafts, Tradit NoSingle FarHenderson320Arts and CraftsNoCondominiHenderson3<   |           |   |   |                   |                |
| Henderson211NoSingle FarHenderson320Basement RanchYesSingle FarHenderson321TraditionalNoSingle FarHenderson320Basement RanchYesSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320Cape Cod, TraditionalNoSingle FarHenderson331Arts and Crafts, Tradit NoSingle FarHenderson230NoCondominiHenderson331Duylight, Etreiror Entry, Interior E YesSingle FarHenderson320TraditionalYesSingle FarHenderson320Arts and Crafts, Tradit NoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and Crafts, Tradi  |           |   |   |                   | 5              |
| Henderson320Basement RanchYesSingle FarHenderson321TraditionalNoSingle FarHenderson320Basement RanchYesSingle FarHenderson320CottageNoSingle FarHenderson320CottageNoSingle FarHenderson320RanchNoSingle FarHenderson320RanchNoSingle FarHenderson220NoCondominiHenderson320Cape Cod, Traditional NoSingle FarHenderson320Cape Cod, Traditional NoSingle FarHenderson31Arts and Crafts, Tradit NoSingle FarHenderson221NoSingle FarHenderson221NoSingle FarHenderson331Daylight, Exterior Entry, Interior E YesSingle FarHenderson310Unfinished CottageYesSingle FarHenderson320TraditionalYesSingle FarHenderson320Basement TraditionalYesSingle FarHenderson320Basement TraditionalYesSingle FarHenderson320Basement TraditionalNoCondominiHenderson <td< td=""><td></td><td></td><td></td><td></td><td>-</td></td<>   |           |   |   |                   | -              |
| Henderson321TraditionalNoSingle FarHenderson320Basement RanchYesSingle FarHenderson320CottageNoSingle FarHenderson320RanchNoSingle FarHenderson320RanchNoSingle FarHenderson320RanchNoSingle FarHenderson320Cape Cod, TraditionalNoCondominiHenderson320Cape Cod, TraditionalNoSingle FarHenderson320Cape Cod, TraditionalNoSingle FarHenderson320Exterior Entry, Interior EYesSingle FarHenderson221NoSingle FarHenderson221NoSingle FarHenderson331Daylight, Exterior Entry, Interior EYesSingle FarHenderson310Unfinished CottageYesSingle FarHenderson320TraditionalYesSingle FarHenderson320TraditionalYesSingle FarHenderson320BasementNoCondominiHenderson320TraditionalNoCondominiHenderson320Arts and Crafts, Tradit NoTownhouse <t< td=""><td></td><td></td><td></td><td></td><td>0</td></t<>  |           |   |   |                   | 0              |
| Henderson321TraditionalNoSingle FarHenderson320BasementRanchYesSingle FarHenderson320RanchNoSingle FarHenderson320RanchNoSingle FarHenderson320RanchNoSingle FarHenderson320Cape Cod, TraditionalNoTownhoustHenderson320Cape Cod, TraditionalNoSingle FarHenderson320Exterior Er TraditionalYesSingle FarHenderson431Arts and Crafts, Tradit NoSingle FarHenderson221NoSingle FarHenderson230NoCondominiHenderson230NoSingle FarHenderson31O Unfinished CottageYesSingle FarHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320NoCondominiHendersonHenderson320Arts and CraftsNoCondominiHenderson <t< td=""><td></td><td></td><td></td><td></td><td>5</td></t<>  |           |   |   |                   | 5              |
| Henderson320Basement RanchYesSingle FarHenderson320CottageNoSingle FarHenderson330TraditionalNoTownhoustHenderson220NoCondominiHenderson320Cape Cod, Traditional NoSingle FarHenderson320Cape Cod, Traditional NoSingle FarHenderson320Cape Cod, Traditional NoSingle FarHenderson320Cape Cod, Traditional NoSingle FarHenderson221NoSingle FarHenderson221NoSingle FarHenderson221NoSingle FarHenderson331Daylight, Exterior Entry, Interior E YesSingle FarHenderson331Outfinished CottageYesSingle FarHenderson320TraditionalYesSingle FarHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson3   |           |   |   |                   | U              |
| Henderson320CottageNoSingle FarHenderson320RanchNoSingle FarHenderson220NoCondominiHenderson320Cape Cod, Traditional NoSingle FarHenderson320Cape Cod, Traditional NoSingle FarHenderson320Exterior Er TraditionalYesSingle FarHenderson431Arts and Crafts, Tradit NoSingle FarHenderson221NoCondominiHenderson331Daylight, Exterior Entry, Interior E YesSingle FarHenderson230NoCondominiHenderson310Unfinished CottageYesSingle FarHenderson310Unfinished CottageYesSingle FarHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson321Arts and CraftsNoCondominiHenderson321Arts and CraftsNoCondominiHenderson321Arts and Crafts, Tradit NoTownhoustHenderson321Arts and Crafts, Tradit NoTownhoust <t< td=""><td></td><td></td><td></td><td></td><td>0</td></t<>  |           |   |   |                   | 0              |
| Henderson320RanchNoSingle FarHenderson330TraditionalNoTownhousiHenderson220NoCondominiHenderson320Cape Cod, Traditional NoSingle FarHenderson320Exterior Er TraditionalYesSingle FarHenderson431Arts and Crafts, Tradit NoSingle FarHenderson221NoSingle FarHenderson331Daylight, Exterior Entry, Interior E YesSingle FarHenderson331Dufinished CottageYesSingle FarHenderson310Unfinished CottageYesSingle FarHenderson320RaditionalYesSingle FarHenderson320Basement TraditionalYesSingle FarHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit  |           |   |   |                   | 5              |
| Henderson330TraditionalNoTownhoustHenderson220NoCondominiHenderson320Cape Cod, Traditional NoSingle FarrHenderson431Arts and Crafts, Tradit NoSingle FarrHenderson221NoSingle FarrHenderson221NoSingle FarrHenderson331Daylight, Exterior Entry, Interior E YesSingle FarrHenderson230NoCondominiHenderson310Unfinished CottageYesSingle FarrHenderson310Unfinished CottageYesSingle FarrHenderson320Basement TraditionalYesSingle FarrHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson321Arts and Crafts, Tradit NoTownhoustHenderson321Arts and Crafts, Tradit NoTownhoustHenderson321Arts and Crafts, Tradit NoTownhoustHenderson321Arts and Crafts, Tradit NoTownhoustHenderson220NoTownhoustHenderson3 <td></td> <td></td> <td></td> <td>•</td> <td>0</td>   |           |   |   | •                 | 0              |
| Henderson220NoCondominiHenderson320Cape Cod, Traditional NoSingle FarHenderson320Exterior Er TraditionalYesSingle FarHenderson431Arts and Crafts, Tradit NoSingle FarHenderson221NoSingle FarHenderson230NoCondominiHenderson230NoCondominiHenderson230NoCondominiHenderson310Unfinished CottageYesSingle FarHenderson320Basement TraditionalYesSingle FarHenderson320TraditionalYesSingle FarHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson321Arts and Crafts, Tradit NoTownhoustHendersonHenderson321Arts and Crafts, Tradit NoTownhoustHendersonHenderson321Arts and Crafts, Tradit NoTownhoustHenderson22ONoTownhoustHenderson321Arts and Crafts, Tradit NoSingle FarHenderson22O   |           |   |   |                   | 5              |
| Henderson320Cape Cod, Traditional NoSingle FarHenderson320 Exterior Er TraditionalYesSingle FarHenderson431Arts and Crafts, Tradit NoSingle FarHenderson221NoSingle FarHenderson331 Daylight, Exterior Entry, Interior E YesSingle FarHenderson230NoCondominiHenderson310 Unfinished CottageYesSingle FarHenderson320 Basement TraditionalYesSingle FarHenderson320TraditionalYesSingle FarHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson321Arts and Crafts, Tradit NoTownhoustHenderson321Arts and Crafts, Tradit NoTownhoustHenderson321Arts and Crafts, Tradit NoTownhoustHenderson321Arts and Crafts, Tradit NoTownhoustHenderson320NoTownhoustHenderson220NoTownhoustHenderson22 <td></td> <td></td> <td></td> <td></td> <td></td>   |           |   |   |                   |                |
| Henderson320 Exterior Er TraditionalYesSingle FarHenderson431Arts and Crafts, Tradit NoSingle FarHenderson221NoSingle FarHenderson331 Daylight, Exterior Entry, Interior E YesSingle FarHenderson230NoCondominiHenderson310 Unfinished CottageYesSingle FarHenderson320 Basement TraditionalYesSingle FarHenderson320TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Basement RanchNoneYesSingle FarHenderson321Arts and CraftsNoCondominiHenderson321Arts and CraftsNoCondominiHenderson321Arts and Crafts, Tradit NoTownhoustHenderson321Arts and Crafts, Tradit NoTownhoustHenderson220NoTownhoustHenderson220NoTownhoustHenderson220Contempol Mid-RiseNoCondominiHenderson220Contempol Mid-RiseNoCondominiHenderson <td></td> <td></td> <td></td> <td></td> <td></td>  |           |   |   |                   |                |
| Henderson431Arts and Crafts, Tradit NoSingle FarrHenderson221NoSingle FarrHenderson331 Daylight, Exterior Entry, Interior E YesSingle FarrHenderson230NoCondominiHenderson310 Unfinished CottageYesSingle FarrHenderson310 Unfinished CottageYesSingle FarrHenderson320 Basement TraditionalYesSingle FarrHenderson320TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson321Arts and CraftsNoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220Contempol Mid-RiseNo <td></td> <td></td> <td></td> <td></td> <td>÷</td>   |           |   |   |                   | ÷              |
| Henderson221NoSingle FarHenderson331 Daylight, Exterior Entry, Interior E YesSingle FarHenderson230NoCondominiHenderson310 Unfinished CottageYesSingle FarHenderson310 Daylight, E TraditionalYesSingle FarHenderson320Basement TraditionalYesSingle FarHenderson220TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220Contempol Mid-RiseNoHenderson220Contempol Mid-RiseCondominiHenderson220Contempol Mid-RiseNoHenderson120Contempol Mid-RiseNoHenderson <td< td=""><td></td><td></td><td></td><td></td><td>-</td></td<>  |           |   |   |                   | -              |
| Henderson331 Daylight, Exterior Entry, Interior E YesSingle FarrHenderson230NoCondominiHenderson310 Unfinished CottageYesSingle FarrHenderson430 Daylight, E TraditionalYesSingle FarrHenderson320 Basement TraditionalYesSingle FarrHenderson220TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320NoCondominiHenderson320NoCondominiHenderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220Contampol Mid-RiseNoHenderson220CondominiHendersonHenderson120Contampol Mid-Rise <t< td=""><td></td><td></td><td></td><td></td><td>•</td></t<>  |           |   |   |                   | •              |
| Henderson230NoCondominiHenderson310 Unfinished CottageYesSingle FarrHenderson430 Daylight, E TraditionalYesSingle FarrHenderson320 Basement TraditionalYesSingle FarrHenderson220TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220CondominiHenderson220CondominiHenderson220Contempol Mid-RiseNoHenderson331Arts and Crafts, Tradit NoSingle FarrHenderson430TraditionalNoSingl  |           |   |   |                   | 5              |
| Henderson310 Unfinished CottageYesSingle FarrHenderson430 Daylight, E TraditionalYesSingle FarrHenderson320 Basement TraditionalYesSingle FarrHenderson220TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320NoneYesSingle FarrHenderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220Contempol Mid-RiseNoHenderson120Contempol Mid-RiseNoCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson321Arts and Crafts, Tradit NoTownhouse <t< td=""><td></td><td></td><td></td><td></td><td>÷</td></t<>   |           |   |   |                   | ÷              |
| Henderson430 Daylight, E TraditionalYesSingle FarrHenderson320 Basement TraditionalYesSingle FarrHenderson220TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320NoneYesSingle FarrHenderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson120Contempol Mid-RiseNoCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoSi   |           |   |   |                   |                |
| Henderson320Basement TraditionalYesSingle FarrHenderson220TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320Basement RanchNoneYesSingle FarrHenderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321TraditionalNoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson120Contempol Mid-RiseNoHenderson120Contempol Mid-RiseNoHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouse <td></td> <td></td> <td></td> <td>•</td> <td>5</td>  |           |   |   | •                 | 5              |
| Henderson220TraditionalNoCondominiHenderson320Arts and CraftsNoCondominiHenderson320BasementRanchNoneYesSingle FarrHenderson320NoCondominiCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321TraditionalNoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220Contempol Mid-RiseNoHenderson120Contempol Mid-RiseNoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts  |           |   |   |                   | 0              |
| Henderson320Arts and CraftsNoCondominiHenderson320BasementRanchNoneYesSingle FarrHenderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson320NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson120Contempol Mid-RiseNoSingle FarrHenderson120Contempol Mid-RiseNoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoSingle Farr<   |           |   |   |                   | 0              |
| Henderson320 Basement RanchNoneYesSingle FarrHenderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321TraditionalNoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson120Contempol Mid-RiseNoHenderson120Contempol Mid-RiseNoCondominiHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoSingle F  |           |   |   |                   |                |
| Henderson320NoCondominiHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321TraditionalNoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson431Arts and Crafts, Tradit NoSingle FarrHenderson220Contempol Mid-RiseNoCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson331Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson331Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson331Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson32<  |           |   |   |                   |                |
| Henderson321Arts and Crafts, Tradit NoTownhouseHenderson321TraditionalNoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson431Arts and Crafts, Tradit NoSingle FarrHenderson220Contempol Mid-RiseNoCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson120TraditionalNoSingle FarrHenderson331Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321OCabinOtherNoHenderson <td></td> <td></td> <td></td> <td></td> <td></td>   |           |   |   |                   |                |
| Henderson321TraditionalNoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson431Arts and Crafts, Tradit NoSingle FarrHenderson220Contempol Mid-RiseNoCondominiHenderson120Contempol Mid-RiseNoSingle FarrHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321OCabinOtherNoHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson210PartialCottage, TraditionalNoSingle Farr  |           |   |   |                   |                |
| Henderson321Arts and Crafts, Tradit NoTownhouseHenderson220NoTownhouseHenderson220NoTownhouseHenderson431Arts and Crafts, Tradit NoSingle FarrHenderson220Exterior Entry, Partial, Unfinished YesCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson120TraditionalNoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321OCabinOtherNoHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson210PartialCottage, TraditionalNoSingle Farr   |           |   |   |                   |                |
| Henderson220NoTownhouseHenderson220NoTownhouseHenderson431Arts and Crafts, Tradit NoSingle FarHenderson220Exterior Entry, Partial, Unfinished YesCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson120TraditionalNoSingle FarHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321Arts and Crafts, Tradit NoTownhouseHenderson321OCabinOtherHenderson320NoSingle FarHenderson110CabinOtherNoHenderson320NoSingle FarHenderson320NoSingle FarHenderson210PartialCottage, TraditionalNo   |           |   |   |                   |                |
| Henderson220NoTownhouseHenderson431Arts and Crafts, Tradit NoSingle FarrHenderson220Exterior Entry, Partial, Unfinished YesCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson430TraditionalNoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson331 Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson110CabinOtherNoSingle FarrHenderson320NoSingle FarrHenderson210 PartialCottage, TraditionalNoSingle Farr  |           |   |   |                   |                |
| Henderson431Arts and Crafts, Tradit NoSingle FarrHenderson220 Exterior Entry, Partial, Unfinished YesCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson430TraditionalNoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson331 Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson110CabinOtherNoSingle FarrHenderson320NoSingle FarrHenderson210 PartialCottage, TraditionalNoSingle Farr  |           |   |   |                   |                |
| Henderson220 Exterior Entry, Partial, Unfinished YesCondominiHenderson120Contempol Mid-RiseNoCondominiHenderson430TraditionalNoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson331 Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson110CabinOtherNoSingle FarrHenderson320NoSingle FarrHenderson320Single FarrSingle FarrHenderson320Single FarrHenderson210 PartialCottage, TraditionalNoSingle Farr  |           |   |   |                   |                |
| Henderson120Contempor Mid-RiseNoCondominiHenderson430TraditionalNoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson331 Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson110CabinOtherNoSingle FarrHenderson320NoSingle FarrHenderson210 PartialCottage, TraditionalNoSingle Farr  |           |   |   |                   | •              |
| Henderson430TraditionalNoSingle FarrHenderson321Arts and Crafts, Tradit NoTownhouseHenderson331 Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson110CabinOtherNoSingle FarrHenderson320NoSingle FarrHenderson320NoSingle FarrHenderson210 PartialCottage, TraditionalNoSingle Farr  |           |   |   |                   |                |
| Henderson321Arts and Crafts, Tradit NoTownhouseHenderson331 Daylight, Exterior Entry, Fully Fini YesSingle FarrHenderson110CabinOtherNoSingle FarrHenderson320NoSingle FarrHenderson210 PartialCottage, TraditionalNoSingle Farr   |           |   |   | •                 |                |
| Henderson331 Daylight, Exterior Entry, Fully Fini YesSingle FarHenderson110CabinOtherNoSingle FarHenderson320NoSingle FarHenderson210 PartialCottage, TraditionalNoSingle Far  |           |   |   |                   | 5              |
| Henderson110CabinOtherNoSingle FarrHenderson320NoSingle FarrHenderson210 PartialCottage, TraditionalNoSingle Farr  |           |   |   | -                 |                |
| Henderson320NoSingle FarrHenderson210 PartialCottage, TraditionalNoSingle Farr   |           |   |   |                   | -              |
| Henderson210 PartialCottage, TraditionalNoSingle Far   |           |   |   |                   | U              |
|  |           |   |   |                   | 0              |
| Henderson320 UnfinishedYesSingle Farr  |           |   |   | <b>0</b> <i>i</i> | 0              |
|  | Henderson | 3 | 2 | 0 Unfinished      | es Single Farr |

| Henderson              | 2      | 2      | 0 Other          | Ranch                    | Yes           | Single For                 |
|------------------------|--------|--------|------------------|--------------------------|---------------|----------------------------|
| Henderson              | 3<br>3 | 2      | 0 000            | Nation                   | No            | Single Farr<br>Single Farr |
| Henderson              | 4      | 3      | 0                | Traditional              | No            | Single Far                 |
| Henderson              | 3      | 2      | 0 Bath/Stu       |                          | Yes           | Single Far                 |
| Henderson              | 3      | 2      | 0                |                          | No            | Condomini                  |
| Henderson              | 3      | 2      | 0                | Ranch                    | No            | Single Farr                |
| Henderson              | 4      | 3      | 1                | Arts and Crafts, Tra     |               | Single Far                 |
| Henderson              | 3      | 2      | 0                | Arts and Crafts, Ha      |               | Single Far                 |
| Henderson              | 1      | 1      | 0 Other          | High-Ris                 | •             | Condomini                  |
| Henderson              | 2      | 1      | 1                | r ligh-ixia              | No            | Condomini                  |
| Henderson              | 4      | 3      | 1                | Traditional              | No            | Single Far                 |
| Henderson              | 2      | 1      | 0                | Cabin                    | No            | Single Far                 |
| Henderson              | 3      | 3      | 1                | Cabin                    | No            | Townhouse                  |
| Henderson              | 4      | 3      | 1                | Arts and Crafts, Tra     |               | Single Farr                |
| Henderson              | 3      | 3      | 0 Apartme        |                          | Yes           | Single Far                 |
| Henderson              | 2      | 2      | 0 Apartine       | Cottage                  | No            | Single Far                 |
| Henderson              | 1      | 1      | 0 Exterior       | -                        | Yes           | Condomini                  |
| Henderson              | 3      | 1      |                  | Entry                    | No            | Single Far                 |
| Henderson              | 2      | 2      | 0                | Ranch                    | No            | Single Far                 |
| Henderson              | 5      | 4      | 0                | Traditional              | No            | 0                          |
| Henderson              | 3      | 4      | 0                | Arts and Crafts, Co      |               | Single Farr<br>Condomini   |
| Henderson              | 3      | 2      |                  | Traditional              | No            |                            |
| Henderson              | 3<br>4 | 2      | 1<br>0           | Traditional              | No            | Single Far                 |
| Henderson              |        | 2      | 0                | Arts and Crafts, Tra     |               | Single Far                 |
| Henderson              | 3<br>4 | 2      | •                |                          |               | Single Farr<br>Townhouse   |
| Henderson              | 4<br>2 | 3<br>1 |                  | Entry, Fully Finished, I |               |                            |
| Henderson              | 2      | 3      | 0<br>0 Basama    | Cabin, Cottage           | No<br>Ior Xoo | Single Far                 |
| Henderson              |        | 2      | 0 Unfinish       | nt Garage Door, Exteri   |               | Single Far                 |
| Henderson              | 1<br>5 | 2      |                  | Farmhouse                | Yes<br>No     | Single Far                 |
| Henderson              | 3      | 2      | 1                | Other                    |               | Single Far                 |
|                        |        | 2      | 0<br>1           | Traditional              | No            | Single Farr                |
| Henderson              | 3      | 2      | -                |                          | No            | Townhouse                  |
| Henderson              | 3      |        |                  | Er Cape Cod              | Yes<br>No     | Single Far                 |
| Henderson              | 4      | 3      | 0                | Traditional              |               | Single Farr                |
| Henderson<br>Henderson | 3      | 2<br>2 | 0                | Traditional              | No            | Condomini<br>Townhouse     |
|                        | 3      |        | 1                | Traditional              | No            |                            |
| Henderson<br>Henderson | 2<br>2 | 2<br>2 | 0                | Traditional              | No            | Condomini                  |
|                        |        |        | 0                |                          | No            | Single Far                 |
| Henderson              | 3      | 2<br>3 | 0                | Arts and Crafts, Tra     |               | Single Far                 |
| Henderson              | 4      |        | 1<br>0 Deceme    | nt Chan Exterior Entry   | No            | Single Farr                |
| Henderson              | 2      | 2      |                  | nt Shop, Exterior Entry  |               | Condomini                  |
| Henderson              | 3      | 1      | 1<br>0 Deviliant |                          | No            | Single Far                 |
| Henderson              | 3      | 3      |                  | , E Cottage None         | Yes           | Single Far                 |
| Henderson              | 3      | 2      | 0                | Traditional              | No            | Single Far                 |
| Henderson              | 3      | 2      | 1                | Arte and Orafta          | No            | Townhouse                  |
| Henderson              | 3      | 2      | 0                | Arts and Crafts          | No            | Single Far                 |
| Henderson              | 2      | 2      | 0                | Traditional              | No            | Single Far                 |
| Henderson              | 3      | 2      | 1                | Traditional              | No            | Single Far                 |
| Henderson              | 3      | 2      | 0<br>0 Deviloret | Ranch                    | No            | Single Far                 |
| Henderson              | 4      | 3      | U Daylight       | , Fully Finished         | Yes           | Townhouse                  |

| Henderson | 4      | 2      | 1              | Traditional          | No      | Single For  |
|-----------|--------|--------|----------------|----------------------|---------|-------------|
| Henderson | 4<br>4 | 2      | 1              | Taullional           | No      | Single Far  |
| Henderson |        | 3      | -              | Arts and Crafts      | No      | Single Far  |
| Henderson | 4<br>3 | 3<br>2 | 1<br>0         |                      |         | Single Far  |
| Henderson | 3<br>1 | 2      |                | Arts and Crafts, Tra |         | Single Far  |
|           |        |        | 0 Dirt Flo     |                      | No      | Single Far  |
| Henderson | 2      | 2      | 0<br>0 Exterio | Manufac              |         | Single Far  |
| Henderson | 2      | 2      |                | r Er Ranch           | Yes     | Single Far  |
| Henderson | 2      | 2      | 0              | <b>D</b> 1           | No      | Townhouse   |
| Henderson | 2      | 2      | 0              | Ranch                | No      | Single Far  |
| Henderson | 4      | 2      | 1              | Traditional          | No      | Single Far  |
| Henderson | 2      | 1      | 0              | Bungalow             | No      | Single Far  |
| Henderson | 1      | 1      | 0              | Cabin                | No      | Single Far  |
| Henderson | 2      | 2      | 0              | Arts and C Duplex    | No      | Townhouse   |
| Henderson | 4      | 2      | 0              | Manufac              |         | Single Farr |
| Henderson | 3      | 2      | 1              | Arts and Crafts, Tra |         | Townhouse   |
| Henderson | 5      | 2      |                | Entry, Unfinished    | Yes     | Single Farr |
| Henderson | 3      | 1      | 0 Dirt Flo     | oor Arts and Crafts  | Yes     | Single Farr |
| Henderson | 3      | 2      | 1              | Arts and Crafts, Tra | adit No | Townhouse   |
| Henderson | 3      | 2      | 2 Partial      | y Fil Contemporary   | Yes     | Single Farr |
| Henderson | 2      | 2      | 0              | Traditional          | No      | Condomini   |
| Henderson | 3      | 2      | 0              |                      | No      | Single Farr |
| Henderson | 3      | 2      | 1              |                      | No      | Condomini   |
| Henderson | 3      | 2      | 0              |                      | No      | Single Farr |
| Henderson | 2      | 3      | 0 Other        |                      | No      | Condomini   |
| Henderson | 3      | 2      | 1              | Traditional          | No      | Townhouse   |
| Henderson | 3      | 2      | 0              | Ranch, Traditional   | No      | Single Farr |
| Henderson | 3      | 2      | 1 Dirt Flo     | or, Traditional      | No      | Single Farr |
| Henderson | 3      | 2      | 0              | Traditional          | No      | Single Farr |
| Henderson | 2      | 1      | 0 Exterio      | r Entry              | Yes     | Single Farr |
| Henderson | 2      | 2      | 0              | Arts and Crafts, Ra  | ncl No  | Single Farr |
| Henderson | 3      | 2      | 0              | Other                | No      | Single Farr |
| Henderson | 4      | 3      | 1              | Arts and Crafts      | No      | Single Farr |
| Henderson | 0      | 0      | 0              | Bungalow             | No      | Single Farr |
| Henderson | 3      | 2      | 0              | Manufac              |         | Single Farr |
| Henderson | 4      | 3      |                | y Finished           | Yes     | Single Farr |
| Henderson | 3      | 1      | 0              | Ranch                | No      | Single Farr |
| Henderson | 2      | 1      | 0 Dirt Flo     |                      | No      | Single Far  |
| Henderson | 2      | 1      | 0              |                      | No      | Single Far  |
| Henderson | 3      | 2      | 1              | Traditional          | No      | Townhouse   |
| Henderson | 2      | 2      | 0              | Ranch                | No      | Single Far  |
| Henderson | 2      | 2      | 0              |                      | No      | Condomini   |
| Henderson | 2      | 2      | 0              |                      | No      | Single Farr |
|           | 2      | ~      | U              |                      |         | Single Fail |

| Original List int Drigg                        |                                | Total Driver |       |       |                        |
|--|--------------------------------|--------------|-------|-------|------------------------|
| Original Lis List Price<br>\$305,900 \$305,900 | Close Price\$/SqFt<br>\$318.65 | 960          |       |       | Subdivisior Waterfront |
|  | •                              |              | 0     | 960   | Apple Terrace          |
| \$225,000 \$200,000                            | \$166.67                       | 1,200        | 0     | 000   | Barker Heights         |
| \$300,000 \$300,000                            | \$277.78                       | 1,080        | 0     | 900   | Barker Heights         |
| \$525,000 \$479,999                            | \$235.87                       | 2,035        | 0     | 4 000 | Beacon Commons         |
| \$825,000 \$825,000                            | \$296.98                       | 2,778        | 804   | 1,028 | Beaumont Estates       |
| \$415,000 \$400,000                            | \$220.02                       | 1,818        | 0     |       | Blue Ridge Villas      |
| \$330,000 \$330,000                            | \$222.52                       | 1,483        | 0     | 0     | Blue Ridge Villas      |
| \$300,000 \$300,000                            | \$227.27                       | 1,320        | 0     |       | Britton Cre None       |
| \$324,900 \$309,900                            | \$222.95                       | 1,390        | 0     |       | Britton Creek          |
| \$265,000 \$265,000                            | \$200.76                       | 1,320        | 0     |       | Britton Cre None       |
| \$500,000 \$460,000                            | \$157.80                       | 2,915        | 0     |       | Brookland Manor        |
| \$385,000 \$385,000                            | \$193.66                       | 1,988        | 0     | 1,988 | Brookland None         |
| \$541,395 \$541,395                            | \$173.91                       | 3,113        | 0     |       | Cantrell Hills         |
| \$524,790 \$524,790                            | \$193.79                       | 2,708        | 0     |       | Cantrell Hills         |
| \$528,845 \$528,845                            | \$169.88                       | 3,113        | 0     |       | Cantrell Hills         |
| \$462,465 \$462,465                            | \$291.22                       | 1,588        | 0     |       | Cantrell Hills         |
| \$483,190 \$483,190                            | \$256.61                       | 1,883        | 0     |       | Cantrell Hills         |
| \$528,940 \$528,940                            | \$169.91                       | 3,113        | 0     |       | Cantrell Hills         |
| \$579,900 \$579,900                            | \$186.28                       | 3,113        | 0     |       | Cantrell Hills         |
| \$469,900 \$464,900                            | \$277.39                       | 1,676        | 0     |       | Cantrell Hills         |
| \$481,190 \$484,190                            | \$257.14                       | 1,883        | 0     | 0     | Cantrell Hills         |
| \$495,445 \$497,420                            | \$192.20                       | 2,588        | 0     |       | Cantrell Hills         |
| \$535,000 \$530,000                            | \$204.79                       | 2,588        | 0     | 0     | Cantrell Hills         |
| \$520,085 \$520,085                            | \$192.06                       | 2,708        | 0     | -     | Cantrell Hills         |
| \$505,845 \$505,845                            | \$197.75                       | 2,558        | 0     |       | Cantrell Hills         |
| \$526,280 \$526,280                            | \$169.06                       | 3,113        | 0     | 0     | Cantrell Hills         |
| \$494,085 \$494,085                            | \$190.91                       | 2,588        | 0     | Ũ     | Cantrell Hills         |
| \$470,420 \$455,765                            | \$253.77                       | 1,796        | 0     | 0     | Cantrell Hills         |
| \$468,435 \$458,800                            | \$198.61                       | 2,310        | 0     |       | Cantrell Hills         |
| \$519,435 \$519,435                            | \$166.33                       | 3,123        | 0     |       | Cantrell Hills         |
| \$501,545 \$501,545                            | \$196.07                       | 2,558        | 0     | 0     | Cantrell Hills         |
| \$534,060 \$534,060                            | \$171.56                       | 3,113        | 0     | 0     | Cantrell Hills         |
| \$520,490 \$520,490                            | \$192.20                       | 2,708        | 0     | 0     | Cantrell Hills         |
| \$520,885 \$520,885                            | \$192.35                       | 2,708        | 0     | 0     | CANTRELL HILLS         |
| \$527,290 \$527,290                            | \$169.38                       | 3,113        | 0     |       | Cantrell Hills         |
| \$458,730 \$449,192                            | \$282.87                       | 1,588        | 0     |       | Cantrell Hills         |
| \$541,735 \$541,735                            | \$202.07                       | 3,123        | 0     |       | Cantrell Hills         |
| \$935,000 \$885,000                            | \$230.29                       | 3,123        | 1,858 | 0     | Carriage Park          |
|  |                                |              |       | 100   | 0                      |
| ######################################         | •                              | 3,545        | 1,674 | 190   | Champion Hills         |
| \$275,000 \$275,000                            | \$167.48                       | 1,642        | 550   |       | Cold Spring Park       |
| \$250,000 \$249,000                            | \$267.74                       | 930          | 0     |       | Colonial Manage        |
| \$280,000 \$250,000                            | \$220.07                       | 1,136        | 0     |       | Colonial Manor         |
| \$224,500 \$224,500                            | \$194.88                       | 1,152        | 0     |       | Columbia Park          |
| \$339,000 \$339,000                            | \$304.58                       | 1,113        | 0     |       | Columbia Park          |
| \$359,000 \$359,000                            | \$346.53                       | 1,036        | 0     | o     | Cottages at Toms Hill  |
|  | •                              | 7,582        | 2,344 | 815   | Creekside              |
| \$659,500 \$659,500                            | \$410.39                       | 1,607        | 0     | -     | Cummings None          |
| \$699,000 \$699,000                            | \$367.89                       | 1,900        | 0     | 0     | Cummings Cove          |
|  |                                |              |       |       |                        |

| \$477,400              | \$425,000              | \$178.57             | 2,380          | 752    | 704   | Dellwood None                        |
|------------------------|------------------------|----------------------|----------------|--------|-------|--------------------------------------|
| \$300,000              | \$290,000              | \$164.12             | 1,767          | 0      |       | Felix Lake                           |
| \$575,000              | \$540,000              | \$207.29             | 2,605          | 786    | ,     | Fish Hawk Pointe                     |
| \$425,000              | \$425,000              | \$267.63             | 1,588          | 0      | 0     | Gann Villa(None                      |
| \$469,000              | \$469,000              | \$167.86             | 2,794          | 948    | 633   | Gann Village                         |
| \$895,000              | \$895,000              | \$368.62             | 2,428          | 0      |       | Glenbrook                            |
| \$469,000              | \$450,000              | \$201.52             | 2,233          | 945    | 343   | Hamiltons Landing                    |
| \$495,000              | \$495,000              | \$227.38             | 2,177          | 618    | 722   | Haywood Knolls                       |
| \$239,900              | \$229,900              | \$228.98             | 1,004          | 0      | 0     | Haywood NNone                        |
| \$225,000              | \$225,000              | \$220.37             | 1,021          | 0      |       | Haywood Manor                        |
| \$337,000              | \$337,000              | \$265.98             | 1,267          | 0      |       | Haywood Townes                       |
| \$425,000              | \$424,000              | \$296.71             | 1,429          | 0      |       | Henderson Village                    |
| \$525,000              | \$475,000              | \$307.44             | 1,545          | 0      | 1,186 | Henderson Village                    |
| \$465,000              | \$450,000              | \$312.72             | 1,439          | 0      | 0     | Henderson None                       |
| \$225,000              | \$199,000              | \$261.50             | 761            | 0      |       | Hillside Park                        |
| \$235,000              | \$235,000              | \$269.19             | 873            | 0      |       | Holly Crest                          |
| \$229,000              | \$229,000              | \$248.91             | 920            | 0      | 0     | Holly Crest None                     |
| \$874,900              | \$824,900              | \$258.83             | 3,187          | 392    |       | Hyman Heights                        |
| \$430,000              | \$430,000              | \$290.54             | 1,480          | 0      |       | Hyman Heights                        |
| \$568,000              | \$568,000              | \$184.06             | 3,086          | 1,034  |       | Indian Hill None                     |
| \$300,000              | \$285,000              | \$189.49             | 1,504          | 0      |       | Kensington Court                     |
| \$415,000              | \$415,000              | \$269.48             | 1,540          | 0      |       | Lake Pointe Landing                  |
| \$450,000              | \$440,000              | \$345.64             | 1,273          | 0      |       | Lakeview E Other - See               |
| \$65,000               | \$599,000              | \$441.74             | 1,356          | 0      |       | Laurel Park                          |
| \$425,000              | \$425,000              | \$227.64             | 1,867          | 667    |       | Laurel Park Place                    |
| \$383,000              | \$383,000              | \$199.79             | 1,917          | 647    |       | Laurel Park Place                    |
| \$299,000              | \$299,000              | \$276.85             | 1,080          | 0      | 0     | Lenox Park                           |
| \$247,900              | \$247,900              | \$248.90             | 996            | 0      | Ũ     | Morningsid None                      |
| \$315,000              | \$320,000              | \$333.68             | 959            | 0      |       | None                                 |
| \$345,000              | \$345,000              | \$362.78             | 951            | 0      |       | None                                 |
| \$385,000              | \$385,000              | \$313.52             | 1,228          | 0      |       | none                                 |
| \$629,000              | \$599,000              | \$338.61             | 1,769          | 0      | 800   | None                                 |
|                        | ########               | \$716.34             | 2,087          | 0      | 000   | None                                 |
| \$537,000              | \$517,000              | \$255.06             | 2,027          | 0      |       | None                                 |
| \$224,900              | \$224,900              | \$241.57             | 931            | 0      |       | None                                 |
| ##########             |                        | \$615.38             | 2,600          | 0      | 2,400 |                                      |
| \$450,000              | \$450,000              | \$336.83             | 1,336          | 0      | 2,100 | None                                 |
| \$478,000              | \$478,000              | \$292.89             | 1,632          | 200    |       | none                                 |
| ##########             |                        | \$192.51             | 7,792          | 0      | 3,886 |                                      |
| \$575,000              | \$575,000              | \$155.41             | 3,700          | 0      |       | None                                 |
| \$340,000              | \$340,000              | \$269.20             | 1,263          | 0      | 0     | none                                 |
| \$340,000              | \$340,000              | \$194.51             | 1,748          | 262    | 280   | None                                 |
| \$340,000<br>\$315,000 | \$315,000              | \$328.47             | 959            | 0      | 200   | None                                 |
| \$349,000              | \$349,000              | \$271.38             | 1,286          | 0      |       | none                                 |
|                        | \$349,000<br>########  | \$347.05             | 4,034          | 0      |       | None                                 |
| \$285,000              | \$285,000              | \$347.05<br>\$169.64 | 4,034<br>1,680 | 0      |       | None                                 |
| \$285,000<br>\$229,000 | \$285,000<br>\$229,000 | \$169.64<br>\$238.54 | 960            | 0      |       | Oak View Terrace                     |
| \$229,000<br>\$400,000 |                        |                      |                |        | 1 606 |                                      |
| \$400,000<br>\$800,000 | \$400,000<br>\$800,000 | \$250.78<br>\$441.50 | 1,595<br>1,812 | 0<br>0 | 1,595 | Oklawaha Garden<br>Osceola Lake Park |
| φ000,000               | ψ000,000               | ψ++1.50              | 1,012          | U      |       | USUEUIA LANE FAIK                    |

| \$448,000              | \$448,000                               | \$175.48                                | 2,553          | 0      | 1,563 Pace Estates                               |
|------------------------|---|---|----------------|--------|--|
| \$559,900              | \$534,900                               | \$245.25                                | 2,181          | 0      | Park Place                                       |
| \$554,000              | \$514,000                               | \$235.89                                | 2,179          | 0      | Park Place                                       |
| \$355,000              | \$320,000                               | \$253.57                                | 1,262          | 0      | Plantation Walk                                  |
| \$425,000              | \$425,000                               | \$308.42                                | 1,378          | 0      | Plantation None                                  |
| \$395,000              | \$395,000                               | \$269.62                                | 1,465          | 0      | Plantation None                                  |
| \$325,000              | \$319,000                               | \$196.91                                | 1,620          | 0      | Poplar Top                                       |
| \$325,000              | \$325,000                               | \$200.62                                | 1,620          | 0      | Poplar Top                                       |
| \$397,990              | \$372,990                               | \$274.26                                | 1,360          | 0      | Providence Walk                                  |
| \$399,490              | \$374,490                               | \$259.52                                | 1,443          | 0      | Providence Walk                                  |
| \$399,490              | \$374,490                               | \$259.52                                | 1,443          | 0      | Providence Walk                                  |
| \$424,240              | \$399,240                               | \$228.27                                | 1,749          | 0      | Providence Walk                                  |
| \$425,240              | \$400,240                               | \$228.84                                | 1,749          | 0      | Providence Walk                                  |
| \$428,140              | \$413,858                               | \$236.63                                | 1,749          | 0      | Providence Walk                                  |
| \$428,140              | \$414,669                               | \$237.09                                | 1,749          | 0      | Providence Walk                                  |
| \$442,340              | \$433,537                               | \$199.42                                | 2,174          | 0      | Providence Walk                                  |
| \$442,340              | \$449,796                               | \$189.95                                | 2,368          | 0      | Providence Walk                                  |
| \$438,240              | \$423,240                               | \$194.68                                | 2,174          | 0      | Providence Walk                                  |
| \$436,990              | \$436,990                               | \$201.01                                | 2,174          | 0      | Providence Walk                                  |
| \$422,240              | \$397,240                               | \$227.12                                | 1,749          | 0      | Providence Walk                                  |
|                        | #########                               | \$330.77                                | 3,552          | 1,177  | 1,197 Ridgeview At Sweetwa                       |
| \$190,000              | \$190,000                               | \$130.49                                | 1,456          | 0      | Rolling Oaks                                     |
| #########              |   | \$827.59                                | 2,900          | 0      | Southern Visions                                 |
| \$435,000              | \$399,000                               | \$326.51                                | 1,222          | 0      | Stoney Gardens                                   |
| \$215,000              | \$169,000                               | ¢020101                                 | 0              | 0      | Sylvan Heights                                   |
| \$435,000              | \$435,000                               | \$283.57                                | 1,534          | 0      | 454 Sylvan Heights                               |
| #########              | · ·                                     | ####################################### | 1,390          | 0      | The Cedars                                       |
| \$319,000              | \$319,000                               | \$271.95                                | 1,173          | 0      | The Cloisters                                    |
| \$455,000              | \$455,000                               | \$223.92                                | 2,032          | 769    | The Cottages at Cypre                            |
| \$397,500              | \$397,500                               | \$255.63                                | 1,555          | 0      | The Oaks   |
| \$379,900              | \$379,900                               | \$256.52                                | 1,481          | 0      | The Oaks   |
| \$450,000              | \$450,000                               | \$218.87                                | 2,056          | 0      | The Oaks   |
| \$412,500              | \$395,500                               | \$254.83                                | 1,552          | 0      | The Willows                                      |
| \$375,000              | \$375,000                               | \$230.06                                | 1,630          | 0      | The Willows                                      |
|                        | ####################################### | \$324.43                                | 4,004          | 0      | 1,672 Thornhill                                  |
| \$605,000              | \$605,000                               | \$205.64                                | 2,942          | 0      | Towne Place                                      |
| \$625,000              | \$599,000                               | \$236.29                                | 2,535          | 0      | Towne Place                                      |
| \$349,900              | \$338,190                               | \$213.77                                | 1,582          | 0      | Townes at Stonecrest                             |
| \$389,000              | \$389,000                               | \$207.80                                | 1,872          | 0      | Townes at Stonecrest                             |
| \$384,145              | \$380,306                               | \$214.38                                | 1,774          | 0      | 0 Townes at Stonecrest                           |
| \$351,265              | \$351,265                               | \$206.75                                | 1,699          | 0      | 0 Townes at Stonecrest                           |
| \$350,690              | \$350,690                               | \$209.49                                | 1,674          | 0      | 0 Townes at Stonecrest                           |
| \$355,190              | \$355,190                               | \$209.49                                | 1,674          | 0      | 0 Townes at Stonecrest                           |
| \$355,190              | \$355,190<br>\$355,190                  | \$212.18<br>\$212.18                    | 1,674          | 0      | 0 Townes at Stonecrest<br>0 Townes at Stonecrest |
| \$358,265              | \$358,265                               | \$212.16<br>\$210.87                    | 1,674          | 0      | 0 Townes at Stonecrest<br>0 Townes at Stonecrest |
| \$384,145              |   |   | 1,099          |        | 0 Townes at Stonecrest<br>0 Townes at Stonecrest |
|                        | \$384,145<br>\$340,100                  | \$216.54<br>\$208.60                    |                | 0      | 0 Townes at Stonecrest<br>0 Townes at Stonecrest |
| \$355,190<br>\$374,145 | \$349,190<br>\$374 145                  | \$208.60<br>\$210.00                    | 1,674<br>1,774 | 0      |  |
| \$374,145<br>\$252,765 | \$374,145<br>\$252,765                  | \$210.90<br>\$208.22                    | 1,774          | 0<br>0 | 0 Townes at Stonecrest                           |
| \$353,765              | \$353,765                               | \$208.22                                | 1,699          | U      | 0 Townes at Stonecrest                           |

| \$384,145 | \$387,345 |           | \$218.35 | 1,774 | 0     | 0 Townes at Stonecrest |
|-----------|-----------|-----------|----------|-------|-------|------------------------|
| \$376,645 | \$376,645 |           | \$212.31 | 1,774 | 0     | 0 Townes at Stonecrest |
| \$357,265 | \$358,390 |           | \$210.94 | 1,699 | 0     | 0 Townes at Stonecrest |
| \$358,265 | \$358,265 |           | \$210.87 | 1,699 | 0     | 0 Townes at Stonecrest |
| \$385,000 | \$375,000 |           | \$207.41 | 1,808 | 0     | 1,507 Wanteska Valley  |
| \$440,000 | \$435,000 |           | \$290.78 | 1,496 | 0     | Wolfpen                |
| \$435,000 | \$435,000 |           | \$290.00 | 1,500 | 0     | 0 Wolfpen              |
| \$455,000 | \$455,000 |           | \$254.76 | 1,786 | 0     | Wolfpen                |
| \$367,000 | \$367,000 |           | \$277.82 | 1,321 | 0     | Wolfpen                |
| \$295,000 | \$295,000 |           | \$237.90 | 1,240 | 0     | Wolfpen                |
| \$479,000 | \$479,000 |           | \$252.11 | 1,900 | 0     | Wolfpen                |
| \$300,000 | \$300,000 |           | \$235.29 | 1,275 | 0     | Wolfpen                |
| \$290,000 | \$290,000 |           | \$234.82 | 1,235 | 0     | Wolfpen                |
| \$315,000 | \$315,000 |           | \$310.34 | 1,015 | 0     | 0 Woodlawn             |
| \$386,944 | \$386,944 | \$388,544 | \$219.02 | 1,774 | 0     | 0 Townes at Stonecrest |
| \$521,360 | \$521,360 | \$521,360 | \$192.53 | 2,708 | 0     | 0 CANTRELL HILLS       |
| \$522,470 | \$522,470 | \$522,470 | \$167.30 | 3,123 | 0     | 0 Cantrell Hills       |
| \$300,000 | \$300,000 | \$300,000 | \$197.76 | 1,517 | 0     | Riverwind              |
| \$365,000 | \$365,000 | \$355,000 | \$253.93 | 1,398 | 0     | Spring Village Townhc  |
| \$485,445 | \$485,445 | \$485,445 | \$214.99 | 2,258 | 0     | 0 Cantrell Hills       |
| \$352,064 | \$345,023 | \$341,573 | \$201.04 | 1,699 | 0     | 0 Townes at Stonecrest |
| \$360,989 | \$349,849 | \$349,849 | \$208.99 | 1,674 | 0     | Townes at Stonecrest   |
| \$465,000 | \$465,000 | \$445,000 | \$223.73 | 1,989 | 0     | Beacon Commons         |
| \$542,000 | \$542,000 | \$501,000 | \$256.13 | 1,956 | 0     | Carriage Park          |
| \$385,000 | \$385,000 | \$350,000 | \$360.08 | 972   | 0     | none                   |
| \$454,000 | \$470,000 | \$465,000 | \$207.96 | 2,236 | 728   | Stoney Crest           |
| \$457,900 | \$457,900 | \$461,720 | \$267.04 | 1,729 | 0     | WOLFPEN                |
| \$310,000 | \$310,000 | \$302,500 | \$258.55 | 1,170 | 390   | Barker Hei None        |
| \$265,000 | \$265,000 | \$285,000 | \$195.47 | 1,458 | 0     | Haywood F None         |
| \$386,944 | \$379,205 | \$369,000 | \$208.00 | 1,774 | 0     | 0 Townes at Stonecrest |
| \$368,622 | \$368,622 | \$368,622 | \$207.79 | 1,774 | 0     | 0 Townes at Stonecrest |
| \$351,265 | \$344,240 | \$344,240 | \$202.61 | 1,699 | 0     | 0 Townes at Stonecrest |
| \$250,000 | \$250,000 | \$247,500 | \$248.49 | 996   | 0     | Morningside Condos     |
| nily      | \$830,000 | \$830,000 | \$368.89 | 2,250 | 0     | Tebeau Terrace         |
| \$325,000 | \$325,000 | \$275,000 | \$238.92 | 1,151 | 0     | Cottages at Toms Hill  |
| \$350,000 | \$350,000 | \$350,000 | \$354.61 | 987   | 0     | None                   |
| \$600,000 | \$600,000 | \$599,000 | \$345.44 | 1,734 | 0     | Glenbrook              |
| \$600,000 | \$600,000 | \$597,800 | \$211.69 | 2,824 | 0     | Towne Place            |
| \$292,977 | \$292,977 | \$289,400 | \$226.45 | 1,278 | 0     | Wolfpen                |
| \$341,226 | \$341,226 | \$337,426 | \$201.57 | 1,674 | 0     | 0 Townes at Stonecrest |
| \$335,000 | \$335,000 | \$325,000 | \$290.96 | 1,117 | 0     | None                   |
| \$405,000 | \$405,000 | \$395,000 | \$258.51 | 1,528 | 0     | The Oaks               |
| \$405,000 | \$389,000 | \$374,000 | \$210.47 | 1,777 | 0     | Blue Ridge Villas      |
| \$374,145 | \$366,662 | \$368,262 | \$213.49 | 1,725 | 0     | 0 Townes at Stonecrest |
| \$520,695 | \$520,695 | \$521,820 | \$192.70 | 2,708 | 0     | Cantrell Hills         |
| \$519,230 | \$519,230 | \$519,230 | \$190.33 | 2,728 | 0     | 0 CANTRELL HILLS       |
| \$625,000 | \$625,000 | \$615,000 | \$194.25 | 3,166 | 1,383 | None                   |
| \$369,000 | \$369,000 | \$361,000 | \$400.67 | 901   | 0     | Henderson Estates      |
| \$415,000 | \$415,000 | \$415,000 | \$329.37 | 1,260 | 0     | Forest Heights         |
|           |           |           |          |       |       |                        |

| \$625,000              | \$590,000              | \$562,500              | \$208.33             | 2,700 | 700    |       | Hickory Hill                |
|------------------------|------------------------|------------------------|----------------------|-------|--------|-------|-----------------------------|
| \$149,900              | \$149,900              | \$140,000              |                      | 0     | 0      |       | None                        |
| \$399,900              | \$399,900              | \$398,560              | \$279.89             | 1,424 | 0      | 0     | Lenox Park                  |
| \$399,900              | \$374,900              | \$370,000              | \$273.26             | 1,354 | 0      | 0     | None                        |
| \$325,000              | \$325,000              | \$300,000              | \$138.82             | 2,161 | 601    | 274   | None                        |
| \$299,000              | \$299,000              | \$280,000              | \$230.26             | 1,216 | 0      |       | Britton Creek               |
| \$472,715              | \$472,715              | \$467,988              | \$202.59             | 2,310 | 0      | 0     | Cantrell Hills              |
| \$325,000              | \$299,000              | \$275,000              | \$397.97             | 691   | 0      | 403   | None                        |
| \$513,105              | \$513,105              | \$513,105              | \$216.68             | 2,368 | 0      | 0     | Cantrell Hills              |
| \$347,989              | \$347,989              | \$344,509              | \$205.80             | 1,674 | 0      | 0     | Townes at Stonecrest        |
| \$482,130              | \$482,130              | \$482,130              | \$255.37             | 1,888 | 0      | 0     | Cantrell Hills              |
| \$697,500              | \$696,500              | \$701,500              | \$323.87             | 2,166 | 812    |       | Carriage Park               |
| \$297,000              | \$297,000              | \$292,000              | \$259.56             | 1,125 | 0      |       | Edgewood                    |
| \$380,000              | \$380,000              | \$370,000              | \$261.30             | 1,416 |        | 1.346 | Haywood Knolls              |
| \$472,055              | \$472,055              | \$472,055              | \$204.35             | 2,310 | 0      |       | Cantrell Hills              |
| \$476,955              | \$476,955              | \$471,955              | \$204.31             | 2,310 | 0      |       | Cantrell Hills              |
| \$350,000              | \$350,000              | \$400,000              | \$238.95             | 1,674 | 0      | •     | Crooked Creek               |
| \$335,000              | \$310,000              | \$312,500              | \$224.34             | 1,393 | 0      |       | none                        |
| \$575,000              | \$575,000              | \$565,000              | \$279.56             | 2,021 | 0      |       | Towne Forest                |
| \$424,900              | \$405,000              | \$405,000              | \$248.31             | 1,631 | 0      |       | The Willows                 |
| \$259,500              | \$259,500              | \$253,000              | \$258.69             | 978   | 0<br>0 |       | Morningside Condos          |
| \$829,000              | \$819,000              | \$798,000              | \$336.14             | 2,374 | 0      | 0     | None                        |
| \$675,000              | \$629,000              | \$619,000              | \$327.86             | 1,888 |        |       | Pathways Of Solomon         |
| \$521,315              | \$521,315              | \$521,315              | \$192.51             | 2,708 | 0      |       | CANTRELL HILLS              |
| \$399,900              | \$379,900              | \$375,000              | \$199.47             | 1,880 | 0      | 0     | None None                   |
| \$639,000              | \$639,000              | \$600,000              | \$310.88             | 1,930 | 576    | 230   | Rosemont None               |
| \$399,000              | \$399,000              | \$389,000              | \$201.87             | 1,930 | 0      | 230   | The Oaks                    |
|                        |                        |                        | \$250.14             | 1,470 |        | 707   | None                        |
| \$365,000<br>\$450,000 | \$365,000<br>\$400,000 | \$367,700<br>\$420,000 | \$250.14<br>\$176.77 | -     | 0<br>0 | 101   |                             |
| \$459,900<br>\$225,000 |                        | \$420,000<br>\$210,000 |                      | 2,376 |        | 215   | Duncragge None<br>None None |
| \$335,000              | \$324,000<br>\$385,000 | \$310,000<br>\$385,000 | \$216.33             | 1,433 | 565    | 215   | None None The Oaks          |
| \$405,000              | \$385,000              | \$385,000              | \$246.32             | 1,563 | 0      |       |                             |
| \$460,000              | \$435,000              | \$435,000              | \$240.86             | 1,806 | 0      | 505   | Wolfpen                     |
| \$379,900              | \$379,900              | \$380,000              | \$286.58             | 1,326 | 0      | 535   | none None                   |
| \$360,000              | \$340,000              | \$322,000              | \$205.36             | 1,568 | 0      | 0     | The Oaks                    |
| \$376,645              | \$376,645              | \$376,645              | \$212.31             | 1,774 | 0      |       | Townes at Stonecrest        |
| \$349,265              | \$342,280              | \$337,857              | \$198.86             | 1,699 | 0      |       | Townes at Stonecrest        |
| \$374,944              | \$367,445              | \$367,445              | \$207.13             | 1,774 | 0      | 0     | Townes at Stonecrest        |
| \$650,000              | \$650,000              | \$645,000              | \$338.05             | 1,908 | 0      |       | Cummings Cove               |
| \$315,000              | \$315,000              | \$315,000              | \$242.49             | 1,299 | 0      |       | Blue Ridge Villas           |
| \$531,140              | \$531,140              | \$531,140              | \$196.14             | 2,708 | 0      | 0     | CANTRELL HILLS              |
| \$410,000              | \$410,000              | \$397,000              | \$265.55             | 1,495 | 0      |       | The Oaks                    |
| \$350,000              | \$310,000              | \$285,000              | \$232.65             | 1,225 | 0      |       | Beacon Cc None              |
| \$522,985              | \$522,985              | \$525,784              | \$168.36             | 3,123 | 0      |       | Cantrell Hills              |
| \$348,190              | \$344,190              | \$344,190              | \$205.73             | 1,673 | 0      | 0     | Townes at Stonecrest        |
| \$529,000              | \$529,000              | \$495,000              | \$224.49             | 2,205 | 0      |       | Brookland None              |
| \$275,000              | \$265,000              | \$250,000              |                      | 0     | 0      | 0     | None                        |
| \$375,000              | \$329,000              | \$324,000              | \$290.84             | 1,114 | 0      |       | Cottages at Toms Hill       |
| \$340,000              | \$340,000              | \$335,000              | \$410.54             | 816   | 0      |       | None None                   |
| \$295,000              | \$295,000              | \$280,000              | \$166.67             | 1,680 | 0      |       | none                        |
|                        |                        |                        |                      |       |        |       |                             |

| \$350,000              | \$330,000              | \$342,500              | \$178.20             | 1,922 | 414      | 668 Oklawaha None               |
|------------------------|------------------------|------------------------|----------------------|-------|----------|---------------------------------|
| \$449,900              | \$449,900              | \$440,900              | \$392.61             | 1,123 | 0        | Osceola Lake Park               |
| \$514,185              | \$514,185              | \$514,185              | \$198.68             | 2,588 | 0        | Cantrell Hills                  |
| \$440,000              | \$440,000              | \$452,600              | \$260.11             | 1,740 | 0        | 400 None                        |
| \$485,000              | \$485,000              | \$466,000              | \$299.29             | 1,557 | 0        | Wolfpen                         |
| \$359,900              | \$344,900              | \$344,900              | \$282.94             | 1,219 | 0        | None                            |
| \$523,450              | \$523,450              | \$523,450              | \$193.30             | 2,708 | 0        | 0 CANTRELL HILLS                |
| \$425,000              | \$425,000              | \$417,500              | \$318.70             | 1,310 | 0        | None                            |
| \$212,000              | \$212,000              | \$212,000              | \$403.81             | 525   | 0        | Skyland D(None                  |
| \$200,000              | \$200,000              | \$197,000              | \$221.35             | 890   | 0        | Holly Crest                     |
| \$515,210              | \$515,210              | \$515,210              | \$190.25             | 2,708 | 0        | Cantrell Hills                  |
| \$315,000              | \$300,000              | \$273,033              | \$310.97             | 878   | 0        | 0 none                          |
| \$575,000              | \$575,000              | \$576,000              | \$207.72             | 2,773 | 0        | Towne Place                     |
| \$520,944              | \$520,944              | \$520,944              | \$192.37             | 2,708 | 0        | 0 CANTRELL HILLS                |
| \$499,000              | \$499,000              | \$494,000              | \$246.63             | 2,003 | 669      | None                            |
| \$409,895              | \$399,000              | \$375,000              | \$212.59             | 1,764 | 0        | 0 None                          |
| \$179,000              | \$179,000              | \$184,000              | \$318.89             | 577   | 0        | Willow Bend                     |
| \$299,000              | \$305,000              | \$302,500              | \$318.42             | 950   | 0<br>0   | Druid Hills                     |
| \$334,900              | \$319,900              | \$300,000              | \$183.71             | 1,633 | 0        | Lakeview Estates                |
| \$553,975              | \$553,975              | \$553,975              | \$177.96             | 3,113 | 0<br>0   | 0 Cantrell Hills                |
| \$315,000              | \$250,000              | \$220,000              | \$142.95             | 1,539 | 0        | Clear Creek Landing             |
| \$379,900              | \$379,900              | \$373,900              | \$262.57             | 1,424 | 0        | 0 Toms Hill Park                |
| \$533,095              | \$533,095              | \$533,095              | \$171.25             | 3,113 | 0        | 0 Cantrell Hills                |
| \$480,440              | \$480,440              | \$481,565              | \$255.74             | 1,883 | 0        | 0 Cantrell Hills                |
| \$425,000              | \$425,000              | \$400,000              | \$149.31             | 2,679 | 1,296    | Saddlebrook                     |
| \$265,000              | \$245,000              | \$237,000              | \$301.14             | 787   | 0        | Woodlawn                        |
| \$283,000<br>\$580,000 | \$580,000              | \$535,000              | \$203.19             | 2,633 | 960      | Haywood Knolls                  |
| \$380,000<br>\$179,999 | \$380,000              | \$333,000<br>\$185,000 | φ203.19              | 2,033 | 900<br>0 | 754 Tatum                       |
| \$875,000              | \$749,900              | \$710,000              | \$150.23             | 4,726 | 0        | Long John None                  |
| \$300,000              | \$300,000              | \$322,500              | \$130.23<br>\$294.52 | 4,720 | 0        | None                            |
| \$361,064              | \$353,842              | \$353,842              | \$294.52<br>\$208.26 | 1,699 | 0        | 0 Townes at Stonecrest          |
| \$614,900              | \$599,000              | \$599,000              | \$208.20<br>\$196.85 | 3,043 | 684      | 622 Haywood Forest              |
| . ,                    |                        |                        |                      |       |          | -                               |
| \$523,980<br>\$240,000 | \$523,980<br>\$240,000 | \$523,980<br>\$240,000 | \$168.32<br>\$219.79 | 3,113 | 0        | 0 Cantrell Hills<br>Holly Crest |
| \$240,000<br>\$240,080 | \$240,000<br>\$242,280 | \$240,000<br>\$228,866 | \$218.78<br>\$202.42 | 1,097 | 0        | 5                               |
| \$349,989              | \$342,289              | \$338,866              | \$202.43             | 1,674 | 0        | 0 Townes at Stonecrest          |
| \$400,000<br>\$505,000 | \$389,000              | \$374,000<br>\$505,000 | \$241.29<br>\$281.00 | 1,550 | 0        | The Oaks                        |
| \$505,000              | \$505,000              | \$505,000              | \$281.02             | 1,797 | 0        | Cantrell Hills                  |
| \$481,240              | \$481,240              | \$483,765              | \$256.91             | 1,883 | 0        | 0 Cantrell Hills                |
| \$589,000              | \$539,000              | \$530,000              | \$265.13             | 1,999 | 0        |                                 |
| \$650,000              | \$599,999              | \$540,000              | \$304.40             | 1,774 | 0        | 664 Bent Tree None              |
| \$350,000              | \$325,000              | \$303,000              | \$253.77             | 1,194 | 0        | Brookland Terrace               |
| \$560,000              | \$550,000              | \$525,000              | \$214.64             | 2,446 | 953      | 478 Cummings Cove               |
| \$399,900              | \$364,900              | \$359,000              | \$265.14             | 1,354 | 0        | 0 None                          |
| \$525,000              | \$525,000              | \$510,000              | \$241.02             | 2,116 | 0        | Blythe Commons                  |
| \$479,415              | \$479,415              | \$479,415              | \$253.93             | 1,888 | 0        | 0 Cantrell Hills                |
| \$315,000              | \$315,000              | \$320,000              | \$244.84             | 1,307 | 0        | Duncraggen                      |
| \$625,000              | \$625,000              | \$650,000              | \$350.59             | 1,854 | 0        | Hamiltons Landing               |
| \$425,000              | \$399,000              | \$373,000              | \$236.83             | 1,575 | 0        | None                            |
| \$499,900              | \$499,900              | \$487,450              | \$194.82             | 2,502 | 1,161    | 45 Saddlebrook                  |
|                        |                        |                        |                      |       |          |                                 |

|           | <b>.</b>  | <b>*</b> 400 505 | <b>.</b>             | 0.040 | •   |                         |
|-----------|-----------|------------------|----------------------|-------|-----|-------------------------|
| \$469,535 | \$469,535 | \$469,535        | \$203.26             | 2,310 | 0   | 0 Cantrell Hills        |
| \$549,900 | \$549,900 | \$549,900        | \$196.81             | 2,794 | 0   | 0 Cantrell Hills        |
| \$518,740 | \$518,740 | \$518,740        | \$191.56             | 2,708 | 0   | Cantrell Hills          |
| \$484,190 | \$484,190 | \$484,190        | \$257.14             | 1,883 | 0   | 0 Cantrell Hills        |
| \$225,000 | \$225,000 | \$227,277        | \$371.37             | 612   | 0   | none None               |
| \$99,900  | \$99,900  | \$85,000         | \$81.89              | 1,038 | 0   | Fox Ridge               |
| \$465,000 | \$465,000 | \$465,000        | \$331.91             | 1,401 | 0   | 1,233 G A Turner        |
| Э         | \$300,000 | \$300,000        | \$312.83             | 959   | 0   | None                    |
| \$375,000 | \$375,000 | \$325,000        | \$205.18             | 1,584 | 0   | Brookland None          |
| \$472,345 | \$467,820 | \$463,141        | \$200.49             | 2,310 | 0   | 0 Cantrell Hills        |
| \$550,000 | \$550,000 | \$525,000        | \$364.58             | 1,440 | 0   | Hyman Heights           |
| \$265,000 | \$230,000 | \$215,000        | \$477.78             | 450   | 0   | 0 Mcmillan Hidden Valle |
| \$660,000 | \$665,000 | \$695,000        | \$364.26             | 1,908 | 0   | 0 Cummings Cove         |
| \$349,000 | \$349,000 | \$331,500        | \$187.50             | 1,768 | 0   | Poplar Top              |
| \$347,190 | \$346,490 | \$340,246        | \$203.37             | 1,673 | 0   | 0 Townes at Stonecrest  |
| \$479,000 | \$479,000 | \$487,000        | \$189.35             | 2,572 | 0   | 776 Druid Hills         |
| \$394,500 | \$394,500 | \$385,000        | \$268.85             | 1,432 | 0   | 0 Forest Heights        |
| \$384,145 | \$384,145 | \$384,145        | \$216.54             | 1,774 | 0   | 0 Townes at Stonecrest  |
| \$975,000 | \$975,000 | \$940,350        | \$303.73             | 3,096 | 0   | Carriage Park           |
| \$259,500 | \$238,500 | \$230,000        | \$212.96             | 1,080 | 0   | Haywood Manor           |
| \$457,000 | \$449,000 | \$425,000        | \$243.55             | 1,745 | 0   | Henderson Village       |
| \$449,000 | \$424,900 | \$420,000        | \$271.67             | 1,546 | 0   | Park Place              |
| \$320,000 | \$320,000 | \$310,000        | \$191.36             | 1,620 | 0   | Poplar Top              |
| \$460,000 | \$425,000 | \$400,000        | \$186.31             | 2,147 | 0   | The Oaks                |
| \$358,265 | \$358,265 | \$353,285        | \$207.94             | 1,699 | 0   | 0 Townes at Stonecrest  |
| \$475,000 | \$475,000 | \$430,000        | \$252.94             | 1,700 | 0   | Windsong Terrace        |
| \$409,900 | \$369,900 | \$365,000        | \$256.32             | 1,424 | 0   | 0 None                  |
| \$399,900 | \$364,900 | \$345,000        | \$254.80             | 1,354 | 0   | 0 Woodlawn              |
| \$375,000 | \$375,000 | \$375,000        | \$256.50             | 1,462 | 0   | Sylvan Heights          |
| \$484,215 | \$484,215 | \$484,215        | \$269.46             | 1,797 | 0   | 0 Cantrell Hills        |
| \$325,000 | \$325,000 | \$325,000        | \$296.80             | 1,095 | 0   | None                    |
| \$526,520 | \$526,520 | \$495,724        | \$183.06             | 2,708 | 0   | Cantrell Hills          |
| \$220,000 | \$175,000 | \$150,000        | •                    | 0     | 0   | None                    |
| \$319,000 | \$319,000 | \$292,000        | \$200.55             | 1,456 | 0   | NONE                    |
| \$525,000 | \$475,000 | \$452,000        | \$213.11             | 2,121 | 736 | 649 Brookdale           |
| \$330,000 | \$330,000 | \$330,000        | \$266.13             | 1,240 | 0   | Brookland Terrace       |
| \$279,000 | \$279,000 | \$273,500        | \$276.82             | 988   | 0   | Woodlawn None           |
| \$249,000 | \$249,000 | \$230,000        | \$399.31             | 576   | 0   | Oakwood Terrace         |
| \$357,989 | \$358,567 | \$339,295        | \$202.69             | 1,674 | 0   | 0 Townes at Stonecrest  |
| \$425,000 | \$405,000 | \$385,000        | \$258.74             | 1,488 | 0   | 0 Middleton Place       |
| \$372,950 | \$372,950 | \$345,000        | \$224.03             | 1,540 | 0   | The Oaks                |
| \$300,000 | \$300,000 | \$296,000        | \$224.03<br>\$212.95 | 1,390 | 0   | Blue Ridge Villas       |
| ψυυυ,υυυ  | ψυυυ,υυυ  | ψ200,000         | ψ212.30              | 1,000 | 0   | Dide Ridge Villas       |
|           |           |                  |                      |       |     |                         |

| -                           | -                       | ctic List Office List Agent Selling Offi Selling Age |
|-----------------------------|-------------------------|--|
| Pave                        |                         | •  |
| Pave                        | ,                       |  |
| Pave                        |                         | ,  |
| Pave                        |                         | 8  |
| Mountain(sPave              |                         |  |
| 55 and Older, Sidewal Pave  |                         | ,  |
| 55 and Older Pave           |                         |  |
| Club House, Outdoor Pave    |                         | •  |
| Club House, Outdoor Pave    |                         |  |
| Club House, Outdoor Pave    |                         |  |
| Pave                        |                         |  |
| None Pave                   |                         |  |
| Club House, Dog Park Pave   |                         |  |
| Club House, Dog Park Pave   |                         |  |
| Pave                        |                         |  |
| Club House, Dog Park Pave   | d Site Built            | DR Horton Jim Preston                                |
| Club House, Dog Park Pave   | d Site Built            | DR Horton Jim Preston                                |
| Club House, Dog Park Pave   | d Site Built            | DR Horton Jim Preston                                |
| Club Hous Mountain (s Pave  | d Level, PaveSite Built | Coldwell B Ron Comeens                               |
| Club House, Dog Park Pave   | d Level Site Built      | Allen Tate/ Jodie Tolbert                            |
| Club House, Fitness CPave   | d Level Site Built      | DR Horton Jim Preston                                |
| Club House, Dog Park Pave   | d Level Site Built      | DR Horton Jim Preston                                |
| Club House, Dog Park Pave   | d Level Site Built      | Mackey R∈Ben Woolf                                   |
| Club House, Street Lic Pave | d Level Site Built      | DR Horton Jim Preston                                |
| Club House, Dog Park Pave   | d Level Site Built      | DR Horton Jim Preston                                |
| Club House, Dog Park Pave   | d Level Site Built      | DR Horton Jim Preston                                |
| Club House, Dog Park Pave   | d Level Site Built      | DR Horton Jim Preston                                |
| Club House, Dog Park Pave   | d Level Site Built      | DR Horton Jim Preston                                |
| Club House, Fitness CPave   | d Site Built            | DR Horton Lisa Christner                             |
| Club House, Dog Park Pave   | d Site Built            | DR Horton Diane Skillman                             |
| Club House, Dog Park Pave   |                         | DR Horton Diane Skillman                             |
| Club House, Dog Park Pave   |                         | DR Horton Diane Skillman                             |
| Pave                        | d Level Site Built      | DR Horton Diane Skillman                             |
| Club House, Dog Park Pave   | d Level Site Built      | DR Horton Lisa Christner                             |
| Club House, Dog Park Pave   | d Level Site Built      | DR Horton Lisa Christner                             |
| Club House, Dog Park Pave   |                         | DR Horton Diane Skillman                             |
| Club House, Dog Park Pave   |                         | DR Horton Diane Skillman                             |
| Club Hous Long Rang Pave    |                         |  |
| Club House, Fitness CPave   |                         |  |
| Pave                        |                         | •  |
| Pave                        |                         | 1 1  |
| Pave                        |                         |  |
| Sidewalks, Street Ligh Pave |                         | •  |
| Club Hous Golf Cours Pave   |                         |  |
| Club Hous Golf Cours Pave   |                         | 8  |
|                             |                         |  |

|            | Mountain(s        | Paved<br>Paved | Cul-De-Sa<br>Trees |        | Built<br>Built | Colken Re; Thia Kilpatrick<br>Keller Willi; Josh Drake |
|------------|-------------------|----------------|--------------------|--------|----------------|--|
|            |                   | Paved          | Hilly, Trees       | Site   | Built          | Lusso Rea Lori Jantzi                                  |
| Sidewalks  |                   | Paved          | End Unit, L        | Site   | Built          | EXP Realty Mary Sitton                                 |
| Sidewalks  |                   | Paved          |                    | Site   | Built          | Allen Tate/ Lee Stepp                                  |
| Pond, Stre | et Lights         | Paved          | Level, Tree        | Site   | Built          | RE/MAX R Terri Eisenhauer                              |
|            |                   | Paved          |                    | Site   | Built          | Lusso Rea Lori Jantzi                                  |
| Tennis Co  | ourt(s)           | Paved          | Level, Pave        | Site   | Built          | LPT Realty Elizabeth Walsh                             |
| Street Lig | nts               | Paved          | Green Area         | Site   | Built          | Sterling ReJonathan Jackson                            |
|            |                   | Paved          | End Unit, C        | Site   | Built          | Unique: A Chaim Salomon                                |
| Walking T  | rails             | Paved          |                    | Site   | Built          | Allen Tate/ Lauren Rippy                               |
| Street Lig | nts               | Concrete       | Cleared, C         | Site   | Built          | BluAxis Re Dee Gambrell                                |
| _          |                   | Paved          | Cul-De-Sa          | Site   | Built          | RE/MAX R Suzanne Jackson                               |
|            |                   | Paved          | Level, Roll        | i Site | Built          | RE/MAX R Verna Shipman                                 |
|            |                   | Paved          | Hilly              | Site   | Built          | Keller Willi Brian Fraga                               |
|            | City              | Paved          | Cleared, G         | Site   | Built          | EXP Realty Jamie Christensen                           |
|            | ,                 | Paved          |                    |        | Built          | Century 21 Cindy Jones                                 |
|            |                   | Paved          | Corner Lot         | Site   | Built          | Century 21 Kathryn Watkins                             |
|            |                   | Paved          | Level, Tree        | Site   | Built          | Weichert F Seledia Carver                              |
|            | Water, Yea        |                | Creekfront         |        |                | Pinnacle V Jill Hart                                   |
|            | ,                 | Paved          |                    |        | Built          | Real Broke Lynn Bush                                   |
| 55 and Ol  | der. Other        | Paved          |                    |        | Built          | Eclat Realt Andrew Casoria                             |
| e Remarks  |                   | Paved          | Cleared, C         |        |                | Keller Willi Regina Nunn                               |
| 5 Homania  | Golf Cours        |                | On Golf Co         |        |                | Coldwell B Hilary Corn                                 |
|            |                   | Paved          | Sloped, Tr         |        |                | EXP Realt Gina Kidder                                  |
|            |                   | Paved          | End Unit           |        | Built          | THE LIGH Phi-Van Cherry                                |
|            |                   | Paved          | Cleared, Lo        |        |                | Keller Willi Andrea Clark                              |
|            |                   | Paved          | Olcarca, E         |        | Built          | Keller Willi Zane Bell-Broch                           |
|            |                   | Paved          | End Unit, L        |        |                | Keller Willi Jen Hubbell                               |
|            |                   | Paved          |                    |        |                | Apple Cou Eric Moncrief                                |
|            |                   | Paved          | Cleared            |        | Built          | Sentinel Pr Melissa Pettit                             |
|            | City              | Paved          | Corner Lot         |        |                | RE/MAX R CRE Still                                     |
|            | City<br>City Long |                | Comer Lot          |        |                |  |
|            | City, Long        |                |                    |        | Built<br>Built | Unique: A Misty Masiello                               |
|            | Mountain/         | Paved          | Cleared            |        |                | B-Murr Re; Jessica Mansour<br>Allen Tate/ June Andrews |
|            | Mountain(s        |                | Green Area         |        |                |  |
|            |                   | Gravel         | Green Area         |        |                | Keller Willi Hayes Albea                               |
|            |                   | Paved          |                    |        | Built          | Apple Coul Jeff Donaldson                              |
| Cabana D   |                   | Paved          |                    |        | Built          | George Re John Ogden                                   |
| Cabana, F  | Long Rang         |                |                    |        |                | RE/MAX E Joe Hope                                      |
|            |                   | Paved          | Corner Lot         |        |                | Keller Willi Kay Condon                                |
| D' · A     |                   | Paved          | Cleared, Lo        |        |                | Allen Tate/ Gaia Goldman                               |
| Picnic Are | а                 | Paved          | Level, Tree        |        |                | Looking GI Laiken Moore                                |
|            |                   | Paved          | End Unit, L        |        |                | Keller Willi Jen Hubbell                               |
|            |                   | Gravel         | Corner Lot         |        |                | Allen Tate/ June Andrews                               |
|            |                   | Paved          |                    |        | Built          | Allen Tate/ Kandi Hendricks                            |
|            |                   | Paved          | <u> </u>           |        |                | Keller Willi Chauncey Whiting                          |
|            |                   | Paved          | Cleared, Lo        |        |                | Relocate82 Anna Conner                                 |
|            |                   | Paved          | Cleared, C         |        |                | Keller Willi Larisa Livesay                            |
|            |                   | Concrete       | Corner Lot         | Site   | Built          | EXP Realty Loyd Alexander                              |

|   | Dirt             | Level                      | Site Built         | Allen Tate/ Claire Hunn                               |
|---|------------------|----------------------------|--------------------|---|
| Street Lights                               | Paved            | En al Lla it d             | Site Built         | Allen Tate/ Suzanne Beckmann                          |
| 55 and Older, Street                        |                  | End Unit,                  |                    | Homestear Cherie Goldsmith                            |
| Cabana, Club House,                         |                  | Level                      | Site Built         | EXP Realty Justin Purnell                             |
| Club House, Outdoor                         |                  | Creekfron                  |                    | EXP Realt Derek Hawkins                               |
| Club House, Outdoor                         |                  | Creekfront                 |                    | Allen Tate/ Darrin Graves                             |
|   | Gravel           |                            |                    | Fathom ReDema Barishnikov                             |
|   | Gravel           |                            |                    | Fathom Re Dema Barishnikov                            |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            | Level                      | Site Built         | DR Horton Jim Preston                                 |
|   | Paved            |                            | Site Built         | DR Horton Jim Preston                                 |
| Gated Community                             | Paved            | Cul-De-Sa                  |                    | Keller Willi John Higgins                             |
|   | Paved            |                            |                    | Collective I Andrea Ochoa                             |
|   | Paved            |                            | Site Built         | Keller Willi Hayes Albea                              |
|   | Paved            |                            | Site Built         | Keller Willi David Lee                                |
| Mintor                                      | Dirt<br>Dovod    | Lovel Driv                 | Site Built         | Keller Willi Glori Keating                            |
| Winter                                      | Paved            | Level, Priv                |                    | Realty ONI Joe Butzer<br>Zilbert Rea Christel Novella |
| Business CCity, Mour                        |                  | Views                      | Site Built         |   |
| Street Lights Other                         | Paved<br>Paved   |                            | Site Built         | Allen Tate/ Julie Mallett                             |
| Street Lights, Other<br>Club House, Fitness |                  | End Unit                   | Site Built         | Keller Willi David Rathy                              |
| Club House, Planess Club House, Planess     |                  | End Unit, I<br>End Unit, ' |                    | Allen Tate/ Sally Baker<br>EXP Realty Jason Brodsky   |
| Club House, Hot Tub                         |                  | Wooded                     | Site Built         | Allen Tate/ Nola Goodchild                            |
|   | , Paved<br>Paved | Level                      | Site Built         | Keller Willi Brian Fraga                              |
|   | Paved            | Level                      | Site Built         | RE/MAX R Terri Eisenhauer                             |
|   | Paved            | Level                      | Site Built         | Kenmure 1 Art Redden                                  |
| Gated Community, Si                         |                  |                            | Site Built         | Allen Tate/ Gina Nicholson                            |
| Gated Community, Si                         |                  | Private                    | Site Built         | Allen Tate/ Eddie Delaney                             |
| Outdoor Pool                                | Paved            | Thrute                     | Site Built         | Keller Willi Rhonda Hollifield                        |
| Club House, Dog Par                         |                  | Corner Lo                  |                    | Keller Willi Haley Carter                             |
| Club House, Dog Par                         |                  | End Unit, I                |                    | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | Level                      | Site Built         | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | Level                      | Site Built         | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | Level                      | Site Built         | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | Level                      | Site Built         | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | Level                      | Site Built         | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | Level                      | Site Built         | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | Level                      | Site Built         | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | End Unit, I                |                    | DR Horton Jim Preston                                 |
| Club House, Dog Par                         |                  | Level                      | Site Built         | DR Horton Lisa Christner                              |
|   |                  |                            | 2.1.2 <b>2</b> Mit |   |

Club House, Dog Park Paved Water Paved Club House, Gated CcPaved Club House, Fitness CPaved Cabana, Club House, Paved Club House, Fitness CPaved Club House, Fitness CPaved Club Hous Long Rang Paved Club House, Fitness CPaved Club House, Fitness CPaved Paved Club House, Dog Park Paved Club House, Dog Park Paved Club House, Dog Park Paved 55 and Older Concrete ouses Paved Club House, Fitness CPaved Club House, Dog Park Paved Club House, Dog Park Paved Elevator, Sidewalks, SPaved Paved Paved Paved Cabana, C Mountain(s Paved Gravel Sidewalks, Street Ligh Paved Club House, Dog Park Paved Club House, Dog Park Paved Club House, Dog Park Paved Dog Park, Picnic Area Paved Paved Paved Mountain(s Paved Pond, Street Lights Paved Paved Club House, Fitness CPaved Club House, Dog Park Paved Paved Club House, Game CcPaved 55 and Older Paved Club House, Dog Park Paved Paved Club House, Dog Park Paved Paved Paved Paved

Level Site Built **DR Horton Diane Skillman** Level Site Built **DR Horton Lisa Christner** Level Site Built **DR Horton Diane Skillman** Level Site Built **DR Horton Diane Skillman** Cleared, C Site Built EXP Realty Athena Cermak Site Built **COMPASS** Grace Robinson Cleared, L(Site Built NorthGrou Darlene Fouts NorthGrou Darlene Fouts Site Built Allen Tate/ Daniel Hardin Site Built End Unit, CSite Built B2 Realty Bryan Byrd Paved, Vie Site Built Allen Tate/ Lynne Sellers Site Built Keller Willi Rhonda Hollifield End Unit Site Built Allen Tate/ Christopher Battista Corner Lot Site Built **RE/MAX E Melanie Stephenson** Site Built DR Horton Jim Presto Agent Groi Angela Flo Level Level Site Built DR Horton Lisa Christ Keller Willi Haley Cart Site Built DR Horton Diane Skill Coldwell B Lori Ledfor Manufactu Keller Willi Julie Sette Southern F Caryn Hug Site Built Coldwell B Caroline E Engel & V/ Trish Luzzi Site Built DR Horton Lisa Christ Keller Willi Mark Carte Level Level Site Built DR Horton Jacqueline Town and Hilary Para Level Site Built DR Horton Lisa Christ DR Horton Jacqueline Site Built RE/MAX R Sean Carn Century 21 Carmel Fre Site Built Fathom ReNathan For Fathom ReNathan For Level Site Built Eclat Realt Susan She Sojourn Re Lauren Dal Corner Lot Site Built Wanderlux Charlotte V Century 21 Carmel Fre Cleared, L(Site Built NorthGrou Darlene Fc Coldwell B; Hilton Swir Creekfront Site Built Keller Willi Brian Frag Allen Tate/ John Hardi Site Built EXP Realty Jason Broc Allen Tate/ Gaia Goldn End Unit. L Site Built DR Horton Jacqueline DR Horton Diane Skillı End Unit, L Site Built DR Horton Lisa Christ Realty ONI Ben Graha Site Built DR Horton Diane Skill Sentinel Pr Melissa Pe Level Site Built Allen Tate/ Sharon Ca Keller Willi Abby Holm Site Built Canopy Ac Non Memb Keller Willi Brent Crow Site Built Fathom Re Elana Flan EXP Realty Mike Szabu Level Private, VieSite Built Keller Willi David Rath Keller Willi Cecilia Lilly Level Site Built Carolina Li Jill Reece Allen Tate/ Sarah Smit Site Built Allen Tate/ Steve Dozi Allen Tate/ Sarah Smit Level. Tree Site Built Home Selli Dolly Moor Sarver Rea Michelle Da Level Site Built DR Horton Lisa Christ Allen Tate/ Nancy Obe Site Built Pinnacle V Jill Hart WEICHER Jessica Kit Site Built Nexus ReaKathy Clarl Berkshire I Camille Ya Apple Coul Jeff Donald Keller Willi Mark Menr Level Site Built Level Site Built DR Horton Diane Skill DR Horton Jacqueline Level Site Built DR Horton Diane Skill EXP Realty Melissa Ple Private, Ot Site Built DR Horton Jacqueline DR Horton Diane Skill Corner Lot Site Built Unique: A | Jeremy La: Allen Tate/ Christina G Beycome E Steven Kol Nexus Rea Kimberly R Site Built Cleared, W Site Built Charlie Ho Elizabeth V Keller Willi Charlsey R

| Mountain(s             | Paved    |    |
|------------------------|----------|----|
| ·                      | Paved    | Le |
|                        | Paved    |    |
|                        | Paved    |    |
|                        | Paved    |    |
| Club House, Outdoor    |          | St |
| Club House, Fitness C  |          | 0. |
|                        | Paved    |    |
| Club House, Dog Park   |          | CI |
| Club House, Dog Park   |          | Le |
| Club House, Dog Park   |          | Le |
| Club House, Dog Fair   | Paved    | LC |
|                        | Paved    |    |
|                        | Paved    |    |
|                        |          | Le |
| Club House, Fitness C  |          | С  |
| Club House, Fitness C  |          |    |
| Golf Course            | Paved    |    |
|                        | Paved    | Le |
|                        | Concrete | Co |
| None                   | Paved    | Le |
| Dog Park               | Paved    | CI |
| Long Rang              |          | CI |
| Winter                 | Paved    | С  |
| Club House, Dog Park   |          | Le |
|                        | Gravel   |    |
|                        | Paved    | С  |
| Club House, Hot Tub,   |          | Le |
|                        | Gravel   | Cl |
| Sidewalks, Street Ligh |          | Le |
| Long Rang              | Gravel   | С  |
|                        | Paved    |    |
| Cabana, Club House,    | Paved    | Le |
| None                   | Gravel   | Le |
| Club House, Game Co    | Paved    |    |
| Club House, Dog Park   | Paved    | Le |
| Club House, Dog Park   | Paved    | Le |
| Club House, Dog Park   | Paved    | Le |
| Club Hous Long Rang    | Paved    | Er |
| 55 and Older           | Paved    |    |
| Club House, Dog Park   | Paved    | Le |
| Club House, Indoor Po  |          | Er |
| Elevator, Sidewalks, S |          | Fl |
| Club House, Dog Park   | Paved    | Le |
| Club House, Dog Park   |          |    |
|                        | Paved    | C  |
| Year Roun              |          | Le |
|                        | Paved    | Le |
|                        | Paved    | CI |
|                        | Paved    | Le |
|                        |          |    |

Site Built evel, Slop Site Built Site Built Site Built Site Built tream/CreSite Built Site Built Site Built leared, L(Site Built evel Site Built evel, Viev Site Built Site Built Site Built evel, PrivaSite Built orner Lot Site Built Site Built Site Built evel Site Built orner Lot Site Built evel, Tree Site Built leared, LeSite Built leared, L(Site Built orner Lot Site Built Site Built evel Site Built reekfront Site Built evel, Slop Site Built leared, C Site Built evel, PaveSite Built orner Lot Site Built Site Built Site Built evel evel, Slop Site Built Site Built evel Site Built Site Built evel Site Built evel nd Unit, CSite Built Site Built Site Built evel nd Unit, TSite Built lood Frinc Site Built Site Built evel Site Built evel orner Lot Site Built evel, Rolli Site Built Site Built evel leared, C Site Built Site Built evel

Trelora Re Isabella Fri Asheville R Janis Hall Dwell Real Zach Penla Dwell Real Zach Penla EXP Realty Scott Ange Mountain F Donna Ear EXP Realty Scott Ange COMPASS Kelsey Var RE/MAX R Steve Morr EXP Realty Jason Broc Redfin Cor Karen Milla Keller Willi Alex Smith DR Horton Diane Skill EXP Realty Kyle Parks Allen Tate/ Meredith F EXP Realty Carrie Cha DR Horton Diane Skill EXP Realty Elena Kovr DR Horton Lisa Christ Mackey Re Ben Woolf DR Horton Diane Skill Realty ONI Jayme Mai Allen Tate/Wes Hight Keller Willi Charles Jo Aiken Real Melissa McBluAxis ReCole Ordiw Blue Ridge Lucia Barn EXP Realty Kelly Wallin DR Horton Diane Skill Allen Tate/ Kelly Frady DR Horton Lisa Christ Allen Tate/ Gina Nichc Premier Sc Jennifer Ct BluAxis Re Kayla Over Fathom ReScott Pitza Tryon Hors Timothy Re Allen Tate/ Alexandra BluAxis Re Kayla Over Fathom ReVicki Claus Allen Tate/ Stephanie Keller Willi David Rath Walnut Co Gamma Ga Home And Tarry Croc Keller Willi Bre Powers COMPASS Kelsey Var Berkshire I Camille Ya DR Horton Lisa Christ Allen Tate/ Margaret F Chosen ReNick Huscr BluAxis ReCarl Brown Keller Willi Matt Taver Allen Tate/ Lynne Selle Pinnacle V Jill Hart Keller Willi Michele Va Keller Willi: Julie Sette: Century 21 Cindy Jone RE/MAX E Karyn Spre Keller Willi Greg Eskri Colken Re; Thia Kilpat Keller Willi; Susan Wat Allen Tate/ Ali Thomas Asheville R Dorothy To NorthGrou Darlene Fc Allen Tate/ Jim Boyd Fathom ReSam Battis Keller Willi Patti Shelto Keller Willi Jen Hubbe Keller Willi Jen Hubbe DR Horton Diane Skill DR Horton Lisa Christi DR Horton Lisa Christ Keller Willi Aleksey Da DR Horton Lisa Christ EXP Realty Audrey Wis Sandra Pu Kimberly W Premier Sc Randi Beau Pinnacle V Jill Hart Berkshire I Melissa Wi DR Horton Jacqueline Allen Tate/ Melissa Ho Allen Tate/ Suzanne B Walnut Co Marcella Do Coldwell B: Mike Kellel Two Trails Kristi Branı DR Horton Diane Skill DR Horton Diane Skill DR Horton Diane Skill DR Horton Alex Gasqu Present Te Ashleigh S Be Realty I Bobbi Holla EXP Realty Mary Sittor Keller Willi Charmain Apple Coul Lori Gonce Noble & C(Alisha Nes Coldwell B Michele Mc Sandra Pu Jeremy Pu 5 Points R(Dustin Wa) RE/MAX E Melanie St

None Paved Lake Acce: Water, Yez Paved Club House, Dog Park Paved Paved Club House, Fitness CPaved Long Rang Paved Club House, Dog Park Paved Paved Elevator, SCity, Moun Paved Paved Paved Paved Paved Club House, Dog Park Paved Paved Paved Paved Paved Paved Club House, Dog Park Paved Paved Paved Club House, Dog Park Paved Club House, Fitness CPaved Sidewalks, Street Ligh Paved Paved Picnic Area, Tennis C(Paved Paved Paved Paved Club House, Dog Park Paved Paved Club House, Dog Park Paved Paved Club House, Dog Park Paved Club House, Indoor PcPaved Club House, Dog Park Paved Club House, Fitness CPaved Paved **Golf Cours Paved** Paved **Golf Cours Paved** Paved Paved Club House, Dog Park Paved Paved Water Paved Paved

Sloped, TreSite Built Site Built Site Built Level Site Built Site Built Corner Lot Site Built Level Site Built Site Built Level Corner Lot Site Built Site Built Site Built Level Hilly, Prival Site Built Level Site Built Level Site Built Site Built Site Built Level, PaveSite Built Site Built Paved Site Built Corner Lot Site Built Corner Lot Site Built Site Built Level Site Built Level, Woc Site Built Cul-De-Sa Site Built Paved, PrivSite Built Level, Tree Site Built Site Built End Unit. L Site Built Level Site Built Corner Lot Site Built Level Site Built Site Built Site Built Level Site Built Site Built Level Level. Woc Site Built **Rolling Slo Site Built** On Golf Cc Site Built Site Built On Golf Cc Site Built Site Built Site Built Level, Viev Site Built Site Built Green Are: Site Built Gravel, Pa Level, Pav Site Built Site Built

Allen Tate/ Ammie We Allen Tate/ Jim Boyd Continenta Christine E Canopy Ac Non Memb DR Horton Lisa Christ Keller Willi James Dac Keller Willi Jeff Collis Allen Tate/ Jared Pras JCV Prope John Virkle Berkshire I Rosie Duga Oliver Pror Brian Olive Walnut Co Pierrette R DR Horton Lisa Christ Moore Tea Shane Tea NextHome Laura Flore Keller Willi Monica Krie Two Trails Kristi Branı Allen Tate/ Nick Iannu Berkshire I Rosie Dug: Nexus Rea Mindy Cow DR Horton Diane Skill Keller Willi John Cantr EXP Realty Leslie Gille Canopy Ac Non Memb Allen Tate/ Steve Dozi Premier Sc Gwen Bow DR Horton Lisa Christ Fathom ReVicki Claus 1st Choice Jose Vera 1st Choice Emma Huc RE/MAX R Suzanne J Allen Tate/ Jim Boyd Eclat Realt Andrew CaEXP Realty Carrie Cha Keller Willi Brent Crow Coldwell B Lori Ledfor RE/MAX R Toby Davis RE/MAX E Amanda H DR Horton Diane Skill Sentinel Pr Melissa Pe Pinnacle Li Matt Jones Pinnacle Li Matt Jones EXP Realty Scott Ange Allen Tate/ Julie Malle DR Horton Jacqueline DR Horton Jacqueline DR Horton Lisa Christ DR Horton Lisa Christ Allen Tate/ Steve Dozi EXP Realty Mary Sittor Blue Ridge Jackie Tall Blue Ridge Beth Robe Century 21 Dena Man Mosaic Co Alyssa Auc Mountain (Jeff Candle Mountain (Janette Vic Creekfront Off Frame EXP Realty Leslie Gille Premier Sc Theresa Tu Keller Willi Jen Hubbe RE/MAX R Morgan Bra DR Horton Lisa Christ Highland L Steve Colli Appalachia Cassie Pitt EXP Realty Patricia Pa DR Horton Diane Skill Blue Ridge Bryan Ross Redfin Cor Karen Milla Berkshire I Melissa Wr DR Horton Diane Skill DR Horton Lisa Christ Allen Tate/ Margo Barl Relocate82 Missy Jenk Coldwell Bilris Zohar Allen Tate/ Lynne Selle DR Horton Diane Skill DR Horton Lisa Christ Apple Coul Lori Gonce Carolina M Corey Man Blue Ridge Nancy Wol Blue Ridge Nancy Wol Keller Willi Heath Nan Allen Tate/ Scott Cogc Allen Tate/ Steve Crot Homesour(Beth Zabris EXP Realty Scott Ange Allen Tate/ Kina Kilpat Allen Tate/ John Hardi Walnut Co Coty Jude DR Horton Diane Skill DR Horton Diane Skill Keller Willi Pat Cleary Keller Willi Ian Clark Allen Tate/ Jesse She Mosaic Co Trenton Th Noble & CcAlisha Nes Berkshire I Rosie Dug Keller Willi, Rhonda HcLusso Rea Lori Jantzi

Club House, Fitness CPaved Corner Lot Site Built DR Horton Diane Skill DR Horton Diane Skill Club Hous Long Rang Paved Level. Pave Site Built RE/MAX E Amanda H Allen Tate/ Camilo Mo Paved Site Built DR Horton Diane Skill DR Horton Ruben Dut Level Club House, Fitness CPaved Level Site Built DR Horton Lisa Christ Move Ashe Amanda M Gravel Site Built EXP Realty Tyler Coon Nexus Rea Brit Travis Gravel Cleared, LeManufactul Scott Barfie John Barfie NorthGroup Darlene Fc Paved Green Are: Site Built Keller Willi Andrea Cla BluAxis Re Cole Ordiw Paved Site Built Keller Willi Jen Hubbe Keller Willi Jen Hubbe Paved Site Built Level Century 21 Marilyn Ba Keller Willi Ryan McAt Site Built DR Horton Jacqueline Keller Willi Patti Shelto Club House, Fitness CPaved Paved Corner Lot Site Built Keller Willi Jen Hubbe Nest Realt Ryan McC Paved Sloped, VicSite Built Mackey Re Ben Woolf Asheville L Cricket Ber У Club Hous Golf Cours Paved End Unit, FSite Built Cummings Andrew Bro Cummings Andrew Bro Gravel Manufactul Fathom Re Dema Bari Canopy Ad Non Memb Club House, Dog Park Paved Site Built DR Horton Lisa Christ Keller Willi James Loc Level Paved Level, Slop Site Built Pinnacle V Jill Hart Blue Ridge Beth Robe Site Built George ReJulia Krupt Move Ashe Amanda M Gravel Private Club House, Dog Park Paved End Unit, LSite Built DR Horton Lisa Christ George ReJulia Krupp Club Hous Long Rang Paved Sloped, VieSite Built Allen Tate/ Rich Cook Allen Tate/ Wyatt Listr Level, PaveSite Built Relocate82 Missy Jenk Coldwell B: Melissa Ru Paved Club House, Walking Paved Site Built RE/MAX R Donna Hur Allen Tate/ Ivette Drun 55 and Older, Sidewal Paved End Unit, CSite Built Seller Solu John Dunc Mtn. Land Todd Dunn Gravel Manufactul Fathom Re Dema Bari BluAxis Re Kayla Over Club House, Indoor PcPaved Site Built Allen Tate/ Lynne Sell Keller Willi Alisha Crov Paved Club House, Dog Park Paved Level Site Built DR Horton Lisa Christ Walnut Co Sharon Sw Corner Lot Site Built Paved Allen Tate/ Alvssa Hor Walnut Co Sharon Sw Site Built EXP Realty Scott Ange We Sell W Chris Scrue Paved Corner Lot Site Built EXP Realty Scott Ange Keller Willi James Dad Long Rang Paved Paved Level, Slop Site Built Keller Willi Tania Reid Keller Willi Charlsey R DR Horton Diane Skill Keller Willi Laurene Ca Club House, Dog Park Paved Level Site Built Paved End Unit, L Site Built Keller Willi Jen Hubbe Alperin Re Dave Alper Site Built DR Horton Diane Skill Keller Willi Laurene Ca Paved Level Gravel, Pa<sup>-</sup>Level Site Built Keller Willi Tasha Vinz Keller Willi Tasha Vinz Mountain(s Gravel Cul-De-Sa(Manufactu) Keller Willi Maria Sort(Keller Willi Maria Sort) Paved Site Built Keller Willi Tucker Rhi Premier Sc Caroline Ka Corner Lot Site Built Paved Century 21 Greg Bran: Allen Tate/ Ali Thomas Colken Re; Thia Kilpat RE/MAX E Melanie St Paved Level Site Built Paved Wooded Site Built Allen Tate/ Carolyn Bl: Coldwell B: Caroline El Club House, Dog Park Paved Level Site Built DR Horton Diane Skill Canopy Ad Non Memb Club House, Pond Corner Lot Site Built Allen Tate/ Nancy Obe EXP Realty Victoria Bla Paved Club House, Indoor PcPaved Site Built Lee Realty Lee Greive EXP Realty Mona Rope 55 and Older, Sidewal Paved Southern FAnita Pace Keller Willi, Alisha Crov Level, PaveSite Built

| Approxima | Year Built | Close Date Listing Cor                  | CDOM     |
|-----------|------------|---|----------|
| 0.23      | 1977       | #########                               | 5        |
| 0.31      | 1989       | ########                                | 64       |
| 0.27      | 1982       | ########                                | 28       |
| -         | 2005       | 3/25/2024                               | 299      |
| 1.15      | 1992       | 12/5/2024                               | 44       |
| 0.18      | 1994       | 9/11/2024                               | 129      |
| 0.12      | 1994       | 1/1/2025                                | 1        |
| •••=      | 1981       | 1/13/2025                               | 5        |
|           | 1981       | 9/13/2024                               | 127      |
|           | 1981       | ####################################### | 38       |
| 0.67      | 1972       | 8/30/2024                               | 141      |
| 0.84      | 1959       | ####################################### | 23       |
| 0.13      | 2025       | 1/16/2025                               | 2        |
| 0.13      | 2025       | 1/16/2025                               | 2        |
| 0.13      | 2025       | 1/15/2025                               | 3        |
| 0.13      | 2025       | 1/15/2025                               | 3        |
| 0.13      | 2025       | 1/15/2025                               | 3        |
| 0.13      | 2025       | 1/15/2025                               | 3        |
| 0.14      | 2022       | 1/14/2025                               | 4        |
| 0.14      | 2022       | ####################################### | 31       |
| 0.13      | 2020       | #########                               | 69       |
| 0.13      | 2024       | 9/1/2024                                | 139      |
| 0.13      | 2024       | 9/20/2024                               | 120      |
| 0.13      | 2024       | ####################################### | 64       |
| 0.13      | 2024       | ##########                              | 64       |
| 0.13      | 2024       | ####################################### | 69       |
| 0.13      | 2024       | ##########                              | 82       |
| 0.13      | 2024       | 5/18/2024                               | 233      |
| 0.15      | 2024       | 4/14/2024                               | 250      |
| 0.13      | 2024       | 7/20/2024                               | 146      |
| 0.13      | 2024       | 9/8/2024                                | 93       |
| 0.13      | 2024       | ####################################### | 0        |
| 0.13      | 2024       | 7/20/2024                               | 49       |
| 0.13      | 2024       | 6/1/2024                                | 37       |
| 0.13      | 2024       | 8/25/2024                               | 14       |
| 0.13      | 2024       | 3/30/2024                               | 252      |
| 0.13      | 2024       | ####################################### | 0        |
| 0.13      | 1995       | 6/7/2024                                | 218      |
| 0.24      | 2008       | 1/2/2025                                | 3        |
| 0.18      | 1958       | 12/4/2024                               | 38       |
| 0.10      | 1930       | ####################################### | 57       |
|           | 1978       | 7/16/2024                               | 186      |
| 0.14      | 1970       | 1/13/2025                               | 25       |
| 0.14      | 1940       | 8/30/2024                               | 25<br>45 |
| 0.12      | 2008       | 1/9/2025                                | 43<br>1  |
| 0.12      | 2008       | 1/13/2025                               | 5        |
| 0.21      | 2003       | 9/24/2024                               | 116      |
| 0.21      | 2023       | 12/3/2024                               | 31       |
| 0.0       | 2023       | 12/3/2024                               | 31       |

| 1.18  | 1991 | 6/8/2024   | 159     |
|-------|------|------------|---------|
| 0.38  | 1956 | 1/3/2025   | 15      |
| 1.14  | 1997 | ########   | 16      |
| 0.01  | 2004 | ########   | 23      |
| 0.05  | 2001 | ########   | 54      |
| 0.18  | 1987 | ########   | 53      |
| 0.05  | 2001 | 1/1/2025   | 17      |
| 0.74  | 1983 | 12/1/2024  | 48      |
|       | 1981 | 9/19/2024  | 121     |
|       | 1989 | ########   | 22      |
| 0.1   | 2003 | 1/17/2025  | 1       |
| 0.2   | 1993 | ########   | 79      |
| 0.2   | 1993 | 6/18/2024  | 214     |
| 0.92  | 1962 | 9/18/2024  | 122     |
| 0.07  | 1953 | ########   | 85      |
|       | 1975 | 1/15/2025  | 3       |
|       | 1975 | ########   | 30      |
| 0.6   | 1939 | 8/29/2024  | 142     |
| 0.4   | 1943 | ########   | 29      |
| 0.78  | 1968 | 9/26/2024  | 70      |
|       | 1974 | #########  | 39      |
| 0.06  | 1995 | 1/2/2025   | 16      |
| 0.62  | 1968 | #########  | 86      |
| 0.34  | 1954 | 5/31/2024  | 232     |
| 0.01  | 1996 | ########   | 31      |
| 0.04  | 1994 | 9/11/2024  | 129     |
| 0.21  | 1961 | 12/3/2024  | 5       |
| 0.21  | 2007 | 1/2/2025   | 131     |
| 0.34  | 2002 | 1/8/2025   | 10      |
| 1.59  | 1987 | 9/23/2024  | 30      |
| 0.57  | 1940 | #########  | 22      |
| 0.27  | 1928 | 9/4/2024   | 119     |
| 0.27  | 1906 | 5/17/2024  | 228     |
| 0.26  | 1942 | 8/6/2024   | 165     |
| 0.32  | 1986 | 11/4/2024  | 75      |
| 16.44 | 1972 | 9/18/2024  | 122     |
| 4.14  | 1946 | 9/13/2024  | 127     |
| 0.2   | 1929 | 8/16/2024  | 155     |
| 5     | 2002 | 2/26/2024  | 1,200   |
| 0.32  | 1882 | #########  | 27      |
| 0.32  | 1924 | 1/11/2025  | 1       |
| 0.40  | 1932 | #########  | 123     |
| 0.20  | 2002 | 1/3/2025   | 78      |
| 0.34  | 2022 | ########## | 18      |
| 1.4   | 1904 | 6/7/2024   | 81      |
| 0.51  | 2001 | 6/17/2024  | 35      |
| 0.01  | 1973 | 12/3/2024  | 35<br>7 |
| 0.47  | 1973 | 1/2/2025   | 16      |
| 0.47  |      |            |         |
| 0.3   | 2024 | ########   | 96      |

| 0.91  | 1987         | ########                                | 128        |
|-------|--------------|---|------------|
|       | 2004         | 8/20/2024                               | 151        |
|       | 2005         | ########                                | 82         |
|       | 1983         | 7/10/2024                               | 169        |
|       | 1983         | ########                                | 29         |
|       | 1985         | ########                                | 36         |
| 1.89  | 2024         | ########                                | 77         |
| 1.55  | 2024         | #########                               | 46         |
| 0.1   | 2024         | #########                               | 62         |
| 0.1   | 2024         | #########                               | 62         |
| 0.1   | 2024         | #########                               | 62         |
| 0.1   | 2024         | 9/17/2024                               | 123        |
| 0.1   | 2024         | 9/17/2024                               | 123        |
| 0.1   | 2024         | 9/13/2024                               | 127        |
| 0.1   | 2024         | 9/17/2024                               | 123        |
| 0.1   | 2024         | 9/17/2024                               | 123        |
| 0.12  | 2024         | 9/16/2024                               | 124        |
| 0.1   | 2024         | 9/17/2024                               | 123        |
| 0.1   | 2024         | 9/14/2024                               | 126        |
| 0.1   | 2024         | 9/17/2024                               | 113        |
| 0.74  | 2017         | 1/16/2025                               | 2          |
| 0.33  | 2022         | #########                               | 16         |
| 23.27 | 2000         | 9/16/2024                               | 105        |
| 0.36  | 1977         | 8/19/2024                               | 152        |
| 0.76  | 1950         | 6/4/2024                                | 225        |
| 0.19  | 1948         | ####################################### | 103        |
| 0.15  | 2024         | #########                               | 22         |
|       | 2006         | 1/17/2025                               | 1          |
| 0.16  | 2000         | 12/1/2024                               | 3          |
| 0.10  | 1986         | 1/15/2025                               | 3          |
|       | 1985         | ####################################### | 29         |
|       | 1985         | 9/25/2024                               | 115        |
| 0.05  | 1905         | 8/5/2024                                | 49         |
| 0.05  | 1997         | 1/3/2025                                | 43         |
| 0.03  | 2004         | 6/10/2024                               | 222        |
| 0.92  | 2004         | ####################################### | 57         |
| 0.05  | 2008         | ##########                              | 65         |
| 0.05  | 2004         | 9/12/2024                               | 253        |
|       | 2022         | 1/10/2025                               | 255        |
| 0.03  | 2023         | 8/17/2024                               | 8<br>154   |
| 0.03  | 2024         | 9/13/2024                               | 127        |
| 0.03  | 2024<br>2024 | 8/24/2024                               | 127        |
|       |              | 8/24/2024                               |            |
| 0.02  | 2024         | 8/24/2024<br>7/16/2024                  | 147<br>186 |
| 0.03  | 2024         |   | 186<br>186 |
| 0.03  | 2024         | 7/16/2024                               | 186        |
| 0.03  | 2024         | 7/16/2024                               | 186        |
| 0.03  | 2024         | 7/16/2024                               | 181        |
| 0.03  | 2024         | 8/17/2024                               | 142        |
| 0.03  | 2024         | 8/24/2024                               | 114        |

|       | 0.03 | 2024 |           | 6/15/2024                               | 43  |
|-------|------|------|-----------|---|-----|
|       |      | 2024 |           | 9/1/2024                                | 67  |
|       | 0.03 | 2024 |           | 8/17/2024                               | 0   |
|       | 0.03 | 2024 |           | 6/15/2024                               | 40  |
|       | 0.47 | 1965 |           | 12/1/2024                               | 16  |
|       | 0.05 | 2003 |           | ####################################### | 47  |
|       | 0.05 |      |           |   |     |
|       |      | 1999 |           | 1/9/2025                                | 9   |
|       |      | 2002 |           | 1/9/2025                                | 191 |
|       |      | 2000 |           | ########                                | 21  |
|       |      | 2003 |           | ########                                | 27  |
|       | 0.05 | 2006 |           | ########                                | 60  |
|       |      | 2003 |           | 10/9/2024                               | 101 |
|       |      | 2002 |           | 12/6/2024                               | 14  |
|       | 0.2  | 1952 |           | 1/16/2025                               | 2   |
|       | 0.1  | 2023 | 3/21/2024 | 9/12/2023                               | 0   |
|       | 0.14 | 2023 | 7/22/2024 | 1/9/2024                                | 1   |
|       | 0.17 | 2024 | 7/22/2024 | 1/6/2024                                | 0   |
|       | 0.24 | 2000 | 7/22/2024 | 7/10/2024                               | 0   |
|       | 0.03 |      | 7/24/2024 | 7/1/2024                                | 7   |
|       | 0.14 | 2024 | 7/25/2024 |   | 85  |
|       | 0.03 |      | 7/25/2024 |   | 109 |
|       | 0.03 |      | 7/25/2024 |   | 329 |
| nch   | 0.05 | 2025 | 7/26/2024 |   | 28  |
| HCH   | 0.04 |      |           |   |     |
|       | 0.21 |      | 7/26/2024 |   | 27  |
|       | 0.49 |      | 7/26/2024 | 6/12/2024                               | 1   |
|       | 0.38 | 1967 | 7/26/2024 | 2/22/2024                               | 20  |
|       | 0.06 |      | 7/26/2024 | 7/5/2024                                | 2   |
|       | 0.36 |      | 7/30/2024 |   | 7   |
| nan   |      |      | 7/30/2024 |   | 17  |
| man   |      | 2024 | 7/30/2024 | 2/4/2024                                | 116 |
| m     |      | 2024 | 7/31/2024 | 5/14/2024                               | 17  |
|       | 0.03 | 2024 | 7/31/2024 | 2/20/2024                               | 88  |
| es    |      | 2008 | 8/1/2024  | 7/2/2024                                | 12  |
|       | 0.35 | 2024 | 8/1/2024  | ########                                |     |
|       | 0.16 | 2007 | 8/2/2024  | 7/11/2024                               | 0   |
|       | 0.34 | 2018 | 8/2/2024  | 6/26/2024                               | 6   |
| th    |      | 1985 | 8/5/2024  | 6/12/2024                               | 1   |
|       | 0.05 | 2008 |           | 6/14/2024                               | 0   |
| зу    | 0.00 | 2003 |           | 6/15/2024                               | 19  |
| rlies |      | 2000 |           | 5/18/2024                               | 29  |
| /1105 | 0.17 | 1961 |           | 6/30/2024                               | 16  |
| tes   | 0.17 | 1988 | 8/9/2024  | 6/3/2024                                | 16  |
| 162   | 0.19 | 1988 |           | 5/24/2024                               | 47  |
|       |      |      |           |   |     |
|       | 0.03 | 2024 |           | 2/20/2024                               | 90  |
|       | 0.15 |      | 8/13/2024 |   | 8   |
|       | 0.13 |      | 8/15/2024 |   | 22  |
|       | 0.28 |      | 8/15/2024 |   | 19  |
|       | 0.2  | 1961 |           | 7/18/2024                               | 76  |
|       | 0.44 | 2003 | 8/19/2024 | 6/14/2024                               | 22  |

|        | 0.39     | 1974 | 8/19/2024                               | 6/24/2024 | 32       |
|--------|----------|------|---|-----------|----------|
|        | 0.17     | 1952 | 8/19/2024                               | 7/30/2024 | 0        |
|        | 0.3      | 2024 | 8/20/2024                               | 7/16/2024 | 1        |
|        | 0.13     | 2024 | 8/20/2024                               | 6/4/2024  | 51       |
|        | 0.18     | 1974 | 8/21/2024                               | 7/24/2024 | 2        |
|        |          | 1981 | 8/23/2024                               | 5/23/2024 | 50       |
|        | 0.14     | 2024 | 8/23/2024                               | ########  | 224      |
|        | 0.19     | 1910 | 8/24/2024                               | 5/24/2024 | 54       |
|        | 0.13     | 2024 | 8/27/2024                               | 3/30/2024 | 58       |
|        | 0.03     | 2024 | 8/28/2024                               | 2/4/2024  | 198      |
|        | 0.13     | 2024 | 8/29/2024                               | 1/18/2024 | 39       |
|        | 0.14     | 2024 |   | 4/5/2024  | 56       |
|        | 0.08     | 1947 |   |           | 21       |
|        | 0.65     |      | 8/29/2024                               |           | 7        |
|        | 0.15     | 2024 |   | 1/6/2024  | 149      |
|        | 0.13     | 2023 |   |           | 188      |
|        | 0.66     | 1975 |   |           | 6        |
|        | 0.00     |      | 8/30/2024                               |           | 21       |
|        | 0.12     | 1950 |   |           | 21       |
|        | 0.45     | 1904 |   | 5/9/2024  | 2<br>65  |
| ankhu  |          | 2007 |   | 7/12/2024 | 8        |
| ankhu  |          |      |   | 6/5/2024  |          |
|        | 6.04     | 1974 |   |           | 48<br>50 |
|        | 2.07     | 2010 |   |           | 59       |
|        | 0.15     | 2024 |   |           | 0        |
|        | 0.5      | 2009 |   |           | 350      |
| -      | 0.25     | 2023 |   |           | 113      |
| in Zan |          | 1985 |   |           | 64       |
|        | 0.39     | 1930 | 9/9/2024                                |           | 2        |
|        | 0.15     | 2000 |   |           | 20       |
|        | 0.43     | 1983 |   | 6/7/2024  | 55       |
| mkins  |          | 1988 |   |           | 41       |
|        |          |      | 9/13/2024                               |           | 87       |
|        | 0.49     | 1989 | 9/16/2024                               | 8/3/2024  | 4        |
| II     |          | 1984 | 9/16/2024                               | 5/30/2024 | 45       |
| ner    |          | 2023 | 9/16/2024                               | 4/22/2023 | 280      |
|        | 0.03     | 2024 | 9/16/2024                               | 3/23/2024 | 115      |
| se     |          | 2023 | 9/17/2024                               | 3/22/2024 | 60       |
|        | 0.06     | 2020 | 9/18/2024                               | 7/1/2024  | 27       |
|        | 0.12     | 1994 | 9/19/2024                               | 8/5/2024  | 3        |
|        | 0.14     | 2024 | 9/20/2024                               | 9/19/2024 | 0        |
| ean    |          | 1987 | 9/20/2024                               | 6/21/2024 | 18       |
|        | 0.01     | 2005 | 9/24/2024                               | 3/5/2024  | 158      |
|        | 0.13     | 2024 | 9/25/2024                               | 8/11/2024 | 0        |
| Je     |          | 2024 | 9/25/2024                               | 4/22/2023 | 343      |
|        | 0.36     | 1968 |   |           | 17       |
|        | 1.68     |      | 9/27/2024                               |           | 69       |
|        | 0.07     |      | 10/8/2024                               |           | 37       |
|        | 0.38     | 1958 |   |           | 8        |
|        | 2.11     |      | ####################################### | 8/1/2024  | 13       |
|        | <u>_</u> | 1000 | $n \pi \pi \pi \pi \pi \pi \pi$         | 0/1/2024  | 10       |

|       | 0.40 | 4004 |            | 0/5/0004  | 0   |
|-------|------|------|------------|-----------|-----|
|       | 0.43 |      | ########   | 9/5/2024  | 2   |
|       | 0.35 | 1975 |            | 8/12/2024 | 7   |
|       | 0.13 | 2024 |            | 7/12/2024 | 20  |
|       | 0.25 | 1946 |            | 8/29/2024 | 3   |
| an    |      | 2000 | ########   | 9/6/2024  | 2   |
|       | 0.26 | 1955 | ########   | 7/18/2024 | 14  |
|       | 0.15 | 2024 | ########   | 9/1/2024  | 0   |
|       | 0.11 | 1940 | ########   | 8/7/2024  | 20  |
|       | 0.4  | 1920 | ########   | 9/19/2024 | 4   |
| ard   |      | 1975 | ########   | 9/8/2024  | 7   |
|       | 0.13 | 2024 | ########   | 4/2/2024  | 46  |
|       | 0.58 | 1984 | ########   | 6/15/2024 | 62  |
|       | 0.05 | 2006 | ########   | 8/30/2024 | 11  |
|       | 0.13 | 2024 | ########   | 5/10/2024 | 0   |
|       | 1.04 | 1960 | ########   | 5/30/2024 | 61  |
|       | 0.16 | 1950 | ########   | 7/23/2024 | 61  |
| ndler |      | 1981 | ########   | 9/20/2024 | 6   |
|       | 0.17 | 1962 | ########   | 5/2/2024  | 61  |
|       | 0.47 | 1971 | ########   | 11/3/2023 | 327 |
|       | 0.14 | 2024 | ########   | 1/6/2024  | 0   |
| i     | •••• | 2004 |            | 5/11/2024 | 116 |
|       | 0.11 | 2024 |            | 8/23/2024 | 46  |
|       | 0.13 | 2024 |            | 4/14/2024 | 0   |
|       | 0.13 | 2024 | #########  | 5/18/2024 | 75  |
|       | 0.05 | 2000 | #########  | 9/16/2024 | 16  |
|       | 0.00 | 1960 | ########## | 8/28/2024 | 10  |
|       | 0.68 | 1980 | 11/1/2024  | 9/27/2024 | 16  |
|       | 0.00 | 1980 | 11/1/2024  | 9/1/2024  | 24  |
|       | 0.20 | 2007 |            | 6/15/2024 | 125 |
|       | 0.34 |      | 11/7/2024  |           |     |
|       |      | 2005 | 11/7/2024  | 9/20/2024 | 3   |
|       | 0.03 | 2023 |            |           | 186 |
|       | 0.35 | 1967 |            | 8/23/2024 | 15  |
|       | 0.13 |      | ########   |           | 96  |
| right | 0.00 |      | ########   |           | 28  |
|       | 0.03 |      | ########   |           | 342 |
| lins  |      |      | ########   | 7/8/2024  | 82  |
|       | 0.13 |      | ########   |           | 2   |
|       | 0.13 | -    | ########   | 4/9/2024  | 114 |
|       | 0.17 |      | ########   |           | 370 |
|       | 0.01 |      | ########   |           | 72  |
|       | 0.35 | 1962 | ########   |           | 56  |
|       | 0.1  | 1999 | ########   | 8/16/2024 | 83  |
|       | 0.14 | 2024 | ########   | 6/4/2024  | 134 |
|       |      | 2015 | ########   | ########  | 14  |
|       | 0.21 | 2024 | ########   | 8/3/2024  | 0   |
|       | 0.13 | 1999 | ########   | ########  | 1   |
|       | 0.29 | 2019 | ########   | 11/1/2024 | 0   |
|       | 0.4  | 1962 | ########   | 4/2/2024  | 118 |
|       | 0.04 | 1994 | ########   | ########  | 22  |
|       |      |      |            |           |     |

|              | 0.13 | 2024 | ########  | 3/30/2024 | 45  |
|--------------|------|------|-----------|-----------|-----|
|              | 0.13 | 2024 | 12/5/2024 | ########  | 5   |
|              | 0.2  | 2024 | 12/5/2024 | 7/20/2024 | 0   |
|              | 0.16 | 2024 | 12/6/2024 | 9/1/2024  | 0   |
|              | 0.21 | 1962 | 12/9/2024 | ########  | 12  |
|              | 0.3  | 1995 | ########  | ########  | 18  |
|              | 0.3  | 1962 | ########  | ########  | 12  |
|              | 0.33 | 2003 | ########  | ########  |     |
|              | 0.31 | 1980 | ########  | ########  | 8   |
|              | 0.15 | 2024 | ########  | 4/14/2024 | 209 |
|              | 0.39 | 1965 | ########  | ########  | 21  |
|              | 0.94 | 1978 | ########  | 6/3/2024  | 107 |
|              | 0.08 | 2023 | ########  | 1/31/2024 | 1   |
|              | 3.01 | 2024 | ########  | ########  | 27  |
| kwood        |      | 2024 | ########  | 3/23/2024 | 315 |
|              | 0.22 | 1925 | ########  | 11/1/2024 | 4   |
|              | 0.32 | 1940 | ########  | ########  | 6   |
| )            |      | 2024 | ########  | 7/8/2024  | 40  |
|              | 0.48 | 2005 | ########  | ########  | 4   |
| Illi         |      | 1982 | ########  | 9/30/2024 | 55  |
|              | 0.27 | 1993 | ########  | ########  | 45  |
| uck          |      | 2005 | ########  | 8/30/2024 | 88  |
|              | 1.49 | 2024 | ########  | ########  | 21  |
| <i>w</i> der |      | 1988 | ########  | 7/1/2024  | 154 |
|              | 0.03 | 2024 | ########  | 8/24/2024 | 107 |
|              | 0.59 | 2007 | ########  | ########  | 14  |
|              | 0.1  | 2024 | ########  | 7/3/2024  | 159 |
|              | 0.2  | 2024 | ########  | 7/3/2024  | 156 |
|              | 0.49 | 1948 | 1/2/2025  | ########  | 5   |
|              | 0.13 | 2024 | 1/3/2025  | 7/26/2024 | 0   |
|              | 0.34 | 2005 | 1/6/2025  | 9/24/2024 | 41  |
|              | 0.13 | 2024 | 1/7/2025  | 7/26/2024 | 0   |
|              | 0.13 | 1976 | 1/7/2025  | 6/27/2024 | 180 |
|              | 0.5  | 2024 | 1/7/2025  | 8/14/2024 | 220 |
|              | 0.31 | 1965 | 1/8/2025  | 8/27/2024 | 90  |
|              | 0.66 | 1951 | 1/9/2025  | ########  | 8   |
|              | 0.33 | 1952 | 1/9/2025  | ########  | 2   |
|              | 0.32 | 1951 |           | ########  | 48  |
|              | 0.03 |      | 1/13/2025 |           | 345 |
|              | 0.23 |      | 1/15/2025 |           | 124 |
| ər           |      | 1987 |           | 8/1/2024  | 226 |
|              | 0.17 | 1995 | 1/16/2025 | 12/1/2024 | 13  |
|              |      |      |           |           |     |